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CHEMISTRY

BOOKS - VK JAISWAL CHEMISTRY (HINGLISH)

PERIODIC PROPERTIES

1. Which is not similar characteristics(s) about the electronic
configuration of Be, Mg, Ca?
A. All the atojms have a pair of s-electrons in their outermost energy
level
B.all the atoms contain a pair of p-electrons in their outermost
energy level

C. All are alkaline earth metals


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0kalMoWjs4BM

D. All are of secon group of the periodic table

Answer: B

° Watch Video Solution

2. The elements Z = 117 and 120 have not yet have been discovered, In
which family /group would you place these elements and also give the
electronic configuration in each case.

A.17,2

B.174

C.15;3

D. 18,2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0kalMoWjs4BM
https://dl.doubtnut.com/l/_7D4C4wmEa18Z
https://dl.doubtnut.com/l/_u5coKfKahlt1

3. Which one of the following represents the electronic configuration of

the most electropositive element?
A [He]2s
B. [Ne]3s?
C.[Xe]6s

D. [Xe]6s?

Answer: C

o Watch Video Solution

4. Which one of the following elements shows both positive and negative

oxidation states?

A. Cesium

B. Fluorine

C.lodine


https://dl.doubtnut.com/l/_u5coKfKahlt1
https://dl.doubtnut.com/l/_85pvuUxMXIwq

D. Xenon

Answer: C

° Watch Video Solution

5. The number of element present in the fifth period is

A.18

B.32

C.8

D. 24

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_85pvuUxMXIwq
https://dl.doubtnut.com/l/_QlvcCF91a4oj

6. Which of the following arrangements shows the correct order of

decreasing paramagnetism?

A. NgtAlgtOgtCa

B. NgtOgtAlgtCa

C. OgtNgtAlgtCa

D. OgtNgtCagtAl

Answer: B

o Watch Video Solution

7.Thr outer electronic configuration of lawrencium is

A. Rn5f137s%7p?
B. Rnf'36d'7s' 7p?
C. Rn5 Y75t pt

D. Rn5f146d'7s*


https://dl.doubtnut.com/l/_4nYxZCXBVUe4
https://dl.doubtnut.com/l/_oO0bcsSKs3bO

Answer: D

° Watch Video Solution

8. The element having the lowest atomic number and a ground state

electronic configuration of (n — 1)d®ns? is placed in:

A. fifth period
B. sixth period
C. fourth period

D. third period

Answer: C

° Watch Video Solution

9. Which of the following sets of atomic numbers corresponds to

elements of group 167


https://dl.doubtnut.com/l/_oO0bcsSKs3bO
https://dl.doubtnut.com/l/_YYntam8ALYzH
https://dl.doubtnut.com/l/_nBIIscejyPWq

A. 8]16,32,54

B. 16,34,54,86

C. 8,16,34,52

D. 10,16,32,50

Answer: C

o Watch Video Solution

10. The atomic numbers of the metallic and non-metallic elements which

are liquid at room temperature respectively are:

A. 55,87

B. 33,87

C. 35,80

D. 80,35

Answer: D



https://dl.doubtnut.com/l/_nBIIscejyPWq
https://dl.doubtnut.com/l/_E0nypyfeZEQF

| o Watch Video Solution

11. In the periodic table, the metallic character of elements

A. Decreases downn the group and increases across the period
B. Increases down the group and decreases across the period
C. Increases across the period and also down the group

D. Decreases across the period and also down the group

Answer: B

o Watch Video Solution

12. Nucleus of an element contains 9 protons Its valency would be :

Al
B.2

C.3


https://dl.doubtnut.com/l/_E0nypyfeZEQF
https://dl.doubtnut.com/l/_u8ftijv8nvpv
https://dl.doubtnut.com/l/_NFQyxymHJ4vE

D.5

Answer: A

° Watch Video Solution

13. Transition metals are characterised by which of the following

properties ?

A. Fixed valency

B. coloured compound

C. high melting and boiling points

D. tendency to form coomplexes

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NFQyxymHJ4vE
https://dl.doubtnut.com/l/_dvaWx44u7oAJ

14. Sodium ordinarily does not show an oxidation state of + 2, because of

its

A. High first ionisation potential

B. High second ionization potential

C.large ionic radius

D. high electronegativity

Answer: B

o Watch Video Solution

15. Which of the following pairs of molecules have the almost identical

bond dissociation energy?

A F2 and H2

C. Fg and I2


https://dl.doubtnut.com/l/_MEHwwkjpD5Kc
https://dl.doubtnut.com/l/_dCiIfuxR5wpo

D. HF and 02

Answer: C

° Watch Video Solution

16. According to modern periodic law the elements with similar chemical

and physical properties repeat at regular intervals when the elements are

arranged in order of :

A. decreasing atomic number

B. increasing atomic weight

C.increasing atomic number

D. decreasing atomic weights

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dCiIfuxR5wpo
https://dl.doubtnut.com/l/_NdXdvVHfp9qu
https://dl.doubtnut.com/l/_pVxIKEG2yjY9

17. Give the symbol of the elements of lowest atomic number that has

three 2p electrons:

A. Mg

B.P

C.N

D. Si

Answer: C

o Watch Video Solution

18. In the fourth period of the periodic table, how many elements have

one or more 4d electrons:

A2

B.18

C.0


https://dl.doubtnut.com/l/_pVxIKEG2yjY9
https://dl.doubtnut.com/l/_1qjaXaNHBSxu

D.6

Answer: C

° Watch Video Solution

19. Assuming that elements are formed to complete the seventh period,

what would be the atomic number of the alkaline earth metal of the

eighth period?

A 113

B. 120

C. 119

D. 106

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1qjaXaNHBSxu
https://dl.doubtnut.com/l/_vndLpHHbU4AD
https://dl.doubtnut.com/l/_4BJFyIdNceM6

20. Which of the following represents an excited state of an atom?
A.[Ne]3s*3p°45*3d®
B. [Ne]3s23p®4s'3d°
C. [Ne]3s*3p°4523d"

D. 15223221)5351

Answer: D

o Watch Video Solution

21. Choose the correct statement regarding transition elements?

A. Transition elements has low melting points
B. transition elements do not have catalytic activity
C. Transition elements exhibit variable states

D. Transition elements exhibit inert pair effect


https://dl.doubtnut.com/l/_4BJFyIdNceM6
https://dl.doubtnut.com/l/_wiD1mKHN5pwI

Answer: C

° Watch Video Solution

22. Which one of the following is a different pair?

A. Li,Na

B.Be, Ba

C.O, At

D.N, As

Answer: C

° Watch Video Solution

23. The element having electronic

[Kr]4d*4£1*55%5p55d 65 belongs to

configuration


https://dl.doubtnut.com/l/_wiD1mKHN5pwI
https://dl.doubtnut.com/l/_ATd8xsZW1ZCk
https://dl.doubtnut.com/l/_0qqDOWIA1yho

A. s-block

B. p-block

C.d-block

D. f-block

Answer: D

o Watch Video Solution

24. The elements which are radioactive and have been named after the

name of planet are

A Hg

B. Po

C.Pu

D.Ra

Answer: C



https://dl.doubtnut.com/l/_0qqDOWIA1yho
https://dl.doubtnut.com/l/_qhuTCAiMWgO0

| o Watch Video Solution

25.Zn and Cd metals do not show varible valency because:

A. They have only two electrons in the outermost subshells

B. Their d-subshells are completely filled

C. Their d-subshells are partially filled

D. they are relatively soft metals

Answer: B

o Watch Video Solution

26. An element whose IUPAC name is ununtrium (UUT) belong to

A. s-block element

B. p-block element

C. d-block element


https://dl.doubtnut.com/l/_qhuTCAiMWgO0
https://dl.doubtnut.com/l/_HUQRF9lNN3w0
https://dl.doubtnut.com/l/_rlHnoMReMN1Y

D. transition element

Answer: B

° Watch Video Solution

27. Which of the following is not representative element?

A. Tellurium

B. Tantalum

C. Thallium

D. Astatine

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rlHnoMReMN1Y
https://dl.doubtnut.com/l/_voPwvkFer8OP

28. The period number and group number of "Tantalum" (Z=73) are

respectively:

A.57

B. 6,13

C.6,5

D. none of these

Answer: C

o Watch Video Solution

29. Which of the following pair of elements belongs period of the periodic

table ?

A. Mg and Sb

B.Ca and Zn

C.Na and Ca


https://dl.doubtnut.com/l/_xxyXfTbfPJgK
https://dl.doubtnut.com/l/_ct4kzJ9GDe0a

D. Ca and Cl

Answer: B

° Watch Video Solution

30. Consider the following electronic configuration of an element(P):
[Xe]4f'*5d'6s>
Then correct statement about element 'P' is

A. It belongs to 6th period and 1st group

B. It belongs to 6th period an 2nd group

C. it belongs to 6th period and 3rd group

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ct4kzJ9GDe0a
https://dl.doubtnut.com/l/_Qkn0Rb8OenYm
https://dl.doubtnut.com/l/_jG5SpsBr0WQ2

31. Which of the following metal is highest electropositive (metallic) in

nature?

A. Be

B.Rb

C.Mn

D. Tl

Answer: B

o Watch Video Solution

32. Which of the following species must have maximum number of
electrons in 'd,, " orbital?

A.Cr

B. Fe3™

C.Cu™t


https://dl.doubtnut.com/l/_jG5SpsBr0WQ2
https://dl.doubtnut.com/l/_eklMK8HAEGfp

D. Both (a) and (b)

Answer: C

° Watch Video Solution

33. which of the following graph is correct representation between
atomic number (Z) and magnetic moment of d-block elements? [outer

electronic configuration: (n — 1)d®ns' ° ?]
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Wil A\

- —=

Answer: D

° Watch Video Solution

34. If IUPAC name of an element is "unununium" then correct statement

regarding element is:

A. it is inner transition element

B. it belongs to 8th period in periodic table

C.it is a non-transition element

D. it is transition element

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HcX1I2dtN0Sp
https://dl.doubtnut.com/l/_bYA5yQi8WAw0
https://dl.doubtnut.com/l/_1PAXJimaYcze

35. Which property decreases from left to right across the periodic table

and increases from top to bottom?

A. (i) only
B. (i), (ii) and (iii)
C. (i), (iii) and (iv)

D. (i) and (iv)

Answer: D

o Watch Video Solution

36. Consider the following information about element P and Q:

Period number Group number
P 2 15

Q 3 2

the formula of the compound formed by P and Q element is:

A PQ


https://dl.doubtnut.com/l/_1PAXJimaYcze
https://dl.doubtnut.com/l/_ySzO7QsraVd6

D. PQ,

Answer: C

° Watch Video Solution

37. which must represent an atom in an excited state?
A.1$2,2322p1
B. 15, 25%2p?
C.182,2822p2,381

D.1sz,2s22p5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ySzO7QsraVd6
https://dl.doubtnut.com/l/_UThjCTVSGFlb
https://dl.doubtnut.com/l/_nonoKqJuQPdv

38. Which of the following anion has the smallest radius?

AH™

B.F~

C.Cl™

D. Br—

Answer: B

o Watch Video Solution

39. The ionic radii of Li 7, Be?* and B37 follow the order:

A Be’t > B3t > it
B.LitT > B** > Be?t
C.B** > Be?t > Lit

D.Li" > Be?T > Bt


https://dl.doubtnut.com/l/_nonoKqJuQPdv
https://dl.doubtnut.com/l/_Okq2LcPcWR4O

Answer: D

° Watch Video Solution

40. Largest in size out of Na, Ne and F ~ is:

A. Na™
B. Ne
C.F~

D. all are equal

Answer: B

° Watch Video Solution

41. Which of the following atom or ions has the smallest size?

A F


https://dl.doubtnut.com/l/_Okq2LcPcWR4O
https://dl.doubtnut.com/l/_c4BZiMGqFwCi
https://dl.doubtnut.com/l/_vXW6obSKbJhI

B.F~

c.O

D.N

Answer: A

° Watch Video Solution

42.The single covalent radius of P is 0.11 nm. The single covalent radius of

Cl will be:

A. smaller than P

B. greater than P

C.same as P

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vXW6obSKbJhI
https://dl.doubtnut.com/l/_0dWzMxf1aFVb

43. Which of the following is arranged in decreasing order of size?

A Mgt > ABT > 0*~
B.O>™ > Mg*t > AP+
CABYT > Mg*™ >0~

D.ABT > 0?" > Mg*"

Answer: B

o Watch Video Solution

44. The correct order of increasing atomic radius of the following

elements as:

AS<O<Se<C

BO<(C<S8< Se

CO<S<Se<CC


https://dl.doubtnut.com/l/_0dWzMxf1aFVb
https://dl.doubtnut.com/l/_OmFSrRmvVDug
https://dl.doubtnut.com/l/_440rS031h5hR

D.C <O < S < Se

Answer: B

° Watch Video Solution

45. The correct order of increasing radii

Si, Al, Na and P is

A.ST < Al < P < Na

B.P < Si < Al < Na

C.Al< St < P < Na

D.Al < P < St < Na

Answer: B

of the

elements

° Watch Video Solution



https://dl.doubtnut.com/l/_440rS031h5hR
https://dl.doubtnut.com/l/_2eeS9x9iy0nU

46. The size of the species, Pb, Pb? ", Pb'" decreases as -

A PVt > P¥?t > Pb
B.Pb > PVt > Pyt
C.Pb > Pyt > Pp*™

D. Pb*t > Pb > PH*t

Answer: B

o Watch Video Solution

47.Incorrect order of radius is:

A Sr’t < RbY < Br~ < Se?~

B.NB' " < Zrit < Y37

C.Co > Co*T > Co®t > Co*t

D.Ba’T < CsT < Se?~ < As®~


https://dl.doubtnut.com/l/_zh8XmPUKvEDL
https://dl.doubtnut.com/l/_7KCcuJgAEprl

Answer: D

° Watch Video Solution

48. The correct order of atomic/ionic radiii is:

ASe>Ti >V >Cr

B.Co> Nt > Cu > Zn

C.S?> >Cl” >0% > N3~

D. none of these

Answer: A

° Watch Video Solution

49. The radius of which is closest to that of the Li ™ ions?

A. Na™


https://dl.doubtnut.com/l/_7KCcuJgAEprl
https://dl.doubtnut.com/l/_SRk5isXD0w6I
https://dl.doubtnut.com/l/_0LGHezTYFAtZ

B. Be? ™
C.Mg*™"

D. AP

Answer: C

° Watch Video Solution

50. The first, second and third ionization energies (E;, E5&Ej3) for an
element are 7eV, 125 eV and 425 eV respectively. The most stable
oxidation state of the element will be:

A +1

B.+4

C.+3

D. 42

Answer: D

[ - 1


https://dl.doubtnut.com/l/_0LGHezTYFAtZ
https://dl.doubtnut.com/l/_BSPaU1pWGUIn

| @J Watch Video Solution

51. Element having highest L.P. value is:

A. Ne

B. He

C.Be

D.N

Answer: B

° Watch Video Solution

52. The order of ionisation potential between He™ io and H-atom (both

species are in gaseous) is:

A.lP.(He") = I. P.(H)

B.LP. (He™) < LP.(H)



https://dl.doubtnut.com/l/_BSPaU1pWGUIn
https://dl.doubtnut.com/l/_x8aDAhedERoX
https://dl.doubtnut.com/l/_l88QjEvX5xGB

C.I.P.(He')>IP. (H)

D. cannot be compared

Answer: C

° Watch Video Solution

53. Which of the following metal is expected to have the highest third

ionsation enthalpy?

A. Cr (Z=24)

B.V (Z=23)

C. Mn (Z=25)

D. Fe(Z=26)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_l88QjEvX5xGB
https://dl.doubtnut.com/l/_PaxW7PwKaMsV
https://dl.doubtnut.com/l/_ZfV6INPmoFIo

54. Second ionisation potential of Li, Be, B is in the order:

A.Li > Be > B

B.Li > B > Be

C.Be>Li>B

D.B > Be > Li

Answer: B

o Watch Video Solution

55.The ionization energy of boron is less than that of beryllium because:

A. Beryllium has a higher nuclear charge than boron

B. beryllium has a lower nuclear charge than boron

C. the outermost electron in borom occupies a 2p-orbital

D. the 2s and 2p-orbitals of boron are degenerate


https://dl.doubtnut.com/l/_ZfV6INPmoFIo
https://dl.doubtnut.com/l/_J9xmlUICwtbp

Answer: C

° Watch Video Solution

56. The first four LE. values of an element are 284, 412, 656 and 3210 kJ

mol ~'. The number of valence electrons in the element are:

A.one

B. two

C. three

D. four

Answer: C

° Watch Video Solution

57.The first ionisation potential of Na, Mg, Al and Si are in the order


https://dl.doubtnut.com/l/_J9xmlUICwtbp
https://dl.doubtnut.com/l/_GLs02tXzugAX
https://dl.doubtnut.com/l/_B9iblXW4ijCz

A Na < Mg < Al < Si

B.Na < Al < Mg < Si

C.Na < Al < Si < Mg

D. Na > Mg > Al > Si

Answer: B

o Watch Video Solution

58. The ionisation energy will be higher when the electron is removed

from:

A. s-orbital

B. p-orbital

C. d-orbital

D. f-orbital

Answer: A



https://dl.doubtnut.com/l/_B9iblXW4ijCz
https://dl.doubtnut.com/l/_U1WlSoqYPWoN

| ° Watch Video Solution

59. Which of the following isoelectronic ions has the lowest ionization

energy?

AKT

B.Cl™

C.Ca**

D. S%~

Answer: D

° Watch Video Solution

60. In the following, the element with the highest ionization energy is

A.[Ne]3s23p*

B. [Ne]3s%3p®


https://dl.doubtnut.com/l/_U1WlSoqYPWoN
https://dl.doubtnut.com/l/_mBkgJ8zPbnHd
https://dl.doubtnut.com/l/_KvUlxZSRZw8o

C. [Ne]3s?3p*

D. [Ar]3d " 4s?4p®

Answer: B

° Watch Video Solution

61. The ionisation potentials of Li and K are 54 and 4.3 eV respectively.

The ionization potential of Na will be:

A.9.7 eV

B.11eV

C.49eV

D. cannot be calculated

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KvUlxZSRZw8o
https://dl.doubtnut.com/l/_xMKdQRjf0lLo
https://dl.doubtnut.com/l/_Z15TAVKtBfj5

62. Which of the following configuration is associated with biggest jump
between 2nd and 3rd IE?

A 13223221)2

B. 1322.922p63s1

C. 15225221)6352

D. 1s%2s%2p*

Answer: C

o Watch Video Solution

63. The second ionization energy is maximum for:

A. Boron

B. beryllium has a lower nuclear charge than boron

C. magnesium

D. aluminium


https://dl.doubtnut.com/l/_Z15TAVKtBfj5
https://dl.doubtnut.com/l/_MSXg5rGuz0Lk

Answer: A

° Watch Video Solution

64. A large difference between the fourth and fifth ionization energies

indicates the presence of:

A. 5 valence electrons in an atom

B. 6 valence electrons in an atom

C. 4 valence electrons in an atom

D. 8 valence electrons in an atom

Answer: C

° Watch Video Solution

65. For which of the following reaction AH ° vlaue is equal to the first

ionization energy of Ca is?


https://dl.doubtnut.com/l/_MSXg5rGuz0Lk
https://dl.doubtnut.com/l/_nqFk0YmHMphc
https://dl.doubtnut.com/l/_dwGHSSMG9nOv

A.Ca™(g) — Ca®"(g) +e
B.Ca(g) — Ca™(g) +e
C.Ca(s) - Ca™(g) +e

D.Ca(g) — Ca** (g) + 2e

Answer: B

o Watch Video Solution

66. lonization enthalpy of an atom is equal to

A. electron gain enthalpy of the cation

B. electronegativity of the ion

C. ionization enthalpy of the cation

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dwGHSSMG9nOv
https://dl.doubtnut.com/l/_ldjSxC5OxXOE

67. From the ground state, electronic configuration of the elements given
below, pick up the one with highest value of second ionization energy:

A 15225221)6352

B. 15%25%2p%3s?

C. 1322322196

D. 1322.922p5

Answer: B

° Watch Video Solution

68. An element has successive ionization enthalpies as 940
(first),2080,3090,4140,7030,7870,16000 and 19500 k] mol ~'. To which

group of the periodic table does this element belong?

A. 14


https://dl.doubtnut.com/l/_ldjSxC5OxXOE
https://dl.doubtnut.com/l/_L0jT4wSjuWFm
https://dl.doubtnut.com/l/_egMUb6O8EBlX

B.15

D. 17

Answer: C

° Watch Video Solution

69. The second ionization potential of elements is invariable higher than

first ionization potential because:

A. The size of cation is smaller than its atom

B. it is easier to remove electron from cation

C.ionization is an endothermic process

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_egMUb6O8EBlX
https://dl.doubtnut.com/l/_5IFS2aLyaJrK

70. The first, second and third ionization energies (E;, E;&FE3) for an
element are 7eV, 12.5 eV and 425 eV respectively. The most stable
oxidation state of the element will be:

A +1

B.+4

C.+3

D.+2

Answer: D

o Watch Video Solution

71. Which of the following electronic configuration represents a sudden
large gap between the values of second and third ionisation energies of

an element?


https://dl.doubtnut.com/l/_5IFS2aLyaJrK
https://dl.doubtnut.com/l/_3x4DIlnqkN1U
https://dl.doubtnut.com/l/_KqG3kbEO5ULX

A 132, 23221)3
B. 132, 2322p6, 3823p3
C. 152, 2322p6, 3323p1

D.1s%, 25%2p°%, 352

Answer: D

° Watch Video Solution

72.Element having highest I.P. value is:

A. Ne

B. He

C.Be

D.N

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KqG3kbEO5ULX
https://dl.doubtnut.com/l/_FHa1wvOkMtsk

73. Which of the following atomic species has mximum ionisation energy:

AO~

B.S™

C.Se™

D.Te™

Answer: B

o Watch Video Solution

74.The correct order of I.LE,. Is:

A. NegtFgtOgtN

B. OgtFgtNegtN

C. NegtOgtFgtN


https://dl.doubtnut.com/l/_FHa1wvOkMtsk
https://dl.doubtnut.com/l/_nvBwxycYYamg
https://dl.doubtnut.com/l/_awt2ryZ1fSvq

D. OgtNegtFgtN

Answer: C

° Watch Video Solution

75. Which of the following transformation least energy is required?

A F ) —)F(g) +e

(9
B.P(_g) — P(g) +e”
C.S(_g) — S(g) + e

D.Cl,, — Cl(g) +e

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_awt2ryZ1fSvq
https://dl.doubtnut.com/l/_XrMU1enGwmab

76. The amount of energy which is released due to addition of ectra

electron to the outermost orbit of gaseous atom is called

A. ionization enthalpy

B. Hydration enthalpy

C. Electronegativity

D. electron gain enthalpy

Answer: D

o Watch Video Solution

77. To which the following atom, the attachment of electron is most

difficult ?

A.Radon

B. Nitrogen

C. Oxygen


https://dl.doubtnut.com/l/_8gINa8vUBrv6
https://dl.doubtnut.com/l/_HL0jkLXhP5NK

D. Radius

Answer: A

° Watch Video Solution

78. Which of the following processes involves absorption of energy?

A.S(g)+e” — S (9
B.S™ +e  — 5% (g
C.Cl(g) +e  — Cl (g)

D. none of these

Answer: B

o Watch Video Solution

79. Arrange N, O and S in order of decreasing electron affinity:


https://dl.doubtnut.com/l/_HL0jkLXhP5NK
https://dl.doubtnut.com/l/_2ASe3Fv2aYsL
https://dl.doubtnut.com/l/_fwXXVLH34t8O

A. SgtOgtN

B. OgtSgtN

C. NgtOgtSsS

D. SgtNgtO

Answer: A

o Watch Video Solution

80. Among the following configurations, the element which has the
highest electron affinity is:

A.[Ne]3s'3p?

B. [Ne]3s%3p°

C. [Ne]3s*3p*

D. [Ne|3s*3p93d°4s*

Answer: B



https://dl.doubtnut.com/l/_fwXXVLH34t8O
https://dl.doubtnut.com/l/_pWqLjWKIce6V

| ° Watch Video Solution

81. Which of the following electronic configurations has the lowest value
of ionisation energy? Explain.
a. 1s%25%2p°
b. 1s*2s22p°
c. 15%25%2p%3s!
AIl <1V <IIT <1
BI<II<III<IV

CI<III<II<IV

D.IV < IIT < Il <1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pWqLjWKIce6V
https://dl.doubtnut.com/l/_gEAA8ueDFmU3

82. Why is the second electron gain enthalpy negative (i.e. energy is

absorbed)?

A.is always negative

B. is always positive

C. can be positive or negative

D. is always zero

Answer: B

o Watch Video Solution

83. The element having very high ionization enthalpy but zero electron

affinity is :-

A.H

B.F

C.He


https://dl.doubtnut.com/l/_AVEr6pElvj3Q
https://dl.doubtnut.com/l/_FhOBAFDa6rlF

D.Be

Answer: C

° Watch Video Solution

84. Which of the following represents correct order of electron affinity?

ACl>F >8>0

B.F >0>8>Cl

CF>Cl>S8>0

D.Cl >8>0 >F

Answer: A

o Watch Video Solution

85.The process requiring absorption of energy is:


https://dl.doubtnut.com/l/_FhOBAFDa6rlF
https://dl.doubtnut.com/l/_WaFaPjMfNVq5
https://dl.doubtnut.com/l/_5dgMxpgsiSf9

AN-—- N~

B.F — F~

C.Cl— Cl™

D.H — H™

Answer: A

° Watch Video Solution

86. The electronegativity of the following elements increases in the order:

AC<N<Si<UP

BS i< P<C<N

CN<C<P<Si

DC<Si< N<P

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5dgMxpgsiSf9
https://dl.doubtnut.com/l/_49TrYsAO60RD

87. Which of the following order is incorrect?

A. Electronegativity of central atom: CF, > CH, > SiH,
B. Hydration energy: A’ > Be?t > Mg?>" > Na™
C. Electrical conductance: F( )y > C’l( > 52

;q aq) (;q)

D. Magnetic moment: Ni*™ > V3T > §p2+

Answer: C

° Watch Video Solution

88. Correct expression of "allred and Rochow's " scale is :

. Zeyy
A. electronegativity = 0.744—= + 0.359
r

,,.2

eff

B. Electronegativity = 0.359 + 0.744

N Zegs
C. Electronegativity = 0.3597 + 0.744


https://dl.doubtnut.com/l/_49TrYsAO60RD
https://dl.doubtnut.com/l/_u24JWphz81LH
https://dl.doubtnut.com/l/_9h6gKxzoVvy9

Zetf

D. Electronegativity=0.359 5
r

+0.744

Answer: D

° Watch Video Solution

89. The hydration energy of Mg>™ ions is lesser than that of:

AABT
B. Ba’™
C.Na

D. none of these

Answer: A

o Watch Video Solution

90. Among the following, which the maximum hydration energy?


https://dl.doubtnut.com/l/_9h6gKxzoVvy9
https://dl.doubtnut.com/l/_igHt6m4dLFYY
https://dl.doubtnut.com/l/_Sq2usnlsklwf

A.OH~
B.NH,"
CF~

D.H™"

Answer: D

o Watch Video Solution

91. Which of the following is arranged in order of incresing radius?
A. K" (aq) < Na*(aq) < Li" (aq)
B.Na*(aq) < K " (aq) < Li" (aq)
C.K " (aq) < Li* (aq) < Na™ (aq)

D.Li" (aq) < Na*(aq) < K (aq)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Sq2usnlsklwf
https://dl.doubtnut.com/l/_IMLPMFzklVyE

92. Which of the following compounds has a negative enthalpy of

solution?

A. KCl

B. KBr

C.KF

D. KI

Answer: C

o Watch Video Solution

93. Amongst sodium halides {NaF', NaCl, NaBr and Nal), NaF has

the highest melting point because of:

A. High oxidising oxidising power

B. Lowest polarity


https://dl.doubtnut.com/l/_IMLPMFzklVyE
https://dl.doubtnut.com/l/_xcQuaZ68YRNs
https://dl.doubtnut.com/l/_TapXzUxD0gwq

C. maximum lattice energy

D. Minimum ionic character

Answer: C

° Watch Video Solution

94. Among the following oxides, which has the maximum lattice energy?

A.MgO

B. CaO

C.SsrO

D.BaO

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TapXzUxD0gwq
https://dl.doubtnut.com/l/_JFb36bxPUT6g

95. Which of the following compounds has a positive enthalpy of

solution?

A. LiF

B. LiCl

C. LiBr

D. Lil

Answer: A

o Watch Video Solution

96. Born-Haber cycle is used to determine

A. lattice energy of ionic crystals

B. Electron gain enthalpy

C. Electronegativity

D. Boht (a) and (b)


https://dl.doubtnut.com/l/_FwQoyLLrdIN7
https://dl.doubtnut.com/l/_r6dcls1tBhxW

Answer: D

° Watch Video Solution

97. Which of the following is different from other three oxides?

A.MgO

B.SnO

C.ZnO

D. PbO

Answer: A

° Watch Video Solution

98. Select the amphoteric substance in the following:

A.SO;


https://dl.doubtnut.com/l/_r6dcls1tBhxW
https://dl.doubtnut.com/l/_HFEC3jghXIyt
https://dl.doubtnut.com/l/_YciqfsaUHtgH

B. NaOH
C.CO,

D. Al(OH),

Answer: D

° Watch Video Solution

99. Which of the following compound is most acidic?

A.Cl,0r

B. P,Oqg

C.S0;

D. B203

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YciqfsaUHtgH
https://dl.doubtnut.com/l/_72QnvWWh7I5H
https://dl.doubtnut.com/l/_mesYQsrnNtIH

100. Which is not similar characteristics(s) about the electronic

configuration of Be, Mg, Ca?

A. All the atojms have a pair of s-electrons in their outermost energy

level

B.all the atoms contain a pair of p-electrons in their outermost

energy level

C. All are alkaline earth metals

D. All are of secon group of the periodic table

Answer: B

o Watch Video Solution

101. The elements with atomic number 117 and 120 are yet to be
discovered. In which group would you plac these elements when

discovered?


https://dl.doubtnut.com/l/_mesYQsrnNtIH
https://dl.doubtnut.com/l/_5Yph6RI2DnKk

A 17,2

B.174

C.153

D. 18,2

Answer: A

o View Text Solution

102. The most electropositive element possesses the electronic
configuration:

A.[He]2s'

B. [Ne]3s?

C.[Xe]6s

D. [Xe]6s>

Answer: C



https://dl.doubtnut.com/l/_5Yph6RI2DnKk
https://dl.doubtnut.com/l/_npe9Lxs3Zgfq

| ° View Text Solution

103. Which one of the following elements shows both positive and

negative oxidation states?

A. Cesium

B. Fluorine

C.lodine

D. Xenon

Answer: C

° Watch Video Solution

104. Number of elements present in 5th period is

A. 18

B.32


https://dl.doubtnut.com/l/_npe9Lxs3Zgfq
https://dl.doubtnut.com/l/_eCAfkZdBqG8y
https://dl.doubtnut.com/l/_mpINM6J65Bqy

C.8

D.24

Answer: A

° Watch Video Solution

105. Which of the following arrangements shows the correct order of

decreasing paramagnetism?

A. NgtAlgtOgtCa

B. NgtOgtAlgtCa

C. OgtNgtAlgtCa

D. OgtNgtCagtAl

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_mpINM6J65Bqy
https://dl.doubtnut.com/l/_hYaeh35aLm8Q
https://dl.doubtnut.com/l/_1N5wZS3NLjeL

106. The outer electronic structure of lawrencium (atomic number 103) is:
A. Rn5f137s%7p?
B. Rnf'36d'7s' 7p?
C. Rn5f 75t rpt

D. Rn5f46d'7s>

Answer: D

o View Text Solution

107. The element having the lowest atomic number and a ground state
electronic configuration of (n — 1)d®ns? is placed in:

A. fifth period

B. sixth period

C. fourth period

D. third period


https://dl.doubtnut.com/l/_1N5wZS3NLjeL
https://dl.doubtnut.com/l/_SKiUVep8HvVp

Answer: C

° Watch Video Solution

108. Which of the following sets of atomic numbers corresponds to

elements of group 167

A. 8,16,32,54

B. 16,34,54,86

C. 8,16,34,52

D. 10,16,32,50

Answer: C

° View Text Solution

109. The atomic numbers of the metallic and non-metallic elements which

are liquid at room temperature respectively are:


https://dl.doubtnut.com/l/_SKiUVep8HvVp
https://dl.doubtnut.com/l/_hPuezJy46ZiK
https://dl.doubtnut.com/l/_0cO33bp7l6G9

A. 55,87

B. 33,87

C.35,80

D. 80,35

Answer: D

o Watch Video Solution

110. In the periodic table, metallic chracter of the elements shows one of

the following trend:

A. Decreases downn the group and increases across the period

B. Increases down the group and decreases across the period

C. Increases across the period and also down the group

D. Decreases across the period and also down the group

Answer: B



https://dl.doubtnut.com/l/_0cO33bp7l6G9
https://dl.doubtnut.com/l/_1jlF4ovPIzHT

| ° View Text Solution

111. Nucleus of an element contains 9 protons Its valency would be :

Al

B.2

C.3

D.5

Answer: A

° Watch Video Solution

112. Transition metals are not characterized by:

A. Fixed valency

B. coloured compound

C. high melting and boiling points


https://dl.doubtnut.com/l/_1jlF4ovPIzHT
https://dl.doubtnut.com/l/_PQfY0nHgOVBC
https://dl.doubtnut.com/l/_r7oPrTB4KijF

D. tendency to form coomplexes

Answer: A

° View Text Solution

113. Sodium ordinarily does not show an oxidation state of + 2, because

of its

A. High first ionisation potential

B. High second ionization potential

C. large ionic radius

D. high electronegativity

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_r7oPrTB4KijF
https://dl.doubtnut.com/l/_idz91fQYn3EB

114. Which of the following pairs of molecules have the almost identical

bond dissociation energy?

A. F2 and H2

B.N, and CO

C. F2 and I2

D. HF and 02

Answer: C

o Watch Video Solution

115. According to modern periodic law the elements with similar chemical

and physical properties repeat at regular intervals when the elements are

arranged in order of :

A. decreasing atomic number

B. increasing atomic weight


https://dl.doubtnut.com/l/_9ips1EqkZIuj
https://dl.doubtnut.com/l/_h8iY4Zr7FoMe

C.increasing atomic number

D. decreasing atomic weights

Answer: C

° Watch Video Solution

116. Give the symbol of the elements of lowest atomic number that has

three 2p electrons:

A. Mg

B.P

C.N

D. Si

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_h8iY4Zr7FoMe
https://dl.doubtnut.com/l/_IyctMiE7CjOg
https://dl.doubtnut.com/l/_7qvD7WUGlJqJ

117. In the fourth period of the periodic table, how many elements have

one or more 4d electrons:

A2

B.18

C.o

D.6

Answer: C

o Watch Video Solution

118. Assuming that elements are formed to complete the seventh period,
what would be the atomic number of the alkaline earth metal of the
eighth period?

A. 113

B. 120


https://dl.doubtnut.com/l/_7qvD7WUGlJqJ
https://dl.doubtnut.com/l/_cGPXS5VtfOYY

C. 119

D. 106

Answer: B

° Watch Video Solution

119. Which of the following represents an excited state of an atom?
A.[Ne]3s%3p°45*3d®
B. [Ne]3s23p®4s'3d°
C.[Ne]3s°3p°4s23d"

D. 13223221)5331

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cGPXS5VtfOYY
https://dl.doubtnut.com/l/_CoMobtE82jzp

120. Choose the correct statement regarding transition elements?

A. Transition elements has low melting points

B. transition elements do not have catalytic activity

C. Transition elements exhibit variable states

D. Transition elements exhibit inert pair effect

Answer: C

o View Text Solution

121. Which one of the following is a different pair?

A. Li, Na

B.Be, Ba

C.N,As

D. O, At


https://dl.doubtnut.com/l/_PdAHQAFmtrxm
https://dl.doubtnut.com/l/_vZM5TQTjGsVo

Answer: D

° Watch Video Solution

122. The element having
[Kr]4d'°4f1*55%5p%5d%65> belongs to
A. s-block
B. p-block
C.d-block

D. f-block

Answer: D

electronic

configuration

° Watch Video Solution

123. Which elements is named after the name of a planet is


https://dl.doubtnut.com/l/_vZM5TQTjGsVo
https://dl.doubtnut.com/l/_9lrjqSmYe9QP
https://dl.doubtnut.com/l/_I7VqhKNFMjvd

A. Hg

B. Po

C.Pu

D.Ra

Answer: C

o Watch Video Solution

124.Zn and Cd metals do not show varible valency because:

A. They have only two electrons in the outermost subshells

B. Their d-subshells are completely filled

C. Their d-subshells are partially filled

D. they are relatively soft metals

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_I7VqhKNFMjvd
https://dl.doubtnut.com/l/_I2e0vacBE6Hy

125. An element whose IUPAC name is ununtrium (Uut) belongs to

A. s-block element

B. p-block element

C.d-block element

D. transition element

Answer: B

o Watch Video Solution

126. Which of the following is not representative element?

A. Tellurium

B. Tantalum

C. Thallium


https://dl.doubtnut.com/l/_I2e0vacBE6Hy
https://dl.doubtnut.com/l/_i6WITSwHN2Pq
https://dl.doubtnut.com/l/_m8nCFhv8GJaZ

D. Astatine

Answer: B

° Watch Video Solution

127. The period number and group number of "Tantalum" (Z=73) are

respectively:

A. 57

B. 6,13

C.6,5

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_m8nCFhv8GJaZ
https://dl.doubtnut.com/l/_DMiSSnv0W5U7

128. Which of the following pair of elements belongs period of the
periodic table ?

A. Mg and Sb

B.Ca and Zn

C.Naand Ca

D. Ca and Cl

Answer: B

o Watch Video Solution

129. Consider the following electronic configuration of an element(P):
[Xe]4f'*5d' 65>
Then correct statement about element 'P' is

A. It belongs to 6th period and 1st group

B. It belongs to 6th period an 2nd group


https://dl.doubtnut.com/l/_LWXmK6XcdQDd
https://dl.doubtnut.com/l/_nRz44cIZYUYl

C. it belongs to 6th period and 3rd group

D. none of these

Answer: C

° View Text Solution

130. Which of the following metal is highest electropositive (metallic) in

nature?

A. Be

B.Rb

C. Mn

D.Tl

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nRz44cIZYUYl
https://dl.doubtnut.com/l/_HTqBs4DQz6YK
https://dl.doubtnut.com/l/_gSD4JlPdgUgL

131. Which of the following species must have maximum number of
electrons in 'd,, " orbital?

A.Cr

B.Fe3 ™

C.Cu™

D. Both (a) and (b)

Answer: C

o Watch Video Solution

132. which of the following graph is correct representation between

atomic number (Z) and magnetic moment of d-block elements? [outer

electronic configuration: (n — 1)d®ns' ° ?]

2 E /
@ § 1%
sE|/
——


https://dl.doubtnut.com/l/_gSD4JlPdgUgL
https://dl.doubtnut.com/l/_56yuQJM7aEAe

AN
o1l A\

° View Text Solution

133. If IUPAC name of an element is "unununium" then correct statement

regarding element is:

A. it is inner transition element

B. it belongs to 8th period in periodic tablwit is transition element

C.it is a non-transition element


https://dl.doubtnut.com/l/_56yuQJM7aEAe
https://dl.doubtnut.com/l/_UQfvcW2gczN6

Answer: C

o Watch Video Solution

134. Which property decreases from left to right across the periodic table
and increases from top to bottom?
(i) Atomic radius
(ii) Electronegativity
(iii) lonisation energy
(iv) Metallic character
A. (i) only
B. (i), (ii) and (iii)

C. (i), (iii) and (iv)

D. (i) and (iv)

Answer: D


https://dl.doubtnut.com/l/_UQfvcW2gczN6
https://dl.doubtnut.com/l/_7oFIU7W7Ek50

° View Text Solution

135. Consider the following information about element P and Q:

Period number Group number
P 2 15

Q 3 2

the formula of the compound formed by P and Q element is:

A. PQ

B. P3Q

C. PQs

D. PQ,

Answer: C

° Watch Video Solution

136. which must represent an atom in an excited state?


https://dl.doubtnut.com/l/_7oFIU7W7Ek50
https://dl.doubtnut.com/l/_rM9ahOH6j8Qm
https://dl.doubtnut.com/l/_S736arWWMr4M

A 132, 2322p1
B. 132, 23221)2
C. 152, 2322p2, 3st

D.1s2, 25%2p°

Answer: C

° Watch Video Solution

137. Which of the following anion has the smallest radius?

A H™

B.F~

C.Cl™

D.Br~

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_S736arWWMr4M
https://dl.doubtnut.com/l/_EhJiEChV6rYR

138. The ionic radii of Li ', Be?™ and B®™* follow the order:

A Be2t > B3t > it
B.Li" > B** > Be?t
C.B** > Be?t > Lit

D.LiT > Be?T > B3t

Answer: D

° Watch Video Solution

139. Largest in size out of Na ™, Ne and F ~ is:

A.Na™
B. Ne

CF~


https://dl.doubtnut.com/l/_EhJiEChV6rYR
https://dl.doubtnut.com/l/_2Sr5ExFGKHCF
https://dl.doubtnut.com/l/_bH5qy3Ofb7fQ

D. all are equal

Answer: B

° Watch Video Solution

140. Which of the following atom or ions has the smallest size?

A F

B.F~

c.O

D.N

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bH5qy3Ofb7fQ
https://dl.doubtnut.com/l/_Q2qZCKZlu1Z1

141. The single covalent radius of P is 0.11 nm. The single covalent radius

of Cl will be:

A. smaller than P

B. greater than P

C.sameas P

D.of P

Answer: A

o Watch Video Solution

142. Which of the following is arranged in decreasing order of size?

A Mg*>t > ABT > 0*~
B.O?>” > Mg®>" > AP
CABT > Mg*>" >0~

D.APT > 0*" > Mg*"


https://dl.doubtnut.com/l/_k99h5VTzjKso
https://dl.doubtnut.com/l/_pPy8G54EkYBA

Answer: B

° Watch Video Solution

143. The correct order of increasing atomic radius of the following

elements as:

AS<O<Se<(C

B.O<(C < S < Se

CO<S<Se<C

D.C <O < S < Se

Answer: B

° Watch Video Solution

144. The correct order of increasing radii of the elements

Si, Al, Na and P is


https://dl.doubtnut.com/l/_pPy8G54EkYBA
https://dl.doubtnut.com/l/_fKYsD7o8EXAF
https://dl.doubtnut.com/l/_hMUBnSNUVWWv

A.S7T < Al < P < Na

B.P < Si < Al < Na

C.Al < St < P < Na

D.Al < P < S8t < Na

Answer: B

o Watch Video Solution

145. The size of the species, Pb, Pb? ", Pb* ™ decreases as -

A PVt > P?t > Pb
B. Pb > Pt > Pb*t
C.Pb > Pvt > Pp*™

D. Pb*t > Pb > Pb**

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hMUBnSNUVWWv
https://dl.doubtnut.com/l/_OI7hZNGYU3hV

146. Incorrect order of radius is:

A Sr?2t < Rbt < Br~ < Se?~
B. Nt < Zprtt < y3+
C.Co> Co*T > Co®t > Co**

D.Ba’t < Cst < Se?™ < As®~

Answer: D

o Watch Video Solution

147. The correct order of atomic/ionic radiii is:

ASce>Ti >V >Cr
B.Co> Ni > Cu > Zn

C.S? >Cl- >0 > N3~


https://dl.doubtnut.com/l/_OI7hZNGYU3hV
https://dl.doubtnut.com/l/_iP1Axy2qVCvn
https://dl.doubtnut.com/l/_FK0RtY5FXa7P

D. none of these

Answer: A

° Watch Video Solution

148. The radius of which is closest to that of the Li " ions?

A. Na™
B. Bt
C. Mg2Jr

D. AT

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FK0RtY5FXa7P
https://dl.doubtnut.com/l/_xUkc3clFUggP

149. The first, second and third ionization energies (E;, E5&E3) for an
element are 7eV, 12.5 eV and 425 eV respectively. The most stable
oxidation state of the element will be:

A +1

B.+4

C.+3

D.+2

Answer: D

o Watch Video Solution

150. Element having highest I.P. value is:

A. Ne

B. He

C.Be


https://dl.doubtnut.com/l/_HVDS3I7XBVA7
https://dl.doubtnut.com/l/_iymW5tCsNGSn

D.N

Answer: B

° Watch Video Solution

151. The order of ionisation potential between He™ io and H-atom (both

species are in gaseous) is:

A.\P.(He") = I. P.(H)
B.IP. (He™) < LP.(H)
C.I.P.(He") > I P.(H)

D. cannot be compared

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_iymW5tCsNGSn
https://dl.doubtnut.com/l/_0wZsaR41Immx

152. Which of the following metal is expected to have the highest third

ionsation enthalpy?

A. Cr (Z=24)

B.V (Z=23)

C. Mn (Z=25)

D. Fe(Z=26)

Answer: C

o Watch Video Solution

153. Second ionisation potential of Li, Be, B is in the order:

A.Li > Be > B

B.Li > B > Be

C.Be>Li>B

D.B > Be > Li



https://dl.doubtnut.com/l/_NbD3VGw57CLx
https://dl.doubtnut.com/l/_WNxCmGqGRaGD

Answer: B

o Watch Video Solution

154. The ionization energy of boron is less than that of beryllium because:

A. Beryllium has a higher nuclear charge than boron

B. beryllium has a lower nuclear charge than boron

C. the outermost electron in borom occupies a 2p-orbital

D. the 2s and 2p-orbitals of boron are degenerate

Answer: C

o Watch Video Solution

155. The first four LE. values of an element are 284, 412, 656 and 3210 kJ

mol ~'. The number of valence electrons in the element are:


https://dl.doubtnut.com/l/_WNxCmGqGRaGD
https://dl.doubtnut.com/l/_lIc99zY9wMQs
https://dl.doubtnut.com/l/_mHmr3UrusNhv

A.one

B. two

C. three

D. four

Answer: C

o Watch Video Solution

156. The first ionisation potential of Na, Mg, Al and Si are in the order

A Na < Mg < Al < Si

B.Na < Al < Mg < Si

C.Na < Al < Si < Mg

D. Na > Mg > Al > Si

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_mHmr3UrusNhv
https://dl.doubtnut.com/l/_rYW9QUFGC2rV

157. The ionisation energy will be higher when the electron is removed

from:

A. s-orbital

B. p-orbital

C. d-orbital

D. f-orbital

Answer: A

o Watch Video Solution

158. Which of the following isoelectronic ions has the lowest ionization

energy?

AK™T

B.Cl™


https://dl.doubtnut.com/l/_rYW9QUFGC2rV
https://dl.doubtnut.com/l/_ZDdyXJDnFZJV
https://dl.doubtnut.com/l/_za4Nwox40MaF

C.Ca**

D. 5%~

Answer: D

° Watch Video Solution

159. Amongst the following elements, the highest ionization energy is
A.[Ne]3s23p*
B. [Ne|3s%3p®
C. [Ne]3s?3p*

D. [Ar]3d 45 4p*

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_za4Nwox40MaF
https://dl.doubtnut.com/l/_saNihD9jJOp0

160. The ionisation potentials of Li and K are 5.4 and 4.3 eV respectively.

The ionization potential of Na will be:

A.9.7 eV

B.11eV

C.49eV

D. cannot be calculated

Answer: C

o Watch Video Solution

161. Which of the following electronic configuration is associated with the
biggest jump between the second and third ionization energies?

A. 13223221)2

B. 13223221)6351

C. 1522822p6352


https://dl.doubtnut.com/l/_aRnH5tSTPVLk
https://dl.doubtnut.com/l/_IJ5E8upaahTJ

D. 13223221)1

Answer: C

° View Text Solution

162. The second ionization energy is maximum for:

A. Boron

B. beryllium has a lower nuclear charge than boron

C. magnesium

D. aluminium

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_IJ5E8upaahTJ
https://dl.doubtnut.com/l/_yLU2RU5DoMgE

163. A large difference between the fourth and fifth ionization energies

indicates the presence of:

A. 5 valence electrons in an atom

B. 6 valence electrons in an atom

C. 4 valence electrons in an atom

D. 8 valence electrons in an atom

Answer: C

o View Text Solution

164. For which of the following reaction AH ° vlaue is equal to the first
ionization energy of Ca is?

A.Ca™(g) — Ca®t(g) +e

B.Ca(g) — Ca™(g) + e

C.Ca(s) — Ca™(g) +e


https://dl.doubtnut.com/l/_Q4oMZNVO7wmN
https://dl.doubtnut.com/l/_zGqPGUTd1dhx

D.Ca(g) — Ca** (g) + 2e

Answer: B

° Watch Video Solution

165. lonization enthalpy of an atom is equal to

A. electron gain enthalpy of the cation

B. electronegativity of the ion

C. ionization enthalpy of the cation

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zGqPGUTd1dhx
https://dl.doubtnut.com/l/_tXl2CyJ8tD3b

166. From the ground state, electronic configuration of the elements
given below, pick up the one with highest value of second ionization
energy:

A 15223221)6352

B. 1s22522p93s?

C.1s%2s%2p°

D. 1s22s22p°

Answer: B

o Watch Video Solution

167. An element has successive ionization enthalpies as 940
(first),2080,3090,4140,7030,7870,16000 and 19500 kJ mol 1. To which

group of the periodic table does this element belong?

A 14


https://dl.doubtnut.com/l/_Y3S2PcdMkp0K
https://dl.doubtnut.com/l/_KAFHxbIeotxK

B.15

D. 17

Answer: C

° Watch Video Solution

168. The second ionization potential of elements is invariably higher than

first ionization potential because:

A. The size of cation is smaller than its atom

B. it is easier to remove electron from cation

C.ionization is an endothermic process

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_KAFHxbIeotxK
https://dl.doubtnut.com/l/_ZV6EHiUUVs5F

169. The first, second and third ionization energies (E;, E5&E3) for an
element are 7eV, 12.5 eV and 425 eV respectively. The most stable
oxidation state of the element will be:

A+1

B.+4

C.+3

D. +2

Answer: D

o Watch Video Solution

170. Which of the following electronic configuration represents a sudden
large gap between the values of second and third ionisation energies of

an element?


https://dl.doubtnut.com/l/_ZV6EHiUUVs5F
https://dl.doubtnut.com/l/_XgfPZq8uyHkY
https://dl.doubtnut.com/l/_KvIeBsezZHbU

A. 152, 25%2p°
B. 152, 2s%2p%, 3523p?
C. 152, 2322p6, 3323191

D.1s%, 25%2p°%, 352

Answer: D

° Watch Video Solution

171. Element having highest I.P. value is:

A. Ne

B. He

C.Be

D.N

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KvIeBsezZHbU
https://dl.doubtnut.com/l/_bcseJHwbbjno

172. Which of the following atomic species has mximum ionisation

energy:

AO~

B.S™

C.Se™

D.Te™

Answer: B

o Watch Video Solution

173. The correct order of I.Es. Is:

A. NAgtFgtOgtN

B. OgtFgtNegtN

C. NegtOgtFgtN


https://dl.doubtnut.com/l/_bcseJHwbbjno
https://dl.doubtnut.com/l/_N6cfn1yn6JB8
https://dl.doubtnut.com/l/_Y2Otv2j75Di5

D. OgtNegtFgtN

Answer: C

° Watch Video Solution

174. Which of the following transformation least energy is required?

A F ) —)F(g) + e

(9
B.P(_g) — P(g) +e”
C.S(_g) — S(g) + e

D.Cl,, — Cl(g) +e

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_Y2Otv2j75Di5
https://dl.doubtnut.com/l/_aPLyx07eawWm

175. The amount of energy which is released due to addition of ectra

electron to the outermost orbit of gaseous atom is called

A.ionization enthalpy

B. Hydration enthalpy

C. Electronegativity

D. electron gain enthalpy

Answer: D

o Watch Video Solution

176. To which the following atom, the attachment of electron is most

difficult ?

A.Radon

B. Nitrogen

C. Oxygen


https://dl.doubtnut.com/l/_In9JfbSiCvno
https://dl.doubtnut.com/l/_siEBcaQ0dgS2

D. Radius

Answer: A

° Watch Video Solution

177. Which of the following processes involves absorption of energy?

A S(g)+e” — S (9
B.S™ +e  — 5% (g
C.Cl(g) +e  — Cl (g)

D. none of these

Answer: B

o View Text Solution

178. Arrange N, O and S in order of decreasing electron affinity:


https://dl.doubtnut.com/l/_siEBcaQ0dgS2
https://dl.doubtnut.com/l/_HS81tQK2zDgB
https://dl.doubtnut.com/l/_l9d6xU9s6Loi

A. SgtOgtN

B. OgtSgtN

C. NgtOgtsS

D. SgtNgtO

Answer: A

o View Text Solution

179. Among the following configurations, the element which has the
highest electron affinity is:

A.[Ne]3s'3p?

B. [Ne]3s%3p°

C. [Ne]3s*3p*

D. [Ne|3s*3p93d°4s*

Answer: B



https://dl.doubtnut.com/l/_l9d6xU9s6Loi
https://dl.doubtnut.com/l/_Zt1e3Q0KQAxb

| ° View Text Solution

180. The increasing order of electron affinity of the electronic
configuration of element is :
() 1s22522p°35%3p°
() 1s%2s%2p°
() 1s%2s%2p°
() 1s*25%2p%3s?
AIl <1V <IIIT <1
B.I <II<III<IV

CI<III<II<IV

D.IV < IIT < Il <1

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_Zt1e3Q0KQAxb
https://dl.doubtnut.com/l/_6I7gVSuCevnb

181. Second electron gain enthalpy:

A.is always negative

B. is always positive

C. can be positive or negative

D. is always zero

Answer: B

o View Text Solution

182. The element having very high ionization enthalpy but zero electron

affinity is:

A.H

B.F

C. He

D.Be


https://dl.doubtnut.com/l/_Fd1jB5mCub2Y
https://dl.doubtnut.com/l/_QcOX6BzUA3Hp

Answer: C

° View Text Solution

183. Which of the following represents correct order of electron affinity?

ACl>F >8>0
B.F>0>5>Cl
CF>Cl>8>0

D.Cl>S >0 >F

Answer: A

° View Text Solution

184. The process requiring absorption of energy is:

AN—> N~


https://dl.doubtnut.com/l/_QcOX6BzUA3Hp
https://dl.doubtnut.com/l/_cZaLoEAh7FAe
https://dl.doubtnut.com/l/_lMgBD4x5HZhK

B.F — F~

c.Cl— Cl™

D.H — H~

Answer: A

° View Text Solution

185. The electronegativity of the following elements increases in the

order:

AC<N<Si<P

B.Si<P<C<N

CN<C<P<Si

DC<Si<N<P

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_lMgBD4x5HZhK
https://dl.doubtnut.com/l/_pawe60ViQ9pQ

186. Which of the following order is incorrect?

A. Electronegativity of central atom: CF, > CH, > SiH,
B. Hydration energy: AI3™ > Be®’" > Mg?>"™ > Na™
C. Electrical conductance: F,_ . > Cl; . > §%

(aq) (aq) (aq)

D. Magnetic moment: Ni*™ > V3T > §p2+

Answer: C

o View Text Solution

187. Correct expression of "allred and Rochow's " scale is :

o Zeff
A. electronegativity = 0.744—~ + 0.359
r
r2
B. Electronegativity = 0.359 + 0.744
eff
Zeyy
C. Electronegativity = 0.359 " + 0.744
D. Electronegativity=0.359 ki + 0.744

P2


https://dl.doubtnut.com/l/_pawe60ViQ9pQ
https://dl.doubtnut.com/l/_ZTSkuBrNnL03
https://dl.doubtnut.com/l/_IiV0iu9irNx1

Answer: D

° View Text Solution

188. The hydration energy of Mg®™ ions is lesser than that of:

AABT
B. Ba’t
C.Na

D. none of these

Answer: A

° View Text Solution

189. Among the following, which the maximum hydration energy?

A.OH ~


https://dl.doubtnut.com/l/_IiV0iu9irNx1
https://dl.doubtnut.com/l/_LoxICDfOMqxx
https://dl.doubtnut.com/l/_fMOVodbpYYw2

B.NH,
CF~

D.H™'

Answer: D

° View Text Solution

190. Which of the following is arranged in order of incresing radius?
A.K*(aq) < Na™"(aq) < Li" (aq)
B.Na™(aq) < K" (aq) < Li" (aq)
C.K " (aq) < Li* (aq) < Na™ (aq)

D.Li* (aq) < Na™(aq) < K™ (aq)

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_fMOVodbpYYw2
https://dl.doubtnut.com/l/_ux3jC14yegnU
https://dl.doubtnut.com/l/_C95CMvrC1Pdt

191. Which of the following compounds has a negative enthalpy of

solution?

A. KCl

B. KBr

C.KF

D. KI

Answer: C

o View Text Solution

192. Amongst sodium halides {NaF', NaCl, NaBr and Nal), NaF has
the highest melting point because of:

A. High oxidising oxidising power

B. Lowest polarity

C. maximum lattice energy


https://dl.doubtnut.com/l/_C95CMvrC1Pdt
https://dl.doubtnut.com/l/_LWVUkcczgAng

D. Minimum ionic character

Answer: C

° Watch Video Solution

193. Among the following oxides, which has the maximum lattice energy?

A. MgO

B. CaO

C.SrO

D.BaO

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_LWVUkcczgAng
https://dl.doubtnut.com/l/_xUPdgrgzz90T

194. Which of the following compounds has a positive enthalpy of

solution?

A. LiF

B. LiCl

C. LiBr

D. Lil

Answer: A

o View Text Solution

195. Born-Haber cycle can be used to estimate:

A. lattice energy of ionic crystals

B. Electron gain enthalpy

C. Electronegativity

D. Boht (a) and (b)


https://dl.doubtnut.com/l/_jcMAI8wMKdkv
https://dl.doubtnut.com/l/_htWgdGo9eaD4

Answer: D

° View Text Solution

196. Which of the following is different from other three oxides?

A.MgO

B.SnO

C.ZnO

D. PbO

Answer: A

° View Text Solution

197. Select the amphoteric substance in the following:

A.SO;


https://dl.doubtnut.com/l/_htWgdGo9eaD4
https://dl.doubtnut.com/l/_9QiscpDWvckS
https://dl.doubtnut.com/l/_tX947jjm99fU

B. NaOH
C.CO,

D. Al(OH),

Answer: D

° View Text Solution

198. Which of the following compound is most acidic?

A.Cl,0r

B. P,Oqg

C.S0;

D. B203

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_tX947jjm99fU
https://dl.doubtnut.com/l/_0tqdr05LYL1d

1. A compound contains three elements A, B and C, if the oxidation
number of A = 4+ 2B = + 5 and C = — 2 then possible formula of
the compound is

A A3(B4C),

B. A3(BCy),

C. Ay(BCs),

D. ABC,

Answer: B

° Watch Video Solution

2. Consider the following four elements, which are represented according

to long form of periodic table


https://dl.doubtnut.com/l/_cp3maLUNlqyR
https://dl.doubtnut.com/l/_b30W2GqOexXR

Here W, Y and Z left, up and right elements with respect to the element X'
and 'X' belongs to 160 group and 3rd period. Then according to given
information the incorrect to given information the incorrect statement
regarding given elements is

A. Maximum electronegativity: Y

B. Maximum catenation property:X

C. Maximum electron affinity: Z

D.Y exhibits variable covalency

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_b30W2GqOexXR
https://dl.doubtnut.com/l/_g7eZRx43z1hW

3. Which of the following sequence represents atomic number of only
representative elements?

A. 55]12,48,53

B. 13,33,54,83

C.3,33,53,87

D. 22,33,55,66

Answer: C

o Watch Video Solution

4. The ground state electronic configuration of the elements, U, V, W, X,
and Y (these symbols do not have any chemical significance) are as
follows:

U 1s%2s?2p°

Vo 1s22s22p93s!

W 1s%25%2p%3s%3p?


https://dl.doubtnut.com/l/_g7eZRx43z1hW
https://dl.doubtnut.com/l/_q8G4BYNbkYvh

X 1s%25%2p53523p%3d°4s*

Y 1s%2522p53523p%3d 10452 4p°

Determine which sequence of elements satisfy the following statement:
(i) element forms a carbonate which is not decomposed by heating

(i) Element is most likely to form coloured ionic compound

(iii) element has largest atomic radius

(iv) element forms only acidic oxide

AVWYU
B.VXYW
CVWYX

D.VXWU

Answer: B

o Watch Video Solution

5. When magnesium burns in air, compounds of magnesium formed are

magnesium oxide and:


https://dl.doubtnut.com/l/_q8G4BYNbkYvh
https://dl.doubtnut.com/l/_35e9cllp6in4

A. Mg3N2
B. M9003
C. Mg(NOs),

D. MgSO,

Answer: A

° Watch Video Solution

6. Which of the following ions is most unlikely to exist?

AL~

B. Be™

C.B~

D.F~

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_35e9cllp6in4
https://dl.doubtnut.com/l/_df2WPnzl0tnv

7.AB and C are oxides of elements X,Y and Z respectively. X,Y and Z are in
the same period of the periodic table. A gives an aqueous solution which
turns blue litmus red. B reacts with both strong acids and strong alkalies.
C gives an aqueous solution which is strongly alkaline. Which of the
following statement is/are true ?

(P) All the three elements are metals.

(Q) The electronegativites decreases from X to Y to Z

(R) The atomic radius increases in theorder X <Y < Z.

(S) X,Y and Z could be phosphorus, aluminium and sodium respectively.

A. 1,11, Il only correct

B. 1, Il only correct

C.II, IV only correct

D. 1L, Il, IV only correct

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_df2WPnzl0tnv
https://dl.doubtnut.com/l/_Fe9jPqpJyjmw

8. Lanthanum is

A. s-block elements

B. p-block elements

C.d-block elements

D. f-block elements

Answer: C

o Watch Video Solution

9. If the aufbau principle had not been followed, Ca (Z=20) would have

been placed in the:

A. s-block

B. p-block

C.d-block


https://dl.doubtnut.com/l/_Fe9jPqpJyjmw
https://dl.doubtnut.com/l/_lyOM70L4UNwW
https://dl.doubtnut.com/l/_tgTQgK9bEtDG

D. f-block

Answer: C

° Watch Video Solution

10. What is the atomic number of the element with the maximum number

of unpaired 4p electron.

A. 33
B. 26
C.23

D.15

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tgTQgK9bEtDG
https://dl.doubtnut.com/l/_BZUK9z1278pC

11. The electronic configuration of four elements are:
(1) [Kr]5s’

() [Rn]5f*6d" 75>

(1) [A7])3d " 4s%4p°

(IV) [Ar]3d%4s?

Consider the following statements:

(I'l shows variable oxidation state

(ii) I is a d-block element

(iii) The compound formed between | and Ill is covalent
(iv) IV shows single oxidation state

which statement is true (T) or false (F)?

A.FTFF
B. FTFT
C.FFTF

D. FFFF

Answer: D

[ =


https://dl.doubtnut.com/l/_f7V5usvettcO

l & Watch Video Solution J

12. If period number and grou number of any representative element(s)
are same then which of the following statement is incorrect regarding
such type element(s) in their ground state? (period number and group
number are according to modern form of periodic table)

A. The possible value of principan quantum number is 2

B. The possible value of azimuthal quantum number is zero

C.The possible value of magnetic quantum number is 1

D. the species could be paramagnetic

Answer: C

o Watch Video Solution

13. How do the energy gaps between successive electron energy levels in

an atom very from low to high n values ?


https://dl.doubtnut.com/l/_f7V5usvettcO
https://dl.doubtnut.com/l/_195JH4MZL0CF
https://dl.doubtnut.com/l/_5xwJr8Ng7Dsi

A. All energy gaps are the same

B. The energy gap decreases as n increases

C.The energ gap increases as n increases

D. the energy gap changes unpredictable as n increases

Answer: B

o Watch Video Solution

14. Properties of the alkaline earth metals that increase from Be to Ba
include which of the following?
(P) Atomic radius (Q) lonization energy
(R) Nuclear charge
A. (i) and (ii)
B. (i) and (iii)
C. (i) and (iii)

D. (i), (i1) and (iii)


https://dl.doubtnut.com/l/_5xwJr8Ng7Dsi
https://dl.doubtnut.com/l/_13JCsitDxnFt

Answer: B

° Watch Video Solution

15. which of the following is the incorrect match for atom of element?
A.[Ar]3d®4s® — 4"period, 6 group
B. [Kr]4d10 _, pth period, 127 group
C.[Rn]6d'7s?> — 7™ period, 3th group

D. [Xe]4f'*5d%6s> — 6th period, 4th group

Answer: A::B

° Watch Video Solution

16. The set representing the correct order of ionic radius is : a)
Na® > Mg*" > ABPT > Be’™ > Li™ b)

Na® > Li" > Mg*"™ > APT > Be*™ 9)


https://dl.doubtnut.com/l/_13JCsitDxnFt
https://dl.doubtnut.com/l/_rktVLCeU9cW1
https://dl.doubtnut.com/l/_Id4MSP6cQiE3

Nat > Mg*>" > ABPT > Lit™ > Be*™" d)
Nat > Mg?>" > Lit > Be?™ > AP

A Na™ > Mg>"™ > APT > Li™ > Be? ™"

B.Nat > Li* > Mg*" > AI*T > Be?*

C.Na®™ > Mg*t > Lit > APt > Be?t

D.Na©™ > Mg®>" > Li" > Be?*

Answer: B

o Watch Video Solution

17. In which of the following pair, both the species are isoelectronic but
the first one is large in size than the second?

A.S2, 0%~

B.CI>~, 5%

C.F ,Nat


https://dl.doubtnut.com/l/_Id4MSP6cQiE3
https://dl.doubtnut.com/l/_BCL57RxutMI7

D.N3~, P3~

Answer: C

° Watch Video Solution

18. Increasing order of ionic size :

N3~ ,Nat,F~, 0%, Mg**
A Mg*" > Na™ >F~ >0% > N3
BN®" < F~ >0% > Na" > Mg*"
C.Mg*" < Nat < F~ <0* < N3

D.N*>~ >0 >F > Na" < Mg*"

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BCL57RxutMI7
https://dl.doubtnut.com/l/_nKgJhkCBvKHr

19. The order of increasing ionic radius of the following is:
AK" <Lit < Mg*" < APT
B.K" < Mg*>" < Li™ < AP
C.Li" < KtMg*t < AR+

D.APT < M¢g*" < Lit < K™+

Answer: D

o Watch Video Solution

20. If the ionic radii of each K™ and F~ are 1.34A, then tha atomic radii

of K and F will be respectively:

A.134 A134 A

B.0.72 A,1.96 A

C.1.96 A, 0.72 A

D.1.96 A, 1.34 A


https://dl.doubtnut.com/l/_fsQWxtvi12mG
https://dl.doubtnut.com/l/_F29WV7F6oOnC

Answer: C

° Watch Video Solution

21. Incorrect order of ionic size is:

ALt >Gd®t > Eu?t > LudT

B.V2t > V3t > y4t > pyo+

C.TIT >Int > Sn®>t > Sp**

DK™ > 8T > V> > Mn™t

Answer: A

° Watch Video Solution

2.X() = X[, +te, AH = +720kJ mol '

Calculate the amoung of energy required to convert 110 mg 'X' atom in

gaseous state into X © ion. (Atoic wt. for X=7 g /mol)



https://dl.doubtnut.com/l/_F29WV7F6oOnC
https://dl.doubtnut.com/l/_D6XDuUMkHlit
https://dl.doubtnut.com/l/_PvxtmM6KUn5v

A. 104 kJ

B.12.3 kJ

C. 13Kk

D. 14.5 kJ

Answer: C

o Watch Video Solution

23. Consider the following changes : —

Msysm, . (a)

My — M} +2° ... (b)

M(g) —>M++ee ..... (C)
+ +2 o

M,y — M y+e” (d)

M(g) — M(Jr% +2° ... (e)

The second ionisation energy of M ,) could be calculated from which of

the above given reactions:

A. 1+3+4


https://dl.doubtnut.com/l/_PvxtmM6KUn5v
https://dl.doubtnut.com/l/_u99kbZJhz6rU

B. 2-1+3

C.1+5

D.5—3

Answer: D

° Watch Video Solution

24.The correct order of second ionisation potential of C, N, O and F is:

A.FgtOgtNgtC

B. CgtNgtOgtF

C. OgtNgtFgtC

D. OgtFgtNgtC

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_u99kbZJhz6rU
https://dl.doubtnut.com/l/_Rn0ydsMvr14j
https://dl.doubtnut.com/l/_dT1Z58S7B8T8

25. Which is the correct order of ionisation energies ?

AF >F>Cl” >Cl

B.F>Cl>Cl  >F

CF >Cl” >Cl>F

D.F~ >Cl” >F >C(l

Answer: B

o Watch Video Solution

26. Which of the following statements is incorrect?

A.The second ionization energy of sulphur is greater than that of

chlorine

B. The third ionization energy of phosphorus is greater than that of

aluminium


https://dl.doubtnut.com/l/_dT1Z58S7B8T8
https://dl.doubtnut.com/l/_s7LCeDCf8kLl

C.The first ionization energy of aluminium is approximately the same

as that of gallium

D.The second ionization energy of boron is greater than that of

carbon

Answer: B

o Watch Video Solution

27.First ionization energy is the lowest with:

A. Lead

B. Carbon

C.Silicon

D.Tin

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_s7LCeDCf8kLl
https://dl.doubtnut.com/l/_KLY7eqO4Xdks

28. The incorrect among the following is:

A.The first ionization potential of Al is less than the first ionization

potential of Mg

B. The second ionizaztion potential of Mg is greater than the second

ionization potential of Na

C.The first ionization potential of Na is less than the first ionization

potential of Mg

D.The third ionization potential of Mg is greater than the third

ionization potential of Al

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KLY7eqO4Xdks
https://dl.doubtnut.com/l/_WVZxaHb3iKDq

29. The correct values of ionization enthalpies(in K] mol_l) of Si, P, Cl, and
S respectively are: a)786, 1012, 999, 1256 b)1012, 786, 999, 1256 «c)
786, 1012, 1256, 999 d)786, 999, 1012, 1256

A. 786, 1012, 999, 1256

B. 1012, 786, 999, 1256

C. 786, 1012, 1256, 999

D. 786,999, 1012, 1256

Answer: C

o Watch Video Solution

30. The third ionisation energy will be maximum for:

A. nitrogen

B. phosphorus

C. aluminium


https://dl.doubtnut.com/l/_A1nxMgq4A7cT
https://dl.doubtnut.com/l/_RAaETeRWI9Yx

D. boron

Answer: D

o Watch Video Solution

31. Consider the following ionsisation reaction :

IE(KJmol™')  IE(KJmol ')

A(g) — A?—g) —I—ee,Al B(g) — Bz_g) —|—ee,Bl
+ +2 ) + )
B(g)—>B(g)+e ,32 C(g)—>0(g)+€ ,Cl
CH = Ct24+e°,C, C250Cf3 +e°,04

(9) (9) (9) (9)

If monovalent positive ion of A, divalent positive ion of B and trivalent
positive ion of C have zero electron. Then incorrect order of
corresponding I.P.is :

A.C3 > By > A,

B.B; > A; > C]

C.C3 > Cy > By

D.By > C5 > A,


https://dl.doubtnut.com/l/_RAaETeRWI9Yx
https://dl.doubtnut.com/l/_Ef1ZNjf2dcHJ

Answer: D

° Watch Video Solution

32.The incorrect statement is:

A.The second ionisation energy of Se is greater than that of second
ionisation energy of As

B. The first ionisation energy of C?" ion is greater than that of rist
ionisation energy of N2* ion

C.The third ionisation energy of, F is greater than that of third
ionisation energy of O

D. Helogens have highest LE. in respectively period.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Ef1ZNjf2dcHJ
https://dl.doubtnut.com/l/_35klvmgsxvoI
https://dl.doubtnut.com/l/_fTs2f8ZaHw9I

33. First three ionisation energies (in kJ/mol) of three representative
elements are given below:
(Element, IE,, IE,, I1E3), (P, 495.8, 4582, 6910), (Q, 737.7, 1451, 7733), (A
then incorrect option is:

A. Q: alkaline earth metal

B. P: alkali metals

C.R: s-block element

D. They belong to same period

Answer: C

o Watch Video Solution

34. Which of the following statement is correct regarding following

process ?
welZi o @or L5 oar

@iol L5 ot (o L5 o


https://dl.doubtnut.com/l/_fTs2f8ZaHw9I
https://dl.doubtnut.com/l/_quHDuk49r0UP

A. |L.E. of process (ii)|=|E.A. of process (i)|

B. |I.E. of process (iii)|=|I.E. of process (ii)|

C. |L.E. of process (iv)|=|E.A. of process (i)

D. |I.E. of process (iv)|=|I.E. of process (iii)|

Answer: A

o Watch Video Solution

35. The correct order of increasing electron affinity of the following

elements is:

AO<S<F<C(Cl

BO<S<C(ClIl<F

CS<O<F<C(Cl

D.S<O<C(Cl< F

Answer: A



https://dl.doubtnut.com/l/_quHDuk49r0UP
https://dl.doubtnut.com/l/_dcklA7Yv8tmE

| ° Watch Video Solution

36. The second electron gain enthalpies (in k] mol ') of oxygen and
sulphur respectively are:

A. —780, + 590

B. —590, + 780

C.+590, + 780

D. +780, + 590

Answer: D

° Watch Video Solution

37. Which of the following statement is correct?

A.The magnitude of the second electron ffinity of sulphur is greater

than that of oxygen


https://dl.doubtnut.com/l/_dcklA7Yv8tmE
https://dl.doubtnut.com/l/_WTlpc4n1siWi
https://dl.doubtnut.com/l/_HD6KsIQjqOWx

B. The magnitude of the second electron affinity of sulphur is less

than that of oxygen

C.the first electron affinities of bromine and iodine are approximately

the same

D. The first electron affinity of fluorine is greater than that of chlorine

Answer: B

o Watch Video Solution

38. Which of the following statements is incorrect?

A. Greater is the nucler charge, greater is the electron gain enthalpy

B. Nitrogen has almost zero electron gain enthalpy

C.electron gain enthalpy decreases from fluorine to iodine in the

group

D. Chlorine has highest electron gain enthalpy


https://dl.doubtnut.com/l/_HD6KsIQjqOWx
https://dl.doubtnut.com/l/_5tsFMmwlpuaZ

Answer: C

o Watch Video Solution

39. The formation of the oxide ion O?f requires first an exothermic and
then an endothermic step as shown below:
O,+e  — Oy ,AH = — 142kJmol "
O(g9) + e — O~ ,AH = 844kJmol !
This is because:
A. O~ ion has comparatively larger size than oxygen atom
B. oxygen has high electron affinity

C. O ion will tend to resist the addition of another electron

D. oxygen is more electronegative

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5tsFMmwlpuaZ
https://dl.doubtnut.com/l/_i0vlDt6CDLTm
https://dl.doubtnut.com/l/_WDtuFBraOOCM

40. In which of the following energy is abosrbed?

ACl+e — Cl™

B.O +e — O*°

CO+e — 0O

D.Na™ +e~ — Na

Answer: B

o Watch Video Solution

41.The electron affinity of the following elements can be arranged:

ACl>0>N>C
B. ClgtOgtCgtN
C.ClgtNgtCgtO

D. ClgtCgtOgtN


https://dl.doubtnut.com/l/_WDtuFBraOOCM
https://dl.doubtnut.com/l/_YQkn3O37gVqJ

Answer: B

° Watch Video Solution

42. In which of the following arrangements , the order is not correct
according to the property indicated against it:

A.Increasing size: A" < Mg*" < Na™ < F~

B.Increasing LE;: B< C < N <O

C.Increasing E. A1:1 < Br < F < Cl

D. Increasing metallic radius : L1 < Na < K < Rb

Answer: B

° Watch Video Solution

43. Which of the following statements is/are wrong?


https://dl.doubtnut.com/l/_YQkn3O37gVqJ
https://dl.doubtnut.com/l/_4ItuX9ws13gd
https://dl.doubtnut.com/l/_iQrtZQuSRJcS

A.Van der waals' radius of iodine is more than its covalent radius

B. all isoelectronic ions belong to same period of the peridic table

C.I. E; of N is higher than that of O while I. E, of O is higher than

that of N

D.The electron affinity N is almost zero while that of P is 74.3 kJ

mol 1

Answer: B

° Watch Video Solution

44, Consider the following conversions:

Oy +e — O

(9)) AH:

(i) Fig) +e~ — F ., AH,

(9)
(i) Cl(g) +e~ — Cl;,,

) A-13-4

AH,
. — _ 9_
(V) O,y +e = O,

the according to given information the incorrect statement is :


https://dl.doubtnut.com/l/_iQrtZQuSRJcS
https://dl.doubtnut.com/l/_RW5jOuzQQ9ft

A. AHj3 is more negative than AH; and AH,
B. AH, is less negative than AH,
C.AH,, AH, and AHj are negative whereas AH, is positive

D. AH; and AHj are negative whereas AH, and AH, positive

Answer: D

o Watch Video Solution

Element Electronegative value

W 2.7
45. X 2.1
Y 0.8
A 3.4

Incorrect statement reagarding given information is:

A. WZ does not conduct electricity in solid and fused state

B. YZ conducts electricity in solid and fused state

C. XZ conducts electricity only in solution state

D. WX conducts electricity only in fused state


https://dl.doubtnut.com/l/_RW5jOuzQQ9ft
https://dl.doubtnut.com/l/_arJwjtgLvfRK

Answer: D

° Watch Video Solution

46. In the compound M-O-H, the M-O bond will be broken if:

AA(E> N.)ofMand O < A(EN.)ofOandH
B. A (E.N.) of M and O=A (E.N.) of O and H
C.A(EN)ofMand O > A(EN.)of OandH

D. Cannot be predicted according A(E. N. ) data

Answer: C

o Watch Video Solution

47. Aqueous solution of two

compounds

M; — O — H and M; — O — H are prepared in two different beakers .


https://dl.doubtnut.com/l/_arJwjtgLvfRK
https://dl.doubtnut.com/l/_EnuIQfqrgh0M
https://dl.doubtnut.com/l/_u6GUEpHH6uk4

If electronegativity of M; = 3.4, My, = 1.2,0 = 3.5 and H = 2.1, then

the nature of two solution will be respectively

A. acidic, basic

B. acidic, acidic

C. basic, acidic

D. basic, basic

Answer: A

o Watch Video Solution

48.The ionisation potential and electron affinity of an element "X" are 275
and 86 kcal/mole. Then the electronegativity of "X" according to Mulliken
scale is

A.28

B.O

C.4


https://dl.doubtnut.com/l/_u6GUEpHH6uk4
https://dl.doubtnut.com/l/_sCY089tncUV5

D.2.6

Answer: A

o Watch Video Solution

49. Consider the following statements :

(1) The radius of an anion is larger than that of the parent atom

() The ionization energy generally increases with increasing atomic
number in a period.

() The electronegativity of an element is the tendency of an isolated
atom to at tract an electron.

Which of the above statements is/are correct?

A.l alone
B. Il alone
C.land Il

D.lland Il


https://dl.doubtnut.com/l/_sCY089tncUV5
https://dl.doubtnut.com/l/_4H0mcfasketO

Answer: C

° Watch Video Solution

50. Which of the following order is correct for the property mentioned in
brackets?

A.S?7 > Cl~ > K" > Ca®" (lonization energy)

B.C' < N < F < O (2nd ionisation energy)

C.B > Al > Ga > In > TI (Electronegativity)

D.Na©™ > Li"™ > Mg?>" > Be?* > AP (lonic radius)

Answer: B

o Watch Video Solution

51. Which among the following factors is the most important in making

fluorine oxidizing halongen?


https://dl.doubtnut.com/l/_4H0mcfasketO
https://dl.doubtnut.com/l/_mkBVREtrVwi0
https://dl.doubtnut.com/l/_XXhPgcjNUpNS

A. Bond dissociation energy

B. lonisation enthalpy

C. Hydration enthalpy

D. Electron affinity

Answer: C

o Watch Video Solution

52. A compound contains three elements A, B and C, if the oxidation
number of a+2, B=+5 and C=-2, the possible formula of the compound is
A A3(B40C),
B. A3(BCy),
C. Ay(BCs),

D. ABC,

Answer: B



https://dl.doubtnut.com/l/_XXhPgcjNUpNS
https://dl.doubtnut.com/l/_KSxQUhGMJIJ4

| o View Text Solution

53. Consider the following four elements, which are represented

according to long form of periodic table.

Y
X|Z

Here W, Y and Z are left, up and right elements with respect to the
element 'X' and 'X' belongs to 16th group and 3rd period. then according

to given information the incorrect statement regarding given elements

is:

A. Maximum electronegativity: Y

B. Maximum catenation property:X


https://dl.doubtnut.com/l/_KSxQUhGMJIJ4
https://dl.doubtnut.com/l/_8hI9UIg4oLBc

C. Maximum electron affinity: Z

D.Y exhibits variable covalency

Answer: D

° View Text Solution

54. Which of the following sequence represents atomic number of only

representative elements?

A. 55]12,48,53

B. 13,33,54,83

C. 3,33,53,87

D. 22,33,55,66

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_8hI9UIg4oLBc
https://dl.doubtnut.com/l/_BC1r9iCF4Uft
https://dl.doubtnut.com/l/_K6E5EG1TDtQZ

55. The ground state electronic configuration of the elements, U, V, W, X,
and Y (these symbols do not have any chemical significance) are as
follows:

U 1s*2s?2p°

Vo 1s%2s%2p53s!

W 1s225%2p°3s%3p?

X 1s%25%2p53523p53d° 4>

Y 1s%2522p53523p%3d 10452 4p°

Determine which sequence of elements satisfy the following statement:
(i) element forms a carbonate which is not decomposed by heating

(ii) Element is most likely to form coloured ionic compound

(iii) element has largest atomic radius

(iv) element forms only acidic oxide
AVWYU
B.VXYW

C.VWYX

D.VXWU


https://dl.doubtnut.com/l/_K6E5EG1TDtQZ

Answer: B

° View Text Solution

56. When magnesium burns in air, compounds of magnesium formed are
magnesium oxide and:

A. M93N2

B. MgCOg

C. Mg(NOs),

D. MgSO4

Answer: A

° View Text Solution

57. Which of the following ions is most unlikely to exist?


https://dl.doubtnut.com/l/_K6E5EG1TDtQZ
https://dl.doubtnut.com/l/_i664QdpGrt1u
https://dl.doubtnut.com/l/_6Kht5rGUf5xf

A Li~

B. Be™

C.B~

D.F~

Answer: B

o Watch Video Solution

58. A, B and C are hydroxy-compounds of the elements X, Y and Z
respectively. X, Y and Z are in the same period of the periodic table. A
Gives an aqueous solution of pH less than seven. B reacts with both
strong acid and strong alkalis. C gives an aqueous solution which is
srongly alkaline.

which of the following statements is/are true?

I: The three elements are metals.

ll: The electronegativities decreases from X to Y to Z.


https://dl.doubtnut.com/l/_6Kht5rGUf5xf
https://dl.doubtnut.com/l/_aubCiEnWN3UR

Ill: The atomic radius decreases in the order X, Y and Z.

IV: X, Y and Z could be phosphorus, aluminium and sodium respectively.

A. 1,11, 1l only correct

B. 1, Ill only correct

C. 11, IV only correct

D. 1L, 11l, IV only correct

Answer: C

o View Text Solution

59. La (lanthanum) having atomic number 57 is a member of :

A. s-block elements

B. p-block elements

C.d-block elements

D. f-block elements


https://dl.doubtnut.com/l/_aubCiEnWN3UR
https://dl.doubtnut.com/l/_jnLmo9kmsxMb

Answer: C

° Watch Video Solution

60. If the aufbau principle had not been followed, Ca (Z=20) would have

been placed in the:

A. s-block

B. p-block

C.d-block

D. f-block

Answer: C

° View Text Solution

61. What is the atomic number of the element with the maximujm

numberj of unpaired 4p electrons?


https://dl.doubtnut.com/l/_jnLmo9kmsxMb
https://dl.doubtnut.com/l/_NXAkCHLz40JB
https://dl.doubtnut.com/l/_xd4mEOkmmrBr

A. 33

B. 26

C.23

D.15

Answer: A

o View Text Solution

62. The electronic configuration of four elements are:
(1) [Kr]5st

() [Rn]5f*6d" 75>

(1) [Ar]3d*%4s%4p°

(IV) [A7])3d°%4s*

Consider the following statements:

(I'l shows variable oxidation state

(ii) 1 is a d-block element

(iii) The compound formed between | and Ill is covalent


https://dl.doubtnut.com/l/_xd4mEOkmmrBr
https://dl.doubtnut.com/l/_eFEDFQIUI9UZ

(iv) IV shows single oxidation state

which statement is true (T) or false (F)?

A. FTFF

B. FTFT

C.FFTF

D. FFFF

Answer: D

o View Text Solution

63. If period number and grou number of any representative element(s)
are same then which of the following statement is incorrect regarding
such type element(s) in their ground state? (period number and group

number are according to modern form of periodic table)

A. The possible value of principan quantum number is 2

B. The possible value of azimuthal quantum number is zero


https://dl.doubtnut.com/l/_eFEDFQIUI9UZ
https://dl.doubtnut.com/l/_CMshkvyUy83t

C. The possible value of magnetic quantum number is 1

D. the species could be paramagnetic

Answer: C

o View Text Solution

64.How does the energy gap between successive energy levels in an atom

vary from low to high n values?

A. All energy gaps are the same

B. The energy gap decreases as n increases

C.The energ gap increases as n increases

D. the energy gap changes unpredictable as n increases

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_CMshkvyUy83t
https://dl.doubtnut.com/l/_Z8CR4GjtMPmK
https://dl.doubtnut.com/l/_kNkDWjwxVQdq

65. Which of the following properties of the alkaline earth metals increase
from Be to Ba?
(i) Atomic radius
(ii) lonisation energy
(iii) Nuclear energy
A. (i) and (ii)
B. (i) and (iii)

C. (ii) and (iii)

D. (i), (ii) and (iii)

Answer: B

o View Text Solution

66. which of the following is the incorrect match for atom of element?

A.[Ar]3d°4s* — 4"period, 6™ group


https://dl.doubtnut.com/l/_kNkDWjwxVQdq
https://dl.doubtnut.com/l/_7X6EdA5cOQ6h

B. [Kr]4d10 _, pth period, 127 group
C.[Rn]6d'7s?> — 7™ period, 3th group

D. [Xe]4f'*5d%6s> — 6th period, 4th group

Answer: D

° View Text Solution

67. The set representing the correct order of ionic radius is

A Nat > Mg*>" > APT > Li™ > Be?*
B.Na® > Li* > Mg>" > AI’" > Be?"
C.Nat > Mg?*" > Li"™ > ABPT > Be* "

D.Na™ > Mg®>" > Li™ > Be?*

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_7X6EdA5cOQ6h
https://dl.doubtnut.com/l/_nAcWg23JBm5A
https://dl.doubtnut.com/l/_X1fxvBAWIyFd

68. In which of the following pair, both the species are isoelectronic but

the first one is large in size than the second?

A.S2 0%
B.CI>~, §%~
C.F~,Na™*
D.N3—, P3~
Answer: C

o View Text Solution

69. The correct order of ionic size of N>~, Na™, F ~, Mg2+ and O is:

AMg" >Na™ >F >0° > N3~
BN} < F~ >0% > Na" > Mg*"
C.Mg*" < Nat < F~ <0* < N3

D.N*~ >0 >F > Na' < Mg*"


https://dl.doubtnut.com/l/_X1fxvBAWIyFd
https://dl.doubtnut.com/l/_05VkTj5I0Frk

Answer: C

° View Text Solution

70. The order of increasing ionic radius of the following is:

AKT < Lit™ < Mg*" < AP™
B.K' < Mg*>" < Li™ < AP
CLit < KtMg* < ABY

D.ABPT < M¢*" < Lit <K+

Answer: D

° View Text Solution

71.If the ionic radiiof K+ and F~ are nearly the same (i.e.,, 1.34 A), then

the atomic radii of K and F respectively are:


https://dl.doubtnut.com/l/_05VkTj5I0Frk
https://dl.doubtnut.com/l/_IpD2TOIMnNqg
https://dl.doubtnut.com/l/_EZDOO6vkM6aO

A 134 A 134 A

B.0.72 A,1.96 A

C.1.96 A, 0.72 A

D.196 A, 1.34 A

Answer: C

o View Text Solution

72.Incorrect order of ionic size is:

A La®t > Gd®t > Eudt > Lt

B.V2t > V3t > y4t > pyo+

C.TIT >Int > Sn?>t > SB**

DK™ > 8T > V> > Mn™t

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_EZDOO6vkM6aO
https://dl.doubtnut.com/l/_L0a4NbeHMnXa

B.X() = X[, e, AH = +720kJ mol ™!

Calculate the amoung of energy required to convert 110 mg 'X' atom in
gaseous state into X © ion. (Atoic wt. for X=7 g /mol)

A.104 kJ

B.12.3 kJ

C. 113k

D.14.5 k|

Answer: C

o View Text Solution

74. Consider the followng changes:
M(s) — M(g)...(1)
M(s) — M*"(g) +2e ...(2)

M(g) > M"(g9) +e ...(3)


https://dl.doubtnut.com/l/_L0a4NbeHMnXa
https://dl.doubtnut.com/l/_CKxcyDuwmgj2
https://dl.doubtnut.com/l/_UiGu2i9UR8Lf

M*(g) = M?*"(g) + e ..(4)
M(g) — M?**(g) +2e™ ...(5)
The second ionization energy of M could be calculated from the enrg
values associated with:
A.1+3+4
B. 2-1+3

C.1+5

D.5—3

Answer: D

o View Text Solution

75.The correct order of second I.E. of C, N, O and F are in the order:

A.FgtOgtNgtC

B. CgtNgtOgtF

C. OgtNgtFgtC


https://dl.doubtnut.com/l/_UiGu2i9UR8Lf
https://dl.doubtnut.com/l/_nQMn8f6N6AdA

D. OgtFgtNgtC

Answer: D

° View Text Solution

76. Which is the correct order of ionization energies?

AF- >F>Cl >Cl

B.F>Cl>Cl™ >F~

CF™  >Cl” >Cl>F

DF~ >Cl” >F > C(Cl

Answer: B

o Watch Video Solution

77. Which of the following statements is incorrect?


https://dl.doubtnut.com/l/_nQMn8f6N6AdA
https://dl.doubtnut.com/l/_RZkGTQ1mPUnt
https://dl.doubtnut.com/l/_KdmasCsE7krV

A.The second ionization energy of sulphur is greater than that of

chlorine

B. The third ionization energy of phosphorus is greater than that of

aluminium

C.The first ionization energy of aluminium is approximately the same

as that of gallium

D.The second ionization energy of boron is greater than that of

carbon

Answer: B

o View Text Solution

78. First ionization energy is the lowest with:

A. Lead

B. Carbon


https://dl.doubtnut.com/l/_KdmasCsE7krV
https://dl.doubtnut.com/l/_TQ4njzAKvlOr

C. Silicon

D.Tin

Answer: D

° Watch Video Solution

79.The incorrect among the following is:

A.The first ionization potential of Al is less than the first ionization

potential of Mg

B. The second ionizaztion potential of Mg is greater than the second

ionization potential of Na

C.The first ionization potential of Na is less than the first ionization

potential of Mg

D.The third ionization potential of Mg is greater than the third

ionization potential of Al


https://dl.doubtnut.com/l/_TQ4njzAKvlOr
https://dl.doubtnut.com/l/_qbRh7QF6XIwI

Answer: B

° View Text Solution

80. The correct values of ionization enthalpies(in K] molfl) of Si, P, Cl, and
S respectively are: a)786, 1012, 999, 1256 b)1012, 786, 999, 1256 «c)
786, 1012, 1256, 999 d)786, 999, 1012, 1256

A. 786, 1012, 999, 1256

B. 1012, 786, 999, 1256

C. 786, 1012, 1256, 999

D. 786, 999, 1012, 1256

Answer: C

o Watch Video Solution

81. The third ionization enthalpy is maximum for


https://dl.doubtnut.com/l/_qbRh7QF6XIwI
https://dl.doubtnut.com/l/_jgZrFakvK1ub
https://dl.doubtnut.com/l/_I4fDMNBWlWOh

A. nitrogen

B. phosphorus

C. aluminium

D. boron

Answer: D

o Watch Video Solution

82. Consider the following ionisation reactions:

LE. (ki mol™)
Ay — "-"1'|I;;- e, A,
By 5851'] +e, B,
Copy—CiH+e, €

If monovalent positive ion

LE. (kImal ')
Blrl — B, e, B,
Cu,—b(.‘,:1r| be, C,
C;‘;'J- —»C[‘;‘J +e C,

of A, divalent positive ion of B and trivalent

positive ion of C have zero electron. Then incorrect order of

corresponding LE. is:

A.Og > By > Ay

B.B; > Al > (4


https://dl.doubtnut.com/l/_I4fDMNBWlWOh
https://dl.doubtnut.com/l/_33RR9UHnyxbc

C.Cg > Cy > By

D.By, > C5 > A,

Answer: D

° View Text Solution

83. The incorrect statement is:

A.The second ionisation energy of Se is greater than that of second
ionisation energy of As

B. The first ionisation energy of C2" ion is greater than that of rist
ionisation energy of N2 ion

C.The third ionisation energy of, F is greater than that of third
ionisation energy of O

D. Helogens have highest IL.E. in respectively period.

Answer: D


https://dl.doubtnut.com/l/_33RR9UHnyxbc
https://dl.doubtnut.com/l/_VyNukyrDAxaT

o View Text Solution

84. First three ionisation energies (in kJ/mol) of three representative

elements are given below:
(Element, IE,, IE,, I1E3), (P, 495.8, 4582, 6910), (Q, 737.7, 1451, 7733), (A
then incorrect option is:

A. Q: alkaline earth metal

B. P: alkali metals

C.R: s-block element

D. They belong to same period

Answer: C

o View Text Solution

85. Which of the following statement is correct regarding following

species?


https://dl.doubtnut.com/l/_VyNukyrDAxaT
https://dl.doubtnut.com/l/_Pj97kCMwVjNZ
https://dl.doubtnut.com/l/_ioFTMbRMt39K

i o1 =5 o1

iy 1~ 255 ¢

(i) 1 =55 ot

) cit 255 o+
A. |L.E. of process (ii)|=|E.A. of process (i)|
B. |I.E. of process (iii)|=|I.E. of process (ii)|

C. |L.E. of process (iv)|=|E.A. of process (i)

D. |I.E. of process (iv)|=|I.E. of process (iii)]|

Answer: A

o View Text Solution

86. The correct order of increasing electron affinity of the following

elements is:

AO<S<F<C(Cl

BO<S<C(ClIl<F


https://dl.doubtnut.com/l/_ioFTMbRMt39K
https://dl.doubtnut.com/l/_7D9fjHCrUFTW

CS<O<F<C(Cl

DS<O<Cl<F

Answer: A

° Watch Video Solution

87. The second electron gain enthalpies (in kJ mol ') of oxygen and
sulphur respectively are:

A. —780, + 590

B. —590, + 780

C.+590, + 780

D. +780, + 590

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7D9fjHCrUFTW
https://dl.doubtnut.com/l/_V9oSMgQYfpAc
https://dl.doubtnut.com/l/_meWje3ZsnRoi

88. Which of the following statement is correct?

A.The magnitude of the second electron ffinity of sulphur is greater

than that of oxygen

B. The magnitude of the second electron affinity of sulphur is less

than that of oxygen

C. the first electron affinities of bromine and iodine are approximately

the same

D. The first electron affinity of fluorine is greater than that of chlorine

Answer: B

o View Text Solution

89. Which of the following statements is incorrect?

A. Greater is the nucler charge, greater is the electron gain enthalpy

B. Nitrogen has almost zero electron gain enthalpy


https://dl.doubtnut.com/l/_meWje3ZsnRoi
https://dl.doubtnut.com/l/_pIjzvFBAOXCh

C.electron gain enthalpy decreases from fluorine to iodine in the

group

D. Chlorine has highest electron gain enthalpy

Answer: C

o View Text Solution

90. The formation of the oxide ion 037 requires first an exothermic and
then an endothermic step as shown below:
Oy+e —0,,AH = — 142k Jmol 1
O(g9) + e — O~ ,AH = 844kJmol !
This is because:
A. O ion has comparatively larger size than oxygen atom
B. oxygen has high electron affinity

C. O ion will tend to resist the addition of another electron

D. oxygen is more electronegative


https://dl.doubtnut.com/l/_pIjzvFBAOXCh
https://dl.doubtnut.com/l/_AakMJABGTg2L

Answer: C

° Watch Video Solution

91. In which of the following energy is abosrbed?

ACl+e — Cl™
B.O +e — O
CO —e — 0"

D.Na™ +e~ — Na

Answer: B

° View Text Solution

92. The electron affinity of the following elements can be arranged:

ACl>0>N>C


https://dl.doubtnut.com/l/_AakMJABGTg2L
https://dl.doubtnut.com/l/_kP8QP349YBjF
https://dl.doubtnut.com/l/_Z3x3rBKME4KT

B. ClgtOgtCgtN

C.ClgtNgtCgtO

D. ClgtCgtOgtN

Answer: B

° View Text Solution

93. In which of the following arrangements, the order is not correct
according to the property indicated against it?

A.Increasing size: AI*T < Mg?*"™ < Na©™ < F~

B.Increasing LE;: B< C < N <O

C.Increasing E. A;: I < Br < F < (Cl

D. Increasing metallic radius : Li < Na < K < Rb

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_Z3x3rBKME4KT
https://dl.doubtnut.com/l/_qQMuPIXu1xpS

94. Which of the following statements is/are wrong?

A. Van der waals' radius of iodine is more than its covalent radius

B. all isoelectronic ions belong to same period of the peridic table

C.I. E; of N is higher than that of O while I. E, of O is higher than

that of N

D. The electron affinity N is almost zero while that of P is 743 k

mol !

Answer: B

o View Text Solution

95. Consider the following conversions:

(i) O(g) +e” — 0O/

(g)’AHl

(i) Fyy +e~ — F_,,AH,

(9)
(ii) Cl(g) + e~ — Cl;,,, AH,


https://dl.doubtnut.com/l/_qQMuPIXu1xpS
https://dl.doubtnut.com/l/_KyCXgEZNvEiP
https://dl.doubtnut.com/l/_ZVh5SWpinfIs

. _ _ 9_
(iv) O(g) +e — O(g) , AH,

the according to given information the incorrect statement is :
A. AHj3 is more negative than AH; and AH,
B. AH, is less negative than AH,
C.AH,, AH, and AHj are negative whereas AH, is positive

D. AH; and AHj; are negative whereas AH, and AH, positive

Answer: D

o View Text Solution

Element Electronegative value

w 2.7
9. X 2.1
Y 0.8
A 3.4

Incorrect statement reagarding given information is:

A. WZ does not conduct electricity in solid and fused state

B. YZ conducts electricity in solid and fused state


https://dl.doubtnut.com/l/_ZVh5SWpinfIs
https://dl.doubtnut.com/l/_X64nDwn5k86U

C. XZ conducts electricity only in solution state

D. WX conducts electricity only in fused state

Answer: D

° View Text Solution

97. In the compound M-O-H, the M-O bond will be broken if:

A.A(E > N.)ofMand O < A (EN.)of Oand H
B. A (E.N.) of M and O=A (E.N.) of O and H
C.A(EN)ofMand O > A (EN.)ofOandH

D. Cannot be predicted according A(E. N. ) data

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_X64nDwn5k86U
https://dl.doubtnut.com/l/_GgbKwuLnbEm1

98. Aqueous solutions of two compounds
M; — O — H and M, — O — H are prepared in two different beakers.
If, the electronegativity of M; = 3.4, M, = 1.2, O = 3.5 and H = 2.1,
then the nature of two solutions will be respectively:

A. acidic, basic

B. acidic, acidic

C. basic, acidic

D. basic, basic

Answer: A

o View Text Solution

99. If the ionisation enthalpy and electron gain enthalpy of an element
are 275 and 86 kcal mol ~! respectively, then the electronegativity of the

element on the pauling scale is:


https://dl.doubtnut.com/l/_d1F2DRVyR0hg
https://dl.doubtnut.com/l/_7n7QbFAWwCfI

A .28

B.O

C.4

D. 26

Answer: A

o View Text Solution

100. Consider the following statement:

() The radius of an anion is larger than that of the parent atom.

() the ionization energy generally increases with increasing atomic
number in a period.

() The electronegativity of an element is the tendency of an isolated
atom to attract an electron.

Which of the above statement is/are correct?

A. 1 alone


https://dl.doubtnut.com/l/_7n7QbFAWwCfI
https://dl.doubtnut.com/l/_EMDy08Isl42f

B. Il alone

C.land Il

D. Il and Il

Answer: C

° View Text Solution

101. Which of the following order is correct for the property mentioned in
brackets?

A.8>7 > Cl™ > K" > Ca®" (lonization energy)

B.C < N < F < O (2nd ionisation energy)

C.B > Al > Ga > In > TI (Electronegativity)

D.Na™ > Lit > Mg2Jr > Be’t > AP (lonic radius)

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_EMDy08Isl42f
https://dl.doubtnut.com/l/_SqOJY0zCMGUG

102. Which among the following factors is the most important in making

fluorine, the strongest oxidation halogen?

A. Bond dissociation energy

B. lonisation enthalpy

C. Hydration enthalpy

D. Electron affinity

Answer: C

° View Text Solution

Level 3 (Passage Type)

1. The energy required to pull the most loosely bound electrons from an

atom is known as ionization potential. It is expressed in electron volts.

The value of ionization potential depends on three factors :(i) the charge


https://dl.doubtnut.com/l/_SqOJY0zCMGUG
https://dl.doubtnut.com/l/_B08XYqCWkysi
https://dl.doubtnut.com/l/_JNZCmYdqZwmj

on the nucleus (ii) the atomic radius and (iii) the screening effect of inner
electron shells.
lonization potential of Na would be numerically the same as

A. electron affinity of Na ™

B. electronegativity of Na ™

C. electron affinity of Na

D. ionization potential of Mg

Answer: A

o Watch Video Solution

2. The energy required to pull the most loosely bound electron form an
atom is known as ionizatino potential it is expressed in electron volts. The
value of ionization potntial depends on three factors: (i) the charge on
the nucleus (ii) the atomic radius and (iii) the screening effect of inner
electron shells.

Q. Which of the following elements has the least ionization potential?


https://dl.doubtnut.com/l/_JNZCmYdqZwmj
https://dl.doubtnut.com/l/_Pqcr0If7Y35F

A. Lithium

B. Cesium

C. Magnesium

D. Calcium

Answer: B

o Watch Video Solution

3. The energy required to pull the most loosely bound electron form an
atom is known as ionizatino potential it is expressed in electron volts. The
value of ionization potntial depends on three factors: (i) the charge on
the nucleus (ii) the atomic radius and (iii) the screening effect of inner
electron shells.

Q. Incorrect order of ionisation energy is:

A Pb(I.E.) > Sn(I. E.)

B.Na"(I.E.) > Mg* (I.E.)


https://dl.doubtnut.com/l/_Pqcr0If7Y35F
https://dl.doubtnut.com/l/_jC7x0aZYIZ3x

CL*(I.LE.) <O'"(I.E.)

D.Be*(I.LE.) < C* (L. E.)

Answer: C

° Watch Video Solution

4. All the elements, on the basis of long form of periodic table, can be
divided into four blocks, s,p, d and f. the ionization energies, electron
affinities, electronegativities, atomic and ionic radii and other physical
properties usually shown a regular pattern of change within a group or
along period with some irregularities.

Q. On moving from Li to F in the second period, there would be a

decrease in:

A. non-metallic property

B. atomic radius

C.ionization potential


https://dl.doubtnut.com/l/_jC7x0aZYIZ3x
https://dl.doubtnut.com/l/_u125ZwLlAcEp

D. electronegativity

Answer: B

o Watch Video Solution

5. All the elements, on the basis of long form of periodic table, can be
divided into four blocks, s,p, d and f. the ionization energies, electron
affinities, electronegativities, atomic and ionic radii and other physical
properties usually shown a regular pattern of change within a group or
along period with some irregularities.

Q. Which of the following element has the maximum value of

electronegativity?

A. Aluminium

B. Silicon

C. Phosphorus

D. Sulphur


https://dl.doubtnut.com/l/_u125ZwLlAcEp
https://dl.doubtnut.com/l/_1BFXoXw8hKqj

Answer: D

o Watch Video Solution

6. All the elements, on the basis of long form of periodic table, can be
divided into four blocks, s,p, d and f. the ionization energies, electron
affinities, electronegativities, atomic and ionic radii and other physical
properties usually shown a regular pattern of change within a group or
along period with some irregularities.

Q. Which of the following element has the maximum electron affinity?

A. Nitrogen

B. Oxygen

C. Fluorine

D. Chlorine

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1BFXoXw8hKqj
https://dl.doubtnut.com/l/_yFC7UI9MhKG1

7. The second ionisation energies are higher than the first ionisation
energies. This is mainly due to the fact that after the removal of the first
electrons, the atom changes inot mono valent position ion. In the ion, the
number of electrons decreases but the nuclear charge remains the same.
As a result of this, the remaining electrons are held more tightly by the
nucleus and it becomes difficult to remove the second electron
Therefore, the value of second ionisation energy .(IEs) , is greater than
that of the first ionisation energy (IE;) . Similarly third ionisation energy
(IEj3) is greater than that of second IEj.

Successive ionisation energy of an atom is greater than previous one,

because

b ..
A. — ratio increases
e
yY .
B. — ratio decreases
e
p . .
C. — ratio remains constant
e

D. none of these

Answer: A


https://dl.doubtnut.com/l/_yFC7UI9MhKG1
https://dl.doubtnut.com/l/_Pzh9G5VSl2gF

o Watch Video Solution

8. The second ionisation energies are higher than the first ionisation
energies. This is mainly due to the fact that after the removal of the first
electrons, the atom changes inot mono valent position ion. In the ion, the
number of electrons decreases but the nuclear charge remains the same.
As a result of this, the remaining electrons are held more tightly by the
nucleus and it becomes difficult to remove the second electron
Therefore, the value of second ionisation energy .(IE5) , is greater than
that of the first ionisation energy (IE;) . Similarly third ionisation energy
(IE3) is greater than that of second IEj.

Correct order of ionisation potential of coinage metals is :

A Au > Ag > Cu

B.Cu > Ag > Au

C.Au > Cu > Ag

D.Ag > Cu > Au


https://dl.doubtnut.com/l/_Pzh9G5VSl2gF
https://dl.doubtnut.com/l/_AdatSwze8jvz

Answer: C

° Watch Video Solution

9. The second ionisation energies are higher than the first ionisation
energies. This is mainly due to the fact the after the removal of the first
electron, the atom changes into monovalent positive ion. In the ion, the
number of electrons decreases but the nuclear charge remains the same.
as a result of this, the remaining electrons are held more tightly by the
nucleus and it becomes difficult to remove the second electron. therefore,
the value of second ionisation energy. (IE,), is greater than that of the
first ionisatio energy (IEj). similarly third ionisation energy (IEj3) is
greater than that of second I E.

Q. IE; and IE, of Mg metal are 178 and 348 kcal/mol respectively. the
energy required for the given reaction is:

Mg(s) — Mg™? + 2~

A. + 170 kcal/mol

B. +526 kcal/mol


https://dl.doubtnut.com/l/_AdatSwze8jvz
https://dl.doubtnut.com/l/_9P5ntNSNLfxl

C. —170 kcal/mol

D. — 526 kcal/mol

Answer: B

o Watch Video Solution

10. Nuclear charge actually experienced by an electron is termed as
effective nuclear charge. The effective nuclear charge Z* actuall
ydepends on type of shell and orbital in which electron is actually
present. The relative extent to which the various orbitals penetrate the
electron clouds of other orbitals is

s > p > d > f(for the same value of n)

The phenomenon in which penultimate shell electrons act as screen or
sheild in between nucleus and valence shell electrons and thereby
reducing nuclear charge is known as shielding effect. the penultimate
shell electrons repel the valence shell electron to keep them loosely held
with nucleus. it is thus evident that more is the shielding effect, lesser is

the effective nuclear charge and lesser is the ionization energy.


https://dl.doubtnut.com/l/_9P5ntNSNLfxl
https://dl.doubtnut.com/l/_VknLFzHY8U8G

Q. Which of the following valence electron experience maximum effective

nuclear charge?

Answer: D

o Watch Video Solution

1. Nuclear charge actually experienced by an electron is termed as
effective nuclear charge The effective nuclear Z* actually depends on
type of shell and orbital in which electron is actually present. The relative
extent to which the various orbitals penetrate is .s > p > d > f (for the
same value of n)

The phenomenon in which penulitmate shell electrons act as screen or

shield in between nucleus adn valence shell electrons and there by


https://dl.doubtnut.com/l/_VknLFzHY8U8G
https://dl.doubtnut.com/l/_zMBCZFivnU4f

reducing nuclear charge is known as sheilding effect. The penultimate
shell electrons repel the valence shell electron to keep them loosely held
with nucleus . It is thus evident that more is the shielding effect, lesser is
the effective nuclear charge and lesser is the ionizatio energy.
Which of the following is not concerned to effective nuclear charge?

A. Higher ionization potential of carbon than boron

B. Higher ionization potential of magnesium than aluminium

C. Higher values of successive ionization energy

D. Higher electronegativity of higher oxidation state

Answer: B

° Watch Video Solution

12. Nuclear charge actually experienced by an electron is termed as
effective nuclear charge. The effective nuclear charge Z* actuall
ydepends on type of shell and orbital in which electron is actually

present. The relative extent to which the various orbitals penetrate the


https://dl.doubtnut.com/l/_zMBCZFivnU4f
https://dl.doubtnut.com/l/_1gSZXYlIpvkA

electron clouds of other orbitals is

s > p > d > f(for the same value of n)

The phenomenon in which penultimate shell electrons act as screen or
sheild in between nucleus and valence shell electrons and thereby
reducing nuclear charge is known as shielding effect. the penultimate
shell electrons repel the valence shell electron to keep them loosely held
with nucleus. it is thus evident that more is the shielding effect, lesser is
the effective nuclear charge and lesser is the ionization energy.

Q. lonzation enegy is not influenced by:

A. Size of atom

B. Effective nuclear charge

C. Electrons present in inner shell

D. Change in entropy

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1gSZXYlIpvkA

13. lonization energies of five elements in kcal/mol are given below:

Adoam 1 It m
P 300 549 920
Q 9 734 1100
R 118 1091 1652
s 176 347 1848
T 497 947 1500

Q. Which element is a noble gas?

AP
B. T
C.R

D.S

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GIt3IeAGcCoU

14. lonization energies of five elements in kcal/mol are given below:

A Boum 1 i i
P ) Lag B2
q vy T ) 100
R L8 L9 1652
5 178 347 1848
r 497 947 1500

Q. Which element form stable unipositve ion?

AP

B.Q
C.R

D.T

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_Wb0RDGHw4xj7

15. lonization energies of five elements in kcal/mol are given below:

Atom l n m
p 300 549 920
Q 99 734 1100
R 118 1091 1652
3 176 347 1848
T 497 947 1500

Q. The element having most stable oxidation state +2 is?

A.Q

B.R

C.S

D.T

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0metPQ72A8ZH

16. lonization energies of five elements in kcal/mol are given below:

Alom l 1 m
P 3o 549 920
Q w9 734 1100
R 114 1091 1652
3 176 M7 1548
r 497 947 1500

Q. Which is a non-metal (excluding noble gas)?

AP

B.Q

C.R

D.S

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TCAx6zld8imi

17. lonization energies of five elements in kcal/mol are given below:

Arom I ] m
P 300 549 920
Q 99 734 1100
R 118 1091 1652
s 176 347 1848
T 497 947 1500

Q. If Q reacts with fluorine and oxyge, the molecular formula of fluoride

and oxide will be respectively:

A QF3, Q2Q3
B.QF, Q20
C.QF3, QO

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_a4Anwhm8miz1

18. lonization energies of five elements in kcal/mol are given below:

Atom | " m
P 300 549 920
Q 99 734 1100
R 118 1091 1652
s 176 347 1848
T 497 P47 1500

Q. Which of the following pair represents elements of same group?

A.QR
B.PQ
C.PS

D.Q,S

Answer: A

o Watch Video Solution

19. The I.LE4. And the I. E5 in k) mol ' of a few elements designated by

P,Q,R,S are shown below:


https://dl.doubtnut.com/l/_Ig4Mtu1klzqi
https://dl.doubtnut.com/l/_Yt89Odhx8k4S

Atom LE, LE,

P 2372 5251
Q 520 7300
R 900 1760
s 1680 3380

Based on the above information, answer the following questions.

Q. Which of the element is likely to be reactive metal?

AP

B.Q
C.R

D.S

Answer: B

o Watch Video Solution

20. The L.E;. And the I. E, in k) mol ! of a few elements designated by

P,Q,R,S are shown below:


https://dl.doubtnut.com/l/_Yt89Odhx8k4S
https://dl.doubtnut.com/l/_JN6VmCwSQpgN

Atom LE, LE,

P 2372 5251
Q 520 7300
R 900 1760
s 1680 3380

Based on the above information, answer the following questions.
Q. Which of the element is likely to be reactive metal?
AP

B.Q
C.R

D.S

Answer: D

o Watch Video Solution

21. The I.LE;. And the I. E, in k] mol ! of a few elements designated by

P,Q,R,S are shown below:


https://dl.doubtnut.com/l/_JN6VmCwSQpgN
https://dl.doubtnut.com/l/_n6i2hK1eVwFg

Atom LE., LE,
P 2372 5251
Q 520 7300
R 900 1760
s 1680 1380

Based on the above information, answer the following questions.

Q. Which represents a noble gas?

B.Q

C.R

D.S

Answer: A

° Watch Video Solution

22. The I.E;. And the I. E, in k) mol ! of a few elements designated by

P,Q,R,S are shown below:


https://dl.doubtnut.com/l/_n6i2hK1eVwFg
https://dl.doubtnut.com/l/_iVeGwRfM4OSI

Atom LE., LE,
P 2372 5251
Q 520 7300
R 900 1760
s 1680 1380

Based on the above information, answer the following questions.

Q. Which represents a noble gas?

B.Q
C.R

D.S

Answer: C

o Watch Video Solution

23. Elements with their electronic configuration are given below:
Answer the following questions: Itbr. I: 15?25

Il: 13223221)6


https://dl.doubtnut.com/l/_iVeGwRfM4OSI
https://dl.doubtnut.com/l/_A1KApxqba9en

I: 1322322196332

v 1322322p3

V: 1322322p5

Q. The elements with highest LE. is:
Al
B. 1l

c.

D.V

Answer: C

o Watch Video Solution

24. Elements with their electronic configuration are given below:
Answer the following questions: Itbr. I: 15?252

Il: 1322.5'221)6

I: 1522322196352

v 13223221)3


https://dl.doubtnut.com/l/_A1KApxqba9en
https://dl.doubtnut.com/l/_pFOCg9weJ174

V: 1322322p5

Q. The element with lowest electron gain enthalpy is:
Al
B. I
c.i

D. IV

Answer: B

o Watch Video Solution

25. Elements with their electronic configuration are given below:
Answer the following questions: Itbr. I: 15?252

Il: 13223221)6

I: 1522322196352

v 13223221)3

V: 13223221)5

Q. The most ionic compound will be formed between :


https://dl.doubtnut.com/l/_pFOCg9weJ174
https://dl.doubtnut.com/l/_QlWTDyJO0kfz

A.land IV

B.land V

C.llland IV

D.llland V

Answer: D

o Watch Video Solution

26. Elements with their electronic configuration are given below:
Answer the following questions: Itbr. I: 15?252

Il: 13223221)6

I: 1522322196352

v 13223221)3

V: 13223221)5

Q. Which of the following is the correct order of increasing size?

Al <III<IV <V


https://dl.doubtnut.com/l/_QlWTDyJO0kfz
https://dl.doubtnut.com/l/_785WffxFtxeL

BV <IV<III<I

CI<IV <V <III

DV <IV < I < III

Answer: D

o Watch Video Solution

27. ).C. Slater proposed an empirical constant that represents the
cumulative extent to which the other electrons of an atom shield (or
screen) any particular electron from the nuclear charge. Thus, slater's
screening contantoisas: Z* = Z — o

Here, Z is the atomic number of the atom, and hence is equal to the
actual number of protons in the atom. the parameter Z* is the effective
nuclear charge, which according to is smaller than Z, since the electron in
question is screened (shielded) from Z by an amount o. Conversely, an
electron that is well shielded from the nuclear charge Z experiences a

small effective nuclear charge Z*.


https://dl.doubtnut.com/l/_785WffxFtxeL
https://dl.doubtnut.com/l/_ApP1fUCyiK07

The value of o for any one electron in a given electron configuration (i.e.,
in the presence of the other electrons of the atom in question) is
calculated using a set of empirical rules developed by slater. according to
these rules, the value of o for the electron in question is the cumulative
total provided by the various other electrons of the atom.
Q. The effective nuclear charge at the periphery of chromium atom [Z=24]:
A.4.25
B.2.6

C.36

D.1.21

Answer: B

o Watch Video Solution

28. ).C. Slater proposed an empirical constant that represents the
cumulative extent to which the other electrons of an atom shield (or

screen) any particular electron from the nuclear charge. Thus, slater's


https://dl.doubtnut.com/l/_ApP1fUCyiK07
https://dl.doubtnut.com/l/_JKSb5mt77Qpq

screening contantoisas: Z* = Z — o

Here, Z is the atomic number of the atom, and hence is equal to the
actual number of protons in the atom. the parameter Z ™ is the effective
nuclear charge, which according to is smaller than Z, since the electron in
question is screened (shielded) from Z by an amount o. Conversely, an
electron that is well shielded from the nuclear charge Z experiences a
small effective nuclear charge Z*.

The value of o for any one electron in a given electron configuration (i.e.,
in the presence of the other electrons of the atom in question) is
calculated using a set of empirical rules developed by slater. according to
these rules, the value of o for the electron in question is the cumulative
total provided by the various other electrons of the atom.

Q. Which of the following statement is correct?

A.A 4s-orbital is filled earlier than a 3d-orbital because, Z* for

3d > Z* for 4s.

B.A 4s-orbital is filled earlier than a 3d-orbital because, Z* for

4s > Z* for 3d


https://dl.doubtnut.com/l/_JKSb5mt77Qpq

C.The effective nuclear charge for 3d-and 4s-orbitals are same, but

energy of 3d-orbital becomes higher.

D.The effective nuclear charge for 3d and 4s-orbitals are same but,

energy of 4s-orbital becomes higher.

Answer: B

° Watch Video Solution

29. ).C. Slater proposed an empirical constant that represents the
cumulative extent to which the other electrons of an atom shield (or
screen) any particular electron from the nuclear charge. Thus, slater's
screening contantoisas: Z2* = Z — o

Here, Z is the atomic number of the atom, and hence is equal to the
actual number of protons in the atom. the parameter Z* is the effective
nuclear charge, which according to is smaller than Z, since the electron in
question is screened (shielded) from Z by an amount o. Conversely, an

electron that is well shielded from the nuclear charge Z experiences a


https://dl.doubtnut.com/l/_JKSb5mt77Qpq
https://dl.doubtnut.com/l/_CoMVbcpwNc3v

small effective nuclear charge Z*.

The value of o for any one electron in a given electron configuration (i.e.,
in the presence of the other electrons of the atom in question) is
calculated using a set of empirical rules developed by slater. according to
these rules, the value of o for the electron in question is the cumulative
total provided by the various other electrons of the atom.

Q. According to Slater's rule, order of effective nuclear charge (Z*) for

last electron in case of Li, Na and K.

A.Li > Na > K
B.K > Na > Lz
C.Na > 1t > K

D. K = Na > Li

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CoMVbcpwNc3v

30. Metals have few electrons in their valence shell while non-metals
generally have more electrons in their valence shell. Metallic character is
closely related to atomic radius and ionisation enthalpy. Metallic
character increases from top to bottom in a group and decreases from
let to right in a period of periodic table. metallic character is inversely
related to electronegativity of element.

Q. The electronegativity of the following elements increase in the order:

A.GN,Si, P

B.N,Si,C, P

C.Si,P,C,N

D.P,SI,N,C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ua1gph7b4Apq

31. Considering the elements B, Al, Mg and K, the correct order of their

metallic character is

AB>Al> Mg>K

B.Al > K > B > Mg

C.Mg> Al > K > B

D.K > Mg > Al > B

Answer: D

o Watch Video Solution

32. Metals have few electrons in their valence shell while non-metals
generally have more electrons in their valence shell. Metallic character is
closely related to atomic radius and ionisation enthalpy. Metallic
character increases from top to bottom in a group and decreases from
let to right in a period of periodic table. metallic character is inversely

related to electronegativity of element.


https://dl.doubtnut.com/l/_sMIaMK4aLbWs
https://dl.doubtnut.com/l/_9TBNJEwk5IJH

Q.3 Ny /2 atoms of X(_g) by energy Es. hence, ionisation potential and

electron affinity of X, are: (Ny=Avogadro's number)

3N, 3N,

3N, 2N,

2N, ' 2N,

p, 3B 2E»

2N, ' 3N,
Answer: B

o Watch Video Solution

33. The value of four quantum number for the last electron of atom of
element 'X' are n=7, I=1,m=+1 and s=+1/2 or -1/2 and vlaue of spin magnetic
momentum for element 'X' is zero element 'X' has two isotopes (I)
24X and (1) 2X.

Q. The incorrect statement regarding element 'X' is:

A. Element 'X' belongs to 18th group


https://dl.doubtnut.com/l/_9TBNJEwk5IJH
https://dl.doubtnut.com/l/_8RHYGhWt3MuQ

B. Number of unpaired electrons in element 'X' is zero

C. Atomic number of element 'X' is 118

D. X' is representative element

Answer: D

o Watch Video Solution

34. The value of four quantum number for the last electron of atom of
element 'X' are n=7, [=1,m=+1 and s=+1/2 or -1/2 and value of spin magnetic
momentum for element 'X' is zero element 'X' has two isotopes ()
2X and () 5X.
Q. The value of A and B respectively are:

A. 118 and 136

B. 218 and 236

C.236 and 254

D. 226 and 244


https://dl.doubtnut.com/l/_8RHYGhWt3MuQ
https://dl.doubtnut.com/l/_oqx6N1lz6ivO

Answer: C

o Watch Video Solution

35. The value of four quantum number for the last electron of atom of
element 'X' are n=7, I=1,m=+1 and s=+1/2 or -1/2 and vlaue of spin magnetic
momentum for element 'X' is zero element 'X' has two isotopes (I)
24X and () 2X.

Q. The possible value of all four quantum numbers for 90th electron of

atom of element 'X' is:

< 3

| VA
—_
~
[\]

3

—1 +1/2

0 +1/2
S
—2 —1/2

W =~ O TN TN
3 3
VA

S o3 s o 3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oqx6N1lz6ivO
https://dl.doubtnut.com/l/_ZXzIblhjfkmm

B

36.

There are nine elements A to I. these are belongs to p-block element
other than halogen. If atomic number of B is average of atomic number of
A and C and atomic number of E is average of atomic number of D and F
and atomic number of H is average of atomic number of G and I. atomic
numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of
C,land F are greater than A, G and D respectively.

Q. The incorrect order is:

A. F' > E: Second ionisation energy

B. B > C: Z, s on valence shell


https://dl.doubtnut.com/l/_ZXzIblhjfkmm
https://dl.doubtnut.com/l/_E6Vb39pHHLYH

C.I > H:First ionisation energy

D.C > F > E, Electronegativity

Answer: C

o View Text Solution

B

37.
There are nine elements A to I. these are belongs to p-block element
other than halogen. If atomic number of B is average of atomic number of

A and C and atomic number of E is average of atomic number of D and F


https://dl.doubtnut.com/l/_E6Vb39pHHLYH
https://dl.doubtnut.com/l/_Nm9MTsMv7pwn

and atomic number of H is average of atomic number of G and I. atomic
numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of
C,land F are greater than A, G and D respectively.
Q. The correct statement is:
A. 4+ 5 oxidation state of H is more stable than its +3 oxidation state.
B. G2 is better oxidisng agent than G* "

C. + 3 oxidation state of E is more stable than its +5 oxidation state

D. lonisation energy of G is greater than that of "Tin".

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_Nm9MTsMv7pwn

B

38.

There are nine elements A to I. these are belongs to p-block element
other than halogen. If atomic number of B is average of atomic number of
A and C and atomic number of E is average of atomic number of D and F
and atomic number of H is average of atomic number of G and I. atomic
numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of
C,land F are greater than A, G and D respectively.

Q. Which of the following statement is incorrect?

A. B5C} is acidic in nature

B. AC5 is acidic in nature


https://dl.doubtnut.com/l/_IiuuxaNkiyal

C. F(C}5 is basic in nature

D. GC) is amphoteric in nature

Answer: C

° View Text Solution

39.If P, Q, R and S are elements of 3rd period of p-block in modern
periodic table,among these one element is metal and rest are non-metals
and their order of electronegativity is given as:
P<QQ<R<S
In which of the following linkage release of H " is relatively more easier?
A. P-O-H
B.S-O-H
C.Q-O-H

D.R-O-H

Answer: B


https://dl.doubtnut.com/l/_IiuuxaNkiyal
https://dl.doubtnut.com/l/_a3lBqKI1tBV3

° Watch Video Solution

40. If P, Q, R and S are elements of 3rd period of p-block in modern
periodic table, among these one element is metal and rest are non-metals
and their order of electronegativity is given as:

P<QQ<R<S

Which element is expected to form amphoteric oxide?

AP

B.Q
C.R

D.S

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_a3lBqKI1tBV3
https://dl.doubtnut.com/l/_VqF3taatNS1K

41. If P, Q, R and S are elements of 3rd period of p-block in modern
periodic table,among these one element is metal and rest are non-metals
and their order of electronegativity is given as:

P<QQ<R<S

Q. Chloride compound of which element is hypovalent?

AS

B.Q
C.R

D.P

Answer: D

o Watch Video Solution

42. Consider the following elements with their electronegativity value:

Element A B (C D
Electronegativity (Pauling scale) 3.77 1.12 2.25 3.10

Q. Incorrect statements is:


https://dl.doubtnut.com/l/_EzcShzXGOKIl
https://dl.doubtnut.com/l/_gczZQXd1x5Oe

A. AOH is more acidic than DOH
B. BOH is more basic than COH
C. AB' molecule is predominantly ionic

D. D-OH' bond is more weaker than 'B-OH' bond in polar solvent

Answer: D

o View Text Solution

43. Consider the following elements with their electronegativity value:

Element A B C D
Electronegativity (Pauling scale) 3.77 1.12 2.25 3.10

Q. Select correct statement:

A. Oxide of element D is more acidic than that of A
B. Oxides of elements C and D are basic in nature
C. Oxide of element B is acidic in nature

D. BOH is more basic than H,O


https://dl.doubtnut.com/l/_gczZQXd1x5Oe
https://dl.doubtnut.com/l/_IAHYaJiV8e4s

Answer: D

° View Text Solution

44. In the modern period table, elements are arranged in order of
increasing atomic number which is related to the electric configuration.
Depending upon the type of orbitals receving the last electron, the
elements in the periodic table have been diviced into four blocks viz s,p,d
and f. The modern periodic table consists of 7 periods and 18 groups.
Each period being with the filling of a new energy shell. In according with
the Aufbua principle, the seven periods (1 to 7) have 2,8, 8, 18, 18, 32 and
32 elements respectively. The seventh period is still incomplete. To avoid
the periodic table being too long, the two series of f-block elements,
called lanthanodis and actionoids are placed at the bottom of the main
body of the periodic table.

Which of the elements whose atomic numbers are given below, cannot be
accommodated in the present set up of the long form of the pariodic

table?


https://dl.doubtnut.com/l/_IAHYaJiV8e4s
https://dl.doubtnut.com/l/_4X6TOEiiNJ98

A. 107

B. 118

C.126

D. 102

Answer: C

o Watch Video Solution

45. In the modern period table, elements are arranged in order of
increasing atomic number which is related to the electric configuration.
Depending upon the type of orbitals receving the last electron, the
elements in the periodic table have been diviced into four blocks viz s,p,d
and f. The modern periodic table consists of 7 periods and 18 groups.
Each period being with the filling of a new energy shell. In according with
the Aufbua principle, the seven periods (1 to 7) have 2,8, 8, 18, 18, 32 and
32 elements respectively. The seventh period is still incomplete. To avoid

the periodic table being too long, the two series of f-block elements,


https://dl.doubtnut.com/l/_4X6TOEiiNJ98
https://dl.doubtnut.com/l/_zz1JlrIq3EM0

called lanthanodis and actionoids are placed at the bottom of the main
body of the periodic table.
The element with atomic number 57 belongs to:

A. s-block

B. p-block

C.d-block

D. f-block

Answer: C

o Watch Video Solution

46.The energy required to pull the most loosely bound electron form an
atom is known as ionizatino potential it is expressed in electron volts. The
value of ionization potntial depends on three factors: (i) the charge on
the nucleus (ii) the atomic radius and (iii) the screening effect of inner
electron shells.

Q. lonization potential of Na would be numerically the same as:


https://dl.doubtnut.com/l/_zz1JlrIq3EM0
https://dl.doubtnut.com/l/_mwzfAHnJmZTY

A. electron affinity of Na ™
B. electronegativity of Na ™
C. electron affinity of Na

D. ionization potential of Mg

Answer: A

o View Text Solution

47.The energy required to pull the most loosely bound electron form an
atom is known as ionizatino potential it is expressed in electron volts. The
value of ionization potntial depends on three factors: (i) the charge on
the nucleus (ii) the atomic radius and (iii) the screening effect of inner
electron shells.

Q. Which of the following elements has the least ionization potential?

A. Lithium

B. Cesium


https://dl.doubtnut.com/l/_mwzfAHnJmZTY
https://dl.doubtnut.com/l/_mGWlIshYRXP2

C. Magnesium

D. Calcium

Answer: B

° View Text Solution

48.The energy required to pull the most loosely bound electron form an
atom is known as ionizatino potential it is expressed in electron volts. The
value of ionization potntial depends on three factors: (i) the charge on
the nucleus (ii) the atomic radius and (iii) the screening effect of inner
electron shells.

Q. Incorrect order of ionisation energy is:
A.Pb(I.E.) > Sn(I.E.)
B.Na"(I.E.) > Mg"(I.E.)

CL"(I.E.) <O"(I.E.)

D.Be* (I.E.) < C* (L. E.)


https://dl.doubtnut.com/l/_mGWlIshYRXP2
https://dl.doubtnut.com/l/_7zeLQJB0BdPB

Answer: C

o View Text Solution

49. All the elements, on the basis of long form of periodic table, can be
divided into four blocks, s,p, d and f. the ionization energies, electron
affinities, electronegativities, atomic and ionic radii and other physical
properties usually shown a regular pattern of change within a group or
along period with some irregularities.

Q. On moving from Li to F in the second period, there would be a

decrease in :

A. non-metallic property

B. atomic radius

C. ionization potential

D. electronegativity

Answer: B

[ & o |


https://dl.doubtnut.com/l/_7zeLQJB0BdPB
https://dl.doubtnut.com/l/_7Cjb9WQbbZnR

[ @ View Text Solution J

50. All the elements, on the basis of long form of periodic table, can be
divided into four blocks, s,p, d and f. the ionization energies, electron
affinities, electronegativities, atomic and ionic radii and other physical
properties usually shown a regular pattern of change within a group or
along period with some irregularities.

Q. Which of the following element has the maximum value of

electronegativity?

A. Aluminium

B. Silicon

C. Phosphorus

D. Sulphur

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_7Cjb9WQbbZnR
https://dl.doubtnut.com/l/_jPJJ2iyxA6c0
https://dl.doubtnut.com/l/_iOsc0z8SxnpK

51. All the elements, on the basis of long form of periodic table, can be
divided into four blocks, s,p, d and f. the ionization energies, electron
affinities, electronegativities, atomic and ionic radii and other physical
properties usually shown a regular pattern of change within a group or
along period with some irregularities.

Q. Which of the following element has the maximum electron affinity?

A. Nitrogen

B. Oxygen

C. Fluorine

D. Chlorine

Answer: D

o View Text Solution

52. The second ionisation energies are higher than the first ionisation
energies. This is mainly due to the fact the after the removal of the first

electron, the atom changes into monovalent positive ion. In the ion, the


https://dl.doubtnut.com/l/_iOsc0z8SxnpK
https://dl.doubtnut.com/l/_Qhf3O0nucg4i

number of electrons decreases but the nuclear charge remains the same.
as a result of this, the remaining electrons are held more tightly by the
nucleus and it becomes difficult to remove the second electron. therefore,
the value of second ionisation energy. (IE,), is greater than that of the
first ionisatio energy (IEj). similarly third ionisation energy (IEj3) is
greater than that of second I E;.

Q. Successive ionisation energy of an atom is greater than previous one,

because:

p .
A. — ratio Increases
€

p )
B. — ratio decreases
e

b . .
C. — ratio remains constant
e

D. none of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Qhf3O0nucg4i

53. The second ionisation energies are higher than the first ionisation
energies. This is mainly due to the fact the after the removal of the first
electron, the atom changes into monovalent positive ion. In the ion, the
number of electrons decreases but the nuclear charge remains the same.
as a result of this, the remaining electrons are held more tightly by the
nucleus and it becomes difficult to remove the second electron. therefore,
the value of second ionisation energy. (IE,), is greater than that of the
first ionisatio energy (IE;). similarly third ionisation energy (IEj3) is
greater than that of second I E;.

Q. Correct order of ionisation potential of coinage metals is:

A Au > Ag > Cu
B.Cu > Ag > Au
C.Au > Cu > Ag

D.Ag > Cu > Au

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_Hk20vEVJrEVc

54. The second ionisation energies are higher than the first ionisation
energies. This is mainly due to the fact the after the removal of the first
electron, the atom changes into monovalent positive ion. In the ion, the
number of electrons decreases but the nuclear charge remains the same.
as a result of this, the remaining electrons are held more tightly by the
nucleus and it becomes difficult to remove the second electron. therefore,
the value of second ionisation energy. (IE,), is greater than that of the
first ionisatio energy (IEj). similarly third ionisation energy (IEj3) is
greater than that of second I E.

Q. IE; and IE, of Mg metal are 178 and 348 kcal/mol respectively. the
energy required for the given reaction is:

Mg(s) — Mg*? + 2~
A. +170 kcal/mol
B. +526 kcal/mol

C. —170 kcal/mol

D. — 526 kcal/mol


https://dl.doubtnut.com/l/_Hk20vEVJrEVc
https://dl.doubtnut.com/l/_vSiKYnxbsya9

Answer: B

° View Text Solution

55. Nuclear charge actually experienced by an electron is termed as
effective nuclear charge. The effective nuclear charge Z* actuall
ydepends on type of shell and orbital in which electron is actually
present. The relative extent to which the various orbitals penetrate the
electron clouds of other orbitals is

s > p > d > f(for the same value of n)

The phenomenon in which penultimate shell electrons act as screen or
sheild in between nucleus and valence shell electrons and thereby
reducing nuclear charge is known as shielding effect. the penultimate
shell electrons repel the valence shell electron to keep them loosely held
with nucleus. it is thus evident that more is the shielding effect, lesser is
the effective nuclear charge and lesser is the ionization energy.

Q. Which of the following valence electron experience maximum effective

nuclear charge?


https://dl.doubtnut.com/l/_vSiKYnxbsya9
https://dl.doubtnut.com/l/_dXvTkRmR9WSo

Answer: D

o View Text Solution

56. Nuclear charge actually experienced by an electron is termed as
effective nuclear charge. The effective nuclear charge Z* actuall
ydepends on type of shell and orbital in which electron is actually
present. The relative extent to which the various orbitals penetrate the
electron clouds of other orbitals is

s > p > d > f(for the same value of n)

The phenomenon in which penultimate shell electrons act as screen or
sheild in between nucleus and valence shell electrons and thereby

reducing nuclear charge is known as shielding effect. the penultimate


https://dl.doubtnut.com/l/_dXvTkRmR9WSo
https://dl.doubtnut.com/l/_3KOYwshtuady

shell electrons repel the valence shell electron to keep them loosely held
with nucleus. it is thus evident that more is the shielding effect, lesser is
the effective nuclear charge and lesser is the ionization energy.
Q. Which of the following is not concerned to effective nuclear charge?

A. Higher ionization potential of carbon than boron

B. Higher ionization potential of magnesium than aluminium

C. Higher values of successive ionization energy

D. Higher electronegativity of higher oxidation state

Answer: B

° View Text Solution

57. Nuclear charge actually experienced by an electron is termed as
effective nuclear charge. The effective nuclear charge Z* actuall
ydepends on type of shell and orbital in which electron is actually
present. The relative extent to which the various orbitals penetrate the

electron clouds of other orbitals is


https://dl.doubtnut.com/l/_3KOYwshtuady
https://dl.doubtnut.com/l/_HuxI1mENOdVV

s > p > d > f(for the same value of n)

The phenomenon in which penultimate shell electrons act as screen or
sheild in between nucleus and valence shell electrons and thereby
reducing nuclear charge is known as shielding effect. the penultimate
shell electrons repel the valence shell electron to keep them loosely held
with nucleus. it is thus evident that more is the shielding effect, lesser is
the effective nuclear charge and lesser is the ionization energy.

Q. lonzation enegy is not influenced by:

A. Size of atom
B. Effective nuclear charge
C. Electrons present in inner shell

D. Change in entropy

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_HuxI1mENOdVV

58. lonization energies of five elements in kcal/mol are given below:

Arom | It m
P ) 549 920
Q 9 734 1100
R 118 1091 1652
s 176 347 1848
T 497 947 1500

Q. Which element is a noble gas?

AP
B. T
C.R

D.S

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_yOFeNEHoO3Us

59. lonization energies of five elements in kcal/mol are given below:

A b 1 i m
P ) Lag D26
9 v T ) 100
R L8 L9 1652
5 178 347 1848
T 497 947 1500

Q. Which element form stable unipositve ion?

A.P
B.Q
C.R

D.T

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_EWwKbBd2Yu94

60. lonization energies of five elements in kcal/mol are given below:

Atom l n m
P 300 549 920
Q 99 734 1100
R 118 1091 1652
3 176 347 1548
T 497 947 1500

Q. The element having most stable oxidation state +2 is?

A.Q

B.R
C.S

D.T

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_pTCoMgdjVS7E

61. lonization energies of five elements in kcal/mol are given below:

Alom l 1 m
r W0 549 920
Q 9 734 1100
R 118 1091 1652
s 176 347 1848
r 497 947 1500

Q. Which is a non-metal (excluding noble gas)?

AP

B.Q
C.R

D.S

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Z1dEjmujm3GT

62. lonization energies of five elements in kcal/mol are given below:

Arom I ] m
P 300 549 920
Q 99 734 1100
R 118 1091 1652
s 176 347 1848
T 497 947 1500

Q. If Q reacts with fluorine and oxyge, the molecular formula of fluoride

and oxide will be respectively:

A QF3s, Q203
B.QF, Q20
C.QF>, QO

D. none of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_ZNz7ECPE9gO4

63. lonization energies of five elements in kcal/mol are given below:

Atom I " m
P 300 549 920
Q 99 734 1100
R 118 1091 1652
s 176 347 1848
T 497 P47 1500

Q. Which of the following pair represents elements of same group?

A.QR

B.PQ

C.PS

D.Q,S

Answer: A

o View Text Solution

64. The I.LE;. And the I. E5 in kJ mol ! of a few elements designated by

P,Q,R,S are shown below:


https://dl.doubtnut.com/l/_Nj2EYBM4hiRs
https://dl.doubtnut.com/l/_No5TzxQiOJZO

Atom LE, LE,

P 2372 5251
Q 520 7300
R 900 1760
s 1680 3380

Based on the above information, answer the following questions.

Q. Which of the element is likely to be reactive metal?

AP

B.Q
C.R

D.S

Answer: B

o View Text Solution

65. The I.E;. And the I. E, in k) mol ~! of a few elements designated by

P,Q,R,S are shown below:


https://dl.doubtnut.com/l/_No5TzxQiOJZO
https://dl.doubtnut.com/l/_Z4xQa6irA9uH

Atom LE.l |-E;
, 2372 5251
Q 520 7300
R 900 1760
s 1680 3380

Based on the above information, answer the following questions.

Q. Which of the elements is likely to be reactive non-metal?

AP

B.Q
C.R

D.S

Answer: D

o View Text Solution

66. The I.F;. And the I. E, in k) mol ! of a few elements designated by

P,Q,R,S are shown below:


https://dl.doubtnut.com/l/_Z4xQa6irA9uH
https://dl.doubtnut.com/l/_yPTSeqcmnBYk

Atom LE., LE,
P 2372 5251
Q 520 7300
R 900 1760
s 1680 1380

Based on the above information, answer the following questions.

Q. Which represents a noble gas?

B.Q

C.R

D.S

Answer: A

o View Text Solution

67. The I.LE;. And the I. E, in k] mol ! of a few elements designated by

P,Q,R,S are shown below:


https://dl.doubtnut.com/l/_yPTSeqcmnBYk
https://dl.doubtnut.com/l/_TBkytvRpy0Js

Atom LE, LE,

P 171 5251
Q@ 520 7300
R 900 1760
3 1680 3380

Based on the above information, answer the following questions.

Q. Which of the above elements forms a stable binary halide of the
formula M X5?

A. P

B.Q

C.R

D.S

Answer: C

° View Text Solution

68. Elements with their electronic configuration are given below:

Answer the following questions: II: 15%2s22p°



https://dl.doubtnut.com/l/_TBkytvRpy0Js
https://dl.doubtnut.com/l/_aHQQk8n6YK6O

I: 1322322196332

v 1322322p3

V: 1322322p5

Q. The elements with highest LE. is:
Al
B. 1l

c.

D.V

Answer: C

o View Text Solution

69. Elements with their electronic configuration are given below:
Answer the following questions: II: 15225%2p°
I: 1522322196352

v 13223221)3


https://dl.doubtnut.com/l/_aHQQk8n6YK6O
https://dl.doubtnut.com/l/_P9cj8iC7kGA0

V: 1322322p5

Q. The element with lowest electron gain enthalpy is:
Al
B. I
c.i

D. IV

Answer: B

o View Text Solution

70. Elements with their electronic configuration are given below:
Answer the following questions: II: 15225%2p°

I: 1522322196352

v 13223221)3

V: 13223221)5

Q. The most ionic compound will be formed between :


https://dl.doubtnut.com/l/_P9cj8iC7kGA0
https://dl.doubtnut.com/l/_hTZzaLKq6aaj

A.land IV

B.land V

C.llland IV

D.llland V

Answer: D

o View Text Solution

71. Elements with their electronic configuration are given below:
Answer the following questions: II: 15225%2p°

I: 1522322196352

v 13223221)3

V: 13223221)5

Q. Which of the following is the correct order of increasing size?

Al <III<IV <V

BV <IV<III<I


https://dl.doubtnut.com/l/_hTZzaLKq6aaj
https://dl.doubtnut.com/l/_PjhpkcCbPihV

CI<IV <<V <<III

DV <1V < I < III

Answer: D

o View Text Solution

72. ).C. Slater proposed an empirical constant that represents the
cumulative extent to which the other electrons of an atom shield (or
screen) any particular electron from the nuclear charge. Thus, slater's
screening contantoisas: Z* = Z — o

Here, Z is the atomic number of the atom, and hence is equal to the
actual number of protons in the atom. the parameter Z ™ is the effective
nuclear charge, which according to is smaller than Z, since the electron in
question is screened (shielded) from Z by an amount o. Conversely, an
electron that is well shielded from the nuclear charge Z experiences a
small effective nuclear charge Z*.

The value of o for any one electron in a given electron configuration (i.e.,

in the presence of the other electrons of the atom in question) is


https://dl.doubtnut.com/l/_PjhpkcCbPihV
https://dl.doubtnut.com/l/_nmLrnc2Mx5OK

calculated using a set of empirical rules developed by slater. according to
these rules, the value of o for the electron in question is the cumulative
total provided by the various other electrons of the atom.
Q. The effective nuclear charge at the periphery of chromium atom [Z=24]:
A.4.25
B.2.6

C.36

D.1.21

Answer: B

o View Text Solution

73. J.C. Slater proposed an empirical constant that represents the
cumulative extent to which the other electrons of an atom shield (or
screen) any particular electron from the nuclear charge. Thus, slater's
screening contantoisas: Z2* = Z — o

Here, Z is the atomic number of the atom, and hence is equal to the


https://dl.doubtnut.com/l/_nmLrnc2Mx5OK
https://dl.doubtnut.com/l/_0OCanCFERB30

actual number of protons in the atom. the parameter Z ™ is the effective
nuclear charge, which according to is smaller than Z, since the electron in
question is screened (shielded) from Z by an amount o. Conversely, an
electron that is well shielded from the nuclear charge Z experiences a
small effective nuclear charge Z*.

The value of o for any one electron in a given electron configuration (i.e.,
in the presence of the other electrons of the atom in question) is
calculated using a set of empirical rules developed by slater. according to
these rules, the value of o for the electron in question is the cumulative
total provided by the various other electrons of the atom.

Q. Which of the following statement is correct?

A.A 4s-orbital is filled earlier than a 3d-orbital because, Z* for

3d > Z* for 4s.

B.A 4s-orbital is filled earlier than a 3d-orbital because, Z* for

4s > Z* for 3d

C.The effective nuclear charge for 3d-and 4s-orbitals are same, but

energy of 3d-orbital becomes higher.


https://dl.doubtnut.com/l/_0OCanCFERB30

D. The effective nuclear charge for 3d and 4s-orbitals are same but,

energy of 4s-orbital becomes higher.

Answer: B

o Watch Video Solution

74. |.C. Slater proposed an empirical constant that represents the
cumulative extent to which the other electrons of an atom shield (or
screen) any particular electron from the nuclear charge. Thus, slater's
screening contantoisas: Z* = Z — o

Here, Z is the atomic number of the atom, and hence is equal to the
actual number of protons in the atom. the parameter Z ™ is the effective
nuclear charge, which according to is smaller than Z, since the electron in
question is screened (shielded) from Z by an amount o. Conversely, an
electron that is well shielded from the nuclear charge Z experiences a
small effective nuclear charge Z*.

The value of o for any one electron in a given electron configuration (i.e.,

in the presence of the other electrons of the atom in question) is


https://dl.doubtnut.com/l/_0OCanCFERB30
https://dl.doubtnut.com/l/_gTIuox2LkYxr

calculated using a set of empirical rules developed by slater. according to
these rules, the value of o for the electron in question is the cumulative
total provided by the various other electrons of the atom.
Q. According to Slater's rule, order of effective nuclear charge (Z*) for
last electron in case of Li, Na and K.

A.Li > Na > K

B.K > Na > Li

C.Na>Li > K

D. K = Na > Li

Answer: D

o Watch Video Solution

75. Metals have few electrons in their valence shell while non-metals
generally have more electrons in their valence shell. Metallic character is
closely related to atomic radius and ionisation enthalpy. Metallic

character increases from top to bottom in a group and decreases from


https://dl.doubtnut.com/l/_gTIuox2LkYxr
https://dl.doubtnut.com/l/_E8rarvYStXFK

let to right in a period of periodic table. metallic character is inversely

related to electronegativity of element.

Q. The electronegativity of the following elements increase in the order:

A.C,N,Si, P

B.N,Si,C,P

C.Si,P,C,N

D.P,SILN, C

Answer: C

o Watch Video Solution

76. Considering the elements B, Al, Mg and K, the correct order of their

metallic character is

AB>Al> Mg > K

B.Al > K > B > Mg

C.Mg > Al > K > B


https://dl.doubtnut.com/l/_E8rarvYStXFK
https://dl.doubtnut.com/l/_d3VXPjJAITvt

D.K > Mg > Al > B

Answer: D

o Watch Video Solution

77. Metals have few electrons in their valence shell while non-metals
generally have more electrons in their valence shell. Metallic character is
closely related to atomic radius and ionisation enthalpy. Metallic
character increases from top to bottom in a group and decreases from
let to right in a period of periodic table. metallic character is inversely
related to electronegativity of element.

Q.3 Ny /2 atoms of X(_g) by energy Es. hence, ionisation potential and

electron affinity of X, are: (Ny=Avogadro's number)

3N, 3N,
3N, 2N,
2N, ' 2N,
5 3B 2B

" 2N, 3N,


https://dl.doubtnut.com/l/_d3VXPjJAITvt
https://dl.doubtnut.com/l/_ihuUxJpXk7FL

Answer: B

o Watch Video Solution

78. The value of four quantum number for the last electron of atom of
element 'X' are n=7, I=1,m=+1 and s=+1/2 or -1/2 and vlaue of spin magnetic
momentum for element 'X' is zero element 'X' has two isotopes (I)
24X and () 2X.
Q. The incorrect statement regarding element 'X' is:

A. Element 'X' belongs to 18th group

B. Number of unpaired electrons in element 'X' is zero

C. Atomic number of element 'X' is 118

D. X' is representative element

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ihuUxJpXk7FL
https://dl.doubtnut.com/l/_VnLdQWStrvKu
https://dl.doubtnut.com/l/_iLQoWRCzwXCM

79. The value of four quantum number for the last electron of atom of
element 'X' are n=7, [=1,m=+1 and s=+1/2 or -1/2 and value of spin magnetic
momentum for element 'X' is zero element 'X' has two isotopes ()
2X and () 5X.
Q. The value of A and B respectively are:

A. 118 and 136

B. 218 and 236

C.236 and 254

D. 226 and 244

Answer: C

o Watch Video Solution

80. The value of four quantum number for the last electron of atom of
element 'X' are n=7, [=1,m=+1 and s=+1/2 or -1/2 and vlaue of spin magnetic

momentum for element 'X' is zero element 'X' has two isotopes (I)


https://dl.doubtnut.com/l/_iLQoWRCzwXCM
https://dl.doubtnut.com/l/_SaW7OQafiCm5

2X and () 5X.
Q. The possible value of all four quantum numbers for 90th electron of

atom of element 'X' is:

< 3

| V2
—_
~
[\

3

—1 +1/2

0 +1/2

3

U3 &3 3 o 3
W~ O = o~ N~
3
V)

—2 —1/2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_SaW7OQafiCm5

B

81.

There are nine elements A to I. these are belongs to p-block element
other than halogen. If atomic number of B is average of atomic number of
A and C and atomic number of E is average of atomic number of D and F
and atomic number of H is average of atomic number of G and I. atomic
numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of
C,land F are greater than A, G and D respectively.

Q. The incorrect order is:

A. F' > E: Second ionisation energy

B. B > C: Z.ss on valence shell


https://dl.doubtnut.com/l/_16MPFwopzweD

C.I > H:First ionisation energy

D.C > F > E, Electronegativity

Answer: C

o View Text Solution

B

82.
There are nine elements A to I. these are belongs to p-block element
other than halogen. If atomic number of B is average of atomic number of

A and C and atomic number of E is average of atomic number of D and F


https://dl.doubtnut.com/l/_16MPFwopzweD
https://dl.doubtnut.com/l/_uDaaBIH7W51D

and atomic number of H is average of atomic number of G and I. atomic
numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of
C,land F are greater than A, G and D respectively.
Q. The correct statement is:
A. 4+ 5 oxidation state of H is more stable than its +3 oxidation state.
B. G2 is better oxidisng agent than G* "

C. + 3 oxidation state of E is more stable than its +5 oxidation state

D. lonisation energy of G is greater than that of "Tin".

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_uDaaBIH7W51D

B

8.

There are nine elements A to I. these are belongs to p-block element
other than halogen. If atomic number of B is average of atomic number of
A and C and atomic number of E is average of atomic number of D and F
and atomic number of H is average of atomic number of G and I. atomic
numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of
C,land F are greater than A, G and D respectively.

Q. Which of the following statement is incorrect?

A. B5C} is acidic in nature

B. AC5 is acidic in nature


https://dl.doubtnut.com/l/_Me1MhCvSoq7X

C. F(C}5 is basic in nature

D. GC) is amphoteric in nature

Answer: C

o View Text Solution

84.If P, Q, R and S are elements of 3rd period of p-block in modern
periodic table,among these one element is metal and rest are non-metals
and their order of electronegativity is given as:

P<Q@Q<R<S

0.

o View Text Solution

85.If P, Q, R and S are elements of 3rd period of p-block in modern
periodic table, among these one element is metal and rest are non-metals

and their order of electronegativity is given as:


https://dl.doubtnut.com/l/_Me1MhCvSoq7X
https://dl.doubtnut.com/l/_cWdAokIA8cBT
https://dl.doubtnut.com/l/_W8yYl6q1ZJal

P<QQ<R<S

Which element is expected to form amphoteric oxide?

A. P

B.Q

C.R

D. S

Answer: A

o Watch Video Solution

86. If P, Q, R and S are elements of 3rd period of p-block in modern
periodic table, among these one element is metal and rest are non-metals
and their order of electronegativity is given as:

P<QQ<R<S

Q. Chloride compound of which element is hypovalent?

A.S


https://dl.doubtnut.com/l/_W8yYl6q1ZJal
https://dl.doubtnut.com/l/_Ivcmi0SIl7kz

B.Q

C.R

D.P

Answer: D

° Watch Video Solution

87. Consider the following representation based on long form of periodic

table.


https://dl.doubtnut.com/l/_Ivcmi0SIl7kz
https://dl.doubtnut.com/l/_OBokinfPpAte

Value of al four quantum number for last electron of element 'X' in their
ground state is

n=4l=1m=1and s = — 3 and spin mutiplicity of element 'X'
in their ground state is 4.

Q. Which of the following order is incorrect?

A. Magnetic moment U >V > A
B. Atomicradius: E > X > T

C.lonisation energy : R > X > B


https://dl.doubtnut.com/l/_OBokinfPpAte

D. Stability: F*T < E3T < X3+

Answer: D

o View Text Solution

88. Consider the following representation based on long form of periodic

table.

Value of al four quantum number for last electron of element 'X' in their


https://dl.doubtnut.com/l/_OBokinfPpAte
https://dl.doubtnut.com/l/_VjbIjNAgoJ9E

ground state is

1
n=4l=1,m=1and s = — 3 and spin mutiplicity of element 'X'

in their ground state is 4.

Q. The correct order is:
A. lonisation energy of Vgt ionisation energy of U
B. Electron affinity of X gt electron affinity of S
C. Electron affinity of X gt ionisation energy of D

D. |AHEG| of T' > ‘AHEg‘ of U

Answer: D

o View Text Solution

89. Consider the following representation based on long form of periodic

table.


https://dl.doubtnut.com/l/_VjbIjNAgoJ9E
https://dl.doubtnut.com/l/_6n1fto58KS2s

Value of al four quantum number for last electron of element 'X' in their

ground state is
n=4l=1m=1and s = — 3 and spin mutiplicity of element 'X'
in their ground state is 4.
Q. Which of the following statement is incorrect?
A. Element P is radioactive

B. Elements B and C have their almost similar size

C. Element G is more stable in +4 oxidation state


https://dl.doubtnut.com/l/_6n1fto58KS2s

1
D. Element G has electron with n=4, 1=3, m=0 and s = + — quantum

numbers.

Answer: C

o View Text Solution

90. Consider the following elements with their electronegativity value:

Element A B C D
Electronegativity (Pauling scale) 3.77 1.12 2.25 3.10

Q. Incorrect statements is:

A. AOH is more acidic than DOH
B. BOH is more basic than COH
C. AB' molecule is predominantly ionic

D. D-OH' bond is more weaker than 'B-OH' bond in polar solvent

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_6n1fto58KS2s
https://dl.doubtnut.com/l/_mmn6ECLq4OYR

91. Consider the following elements with their electronegativity value:

Element A B C D
Electronegativity (Pauling scale) 3.77 1.12 2.25 3.10

Q. Select correct statement:

A. Oxide of element D is more acidic than that of A
B. Oxides of elements C and D are basic in nature
C. Oxide of element B is acidic in nature

D. BOH is more basic than H,O

Answer: D

o View Text Solution

92. In the modern periodic table, elements are arranged in order of
increasing atomic numbers which is related to the electronic
configuration. Depending uponthe type of orbitals receiving the last

electron, the elements in the periodic table have been divided into four


https://dl.doubtnut.com/l/_mmn6ECLq4OYR
https://dl.doubtnut.com/l/_QG6nMAtEmrsJ
https://dl.doubtnut.com/l/_k066yn2QBQpl

blocks, viz, s,p,d, and f. the modern periodic table consists of 7 periods
and 18 groups. each period begins with the filling of a new energy shell. in
accordance with the aufbau principle, the seven periods (1 to 7) have
2,8,8,18,18,32 and 32 elements respectively. the seventh period is still
incomplete. to avoid the periodic table being too long, the two series of f-
block elements, called lanthanoids and actinoids are placed at the
bottom of the maini body of the periodic table.

Q. Which of the elements whose atomic numbers are given are given
below, cannot be accomodated in the present set up of the long form of

the periodic table?

A. 107

B. 118

C.126

D. 102

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_k066yn2QBQpl
https://dl.doubtnut.com/l/_vJzOTrg9fOfj

93. In the modern periodic table, elements are arranged in order of
increasing atomic numbers which is related to the electronic
configuration. Depending uponthe type of orbitals receiving the last
electron, the elements in the periodic table have been divided into four
blocks, viz, s,p,d, and f. the modern periodic table consists of 7 periods
and 18 groups. each period begins with the filling of a new energy shell. in
accordance with the aufbau principle, the seven periods (1 to 7) have
2,8,8,18,1832 and 32 elements respectively. the seventh period is still
incomplete. to avoid the periodic table being too long, the two series of f-
block elements, called lanthanoids and actinoids are placed at the
bottom of the maini body of the periodic table.

Q. The element with atomic number 57 belongs to:

A. s-block

B. p-block

C.d-block

D. f-block


https://dl.doubtnut.com/l/_vJzOTrg9fOfj

Answer: C

° View Text Solution

ONE OR MORE ANSWERS IN/ARE CORRECT

1. Assign the position of the element having outer electronic

configuration,
(A) ns2np2 (n=6)
(B) (n — 1)d*ns? (n=14)
@) (n—2)f"(n —1)d 'ns® (n=6)
Which of the following statement(s) is/are correct?
A. The element 'A' belong to 3rd period and 16th group.
B. The element 'B' belong to 4th period and 4th group
C.The element 'C' belong to 6th period and 3rd group and is

lanthanide element.

D. All A, B, C elements are metals


https://dl.doubtnut.com/l/_vJzOTrg9fOfj
https://dl.doubtnut.com/l/_PMi7IGdTYutj

Answer: B::C::D

o Watch Video Solution

2. Which of the following statement(s) regarding periodic properties

is/are incorrect?

A. Alkali metals have highest LE. in respective period.

B. Noble gas have highest LE. in respective period

C. First electron affinity of nitrogen is less than oxygen

D. F atom has smallest radius in periodic table

Answer: A::D

o Watch Video Solution

3. Which of the following properties among halogens decreases from

fluorine to iodine ?


https://dl.doubtnut.com/l/_PMi7IGdTYutj
https://dl.doubtnut.com/l/_mq9Fn7yzJs1I
https://dl.doubtnut.com/l/_bGVs3EYB0Nkx

A. Electronegativity

B. Bond energy

C. lonisation energy

D. Electron affinity

Answer: A::C

o Watch Video Solution

4.1n halogens, which of the following decreases from fluorine to iodine?

A.Bond length

B. Electronegativity

C.The ionization energy of the element

D. Oxidizing power

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_bGVs3EYB0Nkx
https://dl.doubtnut.com/l/_XjRULExteByV

5. Mark the correct statements out of the following:

A. He and the highest I. E; in the periodic table

B. Cl has the highest E.A. out of all the elements in the periodic table

C. Hg and Br are liquid at room temperature

D. In anyperiod, the atomic radius of the noble gas is lowest

Answer: A::B::C

o Watch Video Solution

6. S, T and U are the aqueous chlorides of the elements X, Y and Z
respectively. X, Y and Z are in the same period of the periodic table. U
gives a white precipitate with NaOH but this white precipitate dissolves
as more NaOH is added. When NaOH is added to T, a white precipitate

forms which does not dissolve when more base is added. S does not give


https://dl.doubtnut.com/l/_XjRULExteByV
https://dl.doubtnut.com/l/_QHnNdhn5DgId
https://dl.doubtnut.com/l/_izcDt7tHYUn0

precipitate with NaOH.

Which of the following statements are correct?

A. The three elements are metals

B. The electronegativity decreases fro X to Y to Z.

C.X,Y and Z could be sodium, magnesium and aluminium respectively

D. The first ionization increases fro X to Y to Z.

Answer: A::C

o View Text Solution

7. Which of the following statements concerning elements with atomic

number 10 is true?

A. it forms a covalent network solid

B. Element is monoatomic

C. It has a almost zero value of electron affinity


https://dl.doubtnut.com/l/_izcDt7tHYUn0
https://dl.doubtnut.com/l/_u13xTuk2PoxC

D. It has extremely high value of ionization energy

Answer: B::C::D

° Watch Video Solution

8. Which of the following pairs of elements have same number of

electrons in their outermost shell?

A. Mn, Fe

B. Na, Sr

C. As, Bi

D.Se, Te

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_u13xTuk2PoxC
https://dl.doubtnut.com/l/_l0Dfks6Og3mk

9.A change of Zn to Zn?" is a accompanied by a decrease in:

A. Number of valence electrons
B. atomic mass
C.number of shells

D. none of these

Answer: C

o Watch Video Solution

10. The elements which are radioactive and have been named after the

name of planet are

A. Hg

B.Np

C.Pu

D.Ra


https://dl.doubtnut.com/l/_R1LWS93QGnl3
https://dl.doubtnut.com/l/_fYS3KPe4udV1

Answer: B::C

o Watch Video Solution

11. The properties which are common to both groups 1and 17 elements in

the periodic table are:

A. electropositive character incrases down the groups

B. Reactivity decrases from top to bottom in these grous

C. atomic radii incrases as the atomic number increases

D. Electronegativity decreases on moving down a group

Answer: A::C::D

o Watch Video Solution

12. There are three elements A, B and C. their atomic number are Z;, Z,

Zy + Zy

and Zz respectively. If Z; — Z, = 2 and 5

= Z3 — 2 and the


https://dl.doubtnut.com/l/_fYS3KPe4udV1
https://dl.doubtnut.com/l/_5CGevS1Smeuh
https://dl.doubtnut.com/l/_yaSjux2xp1xh

electronic configuration of element A is [A7]3d%4s?, then correct order of
magnetic momentum is/are:

A Bt > AT > 0*F

B.A*Y > B*" > C

C.B>A>C*

D.B = A%t > C3*

Answer: A::B::C

o Watch Video Solution

13. Which of the following match is/are correct regarding B, Al, C and Si

elements?

A. The highest first ionisation ethalpy: C

B. The largest atomic size: Al

C. The most negative electron gain enthalpy: C


https://dl.doubtnut.com/l/_yaSjux2xp1xh
https://dl.doubtnut.com/l/_aLIiOZHEdeCG

D. The most metallic character: Al

Answer: A::B::C::D

o Watch Video Solution

14. Consider the value of all four quantum number for last electron and
spin multiplicity (2s+1) for givenn two element 'X' and 'Y' in their ground
state:
(n,,l,m,s,|2s+1|),(X:,2,0,0, +1/2,1),(Y:,2,1, — 1, —1/2,4)
The according to given information the correct statement is:
A.The bond angle (H — Y — H) of possible hydride of element Y is
less than 19028’
B. The possible halide of 'X' has two vacant p-orbitals on its central
atom.

C. Magnetic moment of Y is greater than X

D.X and Y element exhibits only single oxidation are


https://dl.doubtnut.com/l/_aLIiOZHEdeCG
https://dl.doubtnut.com/l/_qBL8skk6X0Uq

Answer: A::B::C

o Watch Video Solution

15. An element 'X' present in its ground state, the value of principal annd
azimuthal quantum number for last electron of element X' is n=3 and I=1
and spin multiplicity for given element is 4. then according to given
information correct statement(s) regarding givenn element 'X' is/are:
A. Element 'X' is 3rd period and 15th group element
B.In valence shell of element 'X' electron density is symmetrically
distributed

C. Element 'X' has full filled valence shell.

D. none of these

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_qBL8skk6X0Uq
https://dl.doubtnut.com/l/_HQDWJQGFpEkj
https://dl.doubtnut.com/l/_3rHF3tRRvxkW

16. Which of the following pairs have approximately the same atomic

radii?

A. Zr and Hf

B. Al and Mg

C.Al and Ga

D. Na and Ne

Answer: A::C

o Watch Video Solution

17. The correct order of radiii is/are:

A Pb > Pv*T > Pp*T
B.Int > Sn?t > SB¥® > Tet™
C.Co > Ni > Cu > Zn

D.KT > Li™ > Mg>™ > AB™


https://dl.doubtnut.com/l/_3rHF3tRRvxkW
https://dl.doubtnut.com/l/_WE84Gy6Lkj5C

Answer: A::B::D

° Watch Video Solution

18. The first ionisation energy of first atom is greater than that of second

atom, whereas reverse order is true for their second ionisation energy.

Which set of elements is in accordance to above statement?

A.CgtB

B. PgtS

C.BegtB

D. MggtNa

Answer: A::B::C::D

° Watch Video Solution

19. lonization energy of an element is:


https://dl.doubtnut.com/l/_WE84Gy6Lkj5C
https://dl.doubtnut.com/l/_8ZVlM0N9mlht
https://dl.doubtnut.com/l/_mhLuvY358Wm1

A.Equal in magnitude but opposite in sig to the electron gain

enthalpy of the cation of the element

B. Same as electron affinity of the element

C.Enegy required to remove one valence electron from an isolated

gseous atom in its ground state

D. Equal in magnitude but opposite in sign to t no gain enthalpy of

the anion of the element

Answer: A::C

o Watch Video Solution

20. Consider the following ionization steps :
M(g) - M*(g) + e, AH = 100eV
M(g) — M?*"(g) +2e~, AH = 250eV

Select correct statement(s) a)l.E.; of M(g) is 100eV b)


https://dl.doubtnut.com/l/_mhLuvY358Wm1
https://dl.doubtnut.com/l/_P3uHvcckYkpT

M*(g) = M?*"(g) + e, AH = 150eV o)I. E., of M(g) is 250eV d)

1. E.5 of M(g) is 14=150eV

A. I. E; of M(g) is 100 eV
B.I. E, of Mg ™ (g) is 150 eV
C.I. E; of M(g) is 250 eV

D. I. By of M(g) is 150 eV

Answer: A::B::D

o Watch Video Solution

21. Select the correct order of periodic properties of species :

A.Fe*t < Fe*™: lonic radii
B. N < O: Second ionisation energy
C.Cu < Zn: Atomic radius

D.In < Tl : First ionisation energy


https://dl.doubtnut.com/l/_P3uHvcckYkpT
https://dl.doubtnut.com/l/_XXGV6DcgloMW

Answer: B::C::D

° Watch Video Solution

22.Select the incorrect statement(s)/order (s):

A. d-orbital can accommodate 10 electrons

I.By ;g I.E
+ % 2+ % 3+ i i
B. Na Na™ —> Na*™ — Na’", order of successive LE. is
2522p%3s! 2522p6 2s%9p° 2522p*
I.E, <1 Ey, <1 Ej
C.Number of unpiared electrons in Co?* cationgt Number of

unpaired electrons in Co®* cation

D. First ionisation energy of Pt is greater than that of Pd

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XXGV6DcgloMW
https://dl.doubtnut.com/l/_Sz7dXuBlc7X0

23. Consider the following values of L.E.(eV) for elements W and X:

Element I.E, I.E, I.E; I E,
1% 105 155 24.9 79.8
X 8 148 78.9 105.8

Other two element Y and Z hav outer electronic configuration
ns*np? and ns’np’ respectively. then according to given information
which of the following compound(s) is/are not possible?

A W,Y3

B. X0 Y3

C.WZ,

D. X Z,

Answer: B::C

° Watch Video Solution

24, The sum of IFE; and IFE,, IE; and IE, for element P and Q are

given below:


https://dl.doubtnut.com/l/_8aceRcUUo1At
https://dl.doubtnut.com/l/_jbHEGDqoV26R

IE, + IE, IE, + IE,
(P) 2.45 8.82
(Q) 2.85 6.11

Then according to the given information the correct statement (s) is/are

A. P%T is more stable than Q* "
B. P2 is less stable than Q™
C. P** is more stable than Q**

D. P4* is less stable thanQ**

Answer: A::D

o Watch Video Solution

25. Consider the successive ionisation energy for an element 'A" .
IE,, IE,, IE;, IE,, IEs are 100 eV, 150 eV , 181eV , 2000 eV , 2200 eV .
Select correct statement (s) for element ‘A" : a)Element 'A' may be metal
b)Element ‘A" may from trivalent cation c)Oxide of element 'A' may be

amphoteric d)Element 'A' may be non-metal


https://dl.doubtnut.com/l/_jbHEGDqoV26R
https://dl.doubtnut.com/l/_3WT8ZmNnlxKi

A. Element 'A' may be metal

B. Element 'a' may form trivalent cation

C. Oxide of element 'A' may be amphoteric

D. Element 'A’ may be non-metal

Answer: A::B::C::D

o Watch Video Solution

26. According to Slater's rule , correct order of Z. on valence shell
electron is :

A.Fe > Fe*?t > Fe3 ™

B.N*" < O* < F~

C.Na® < Mg** < APBT

D.TI’PT < V3T < Mn®t

Answer: B::C::D



https://dl.doubtnut.com/l/_3WT8ZmNnlxKi
https://dl.doubtnut.com/l/_1HRv80bDSsM1

| ° Watch Video Solution

27.Which of the following order is/are correct?

A. Mg>" (size) > Li™ (size)
B.S(E. A) > O(E. A)
C.Hg(I.E.) > Cd(I. E)

D.P(I. E) > S(I. E)

Answer: B::C::D

° Watch Video Solution

28. Correct order of electron affinity is/are:

AS >0

B.Al > B

C.Mg > Na


https://dl.doubtnut.com/l/_1HRv80bDSsM1
https://dl.doubtnut.com/l/_UmL6Cn60uAhV
https://dl.doubtnut.com/l/_mnmH7lmdiC78

D.P>N

Answer: A::B::D

° Watch Video Solution

29. Which of the following statement(s) is/are correct?

A. van der waals' radius of iodine is more than its covalent radius

B. All isoelectronic ions of corresponding elements belong to the

same period of the periodic table.

C. IE. Of N-atom is higher than that of O-atom, while I E, of O-atom is

higher than that of N-atom.

D. The electron affinity of fluorine is greater than that of chlorine.

Answer: A::C

o Watch Video Solution



https://dl.doubtnut.com/l/_mnmH7lmdiC78
https://dl.doubtnut.com/l/_6G7JVQu7Xc4Y
https://dl.doubtnut.com/l/_wo0E4yo1Uk3R

30. Order of Electron affinity of the elements or ions shown correctly?

AS>0"

B.P >N~

CO >8

DN~ > P

Answer: A::B

o Watch Video Solution

31. Which of the following statement regarding halogens is/are correct?

A. lonization energy decreases with increase in atomic number

B. electronegativity decreases with increase in atomic number

C. Electron affinity decreases with increase in atomic number

D. Enthalpy of fusion increses with increase in atomic number


https://dl.doubtnut.com/l/_wo0E4yo1Uk3R
https://dl.doubtnut.com/l/_cuvqo1UcAPjR

Answer: A::B::D

o Watch Video Solution

32. Which of the following statements are correct?

A.F is the most electronegative and Cs is the most electropositive

element

B. The ionization energy of halogens decreses from F to |

C.The electron affinity of Cl is higher than that of F thorugh their

electronegativities are in the reverse order

D. The electron affinity of noble gases in almost zero

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_cuvqo1UcAPjR
https://dl.doubtnut.com/l/_KJ5blCqEf71t

33. Consider the order O~ < F' < Na™ < Mg*". Then correct
statement(s) is/are :

A.Increasing order of Z,;.

B. Increasaing order of size

C.Increasing order of LE

D. Increasing order of EA

Answer: A::C::D

o Watch Video Solution

34. Consider the following reaction:

() O(y) +e~ = O0,, AH,
(i) Frgy +e~ — F), AH,
(iii) Cl(y) +e~ — Ol ,), AH;
(MO, +e — O%;),Am

then according to given information the correct statement is/are:


https://dl.doubtnut.com/l/_Uo7OOPPfTUo4
https://dl.doubtnut.com/l/_TlRXBS5a4hLr

A. AHj is more negative than AH; and AH,
B. AH, is less negative than AH,
C.AH,, AH, and AHj are negative whereas AHj is positive

D. AH; and AHj; are negative whereas AH, and AH, positive

Answer: A::B::C

o Watch Video Solution

35. Which of the following is incorrect order of property as indicated ?

A Nat < F~ < 0% < Ne < Ar: Atomic size

B. Br < Se < As < Ge :Metallic character

C. Na < Al < 8i < Mg :lonisation energy

D.I < Br < Cl < F :Electron affinity

Answer: B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_TlRXBS5a4hLr
https://dl.doubtnut.com/l/_2hUD6c4DPeKn

36. Which of the following is/are correct order?

A. Atomicrdius F < O < F~ < O*~
B. 2nd ionisation energy C < N < F < O
C. Electron affinity: I < Br < F < Cl

D. Z, s (effective nuclear change): Al < AlT < AP < AT

Answer: A::B::C

° Watch Video Solution

37. Consider the following sequence of reaction:

AHg

If electronic configuration of element X is [Ne]3s', then which of the

following order is correct regarding given enthalpies?


https://dl.doubtnut.com/l/_2hUD6c4DPeKn
https://dl.doubtnut.com/l/_hIL7rHavlnqK
https://dl.doubtnut.com/l/_tovaWVx1T8hC

A |AH,| = |AH|
B.|AH,| > |AH,|
C.|AH,| > |AH;|

D.|AH, | = |AH,

Answer: A::B::D

o View Text Solution

38. The correct statement is/are:

A. Zirconium (Zr) and hafnium (Hf) have almost same size

B. Correct order of ionisation energy of coinage metals is CugtAg

< Au

C. Carbon atom in C'Cly is more electronegative than carbon atom in

CFy

D. Pb>* is more stable than Pb*+


https://dl.doubtnut.com/l/_tovaWVx1T8hC
https://dl.doubtnut.com/l/_L8AgwmiQPXqY

Answer: A::B::D

o Watch Video Solution

39. Which of the following statements is true about electronegativity?

A. Electronegativity of an element depends upon its effective nuclear

charge

B. Electronegativity of a cation is proportional to charge on the cation

C. Electronegativity increases as the s-character in hybrid orbital

increases

D. Electronegativity of a anion is proportiona to charge on the anion

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_L8AgwmiQPXqY
https://dl.doubtnut.com/l/_h6xkJJk8pMMA

40. Which of the following element have the similar value of
electronegativity?

A H

B.S

C.Te

D.P

Answer: A::C::D

o Watch Video Solution

41. Which of the following properties can be determined by using Born-
Haber cycle ?

A. Hydration energy of ion

B. Electron gain enthalpy

C. lattice enegy


https://dl.doubtnut.com/l/_Z03yhxOXigvJ
https://dl.doubtnut.com/l/_weA6WNM4FPdB

D. Electronegativity

Answer: A::D

o Watch Video Solution

42. Select correct order(s) of electronegativity of element is/are:

A. Paulling scale (E.N. of F-atom)gtMulliken scale (E.N. of F-atom)
B. Cl,07 (EN. of Cl-atom) > Cl505 (E.N. of C-atom)
C.CH, (EN. of C-atom) > CO, (E.N. of C-atom)

D.Cu?* (EN) > Cu™ (EN.)

Answer: A::B::D

o Watch Video Solution

43. Choose the correct statement(s):


https://dl.doubtnut.com/l/_weA6WNM4FPdB
https://dl.doubtnut.com/l/_2jqsYCDbTaeM
https://dl.doubtnut.com/l/_6Xb4Izq9xnnR

A. H " is the smalest size cation in the periodic table.

B. van der waals' radius of chlorine is more than covalent radius

C.ionic mobility of hydrated Li " is greater than that of hydrated
Na™.

D. He atom is having highest LE. in the periodic state

Answer: A::B::D

o Watch Video Solution

44, Select equation having endothermic step:

A5 (g) = S* (9)
B.Na™ (g) + Cl™ (g) — NaCl(s)
C.N(g) — N~ (9)

D. AI?T (g9) — APRT (9)

Answer: A::C::D



https://dl.doubtnut.com/l/_6Xb4Izq9xnnR
https://dl.doubtnut.com/l/_mmiax9ubYTOP

o Watch Video Solution

45. Consider the following Born-Haber's cycle:

3
2B+ 5 Xa(g) AH, B2X3)
w7
2B, 3Xg
il * e
3+ 2-
2B,y - X

(Where AH1, AH>, AH3s, AHy, AH5s and AHg are in kJ/mol)

Then according to given information the correct statement is/are:

A.AH; and AHj are always positive

3
B.AH; = 2AH> + 5AH3 + 2AH4 + 3AH; + AHg
C. Second electron gain enthalpy of X is negative

D. AH; must be negative for formationn of By X5(s)

Answer: A::B::D

o View Text Solution



https://dl.doubtnut.com/l/_mmiax9ubYTOP
https://dl.doubtnut.com/l/_WZ3kWipGYDyg

46. Which of the following oxides is/are amphoteric ?

A. NasO

B.CaO

C. Al,O;3

D. SnO2

Answer: C::D

o Watch Video Solution

47. Which of the following show amphoteric behaviour?

A Zn(OH),
B. Be(OH),

C. Al(OH),


https://dl.doubtnut.com/l/_WZ3kWipGYDyg
https://dl.doubtnut.com/l/_XnS7PCmYQUuU
https://dl.doubtnut.com/l/_Bc4OCyOXrBom

D. Pb(OH),

Answer: A::B::C::D

o Watch Video Solution

48. Assign the position of the element having outer electronic
configuration,
(A) ns2np2 (n=6)
(B) (n — 1)d*ns? (n=4)
() (n — 2)f(n — 1)d ~'ns® (n=6)
Which of the following statement(s) is/are correct?
A. The element 'A belong to 3rd period and 16th group.
B. The element 'B' belong to 4th period and 4th group
C.The element 'C' belong to 6th period and 3rd group and is

lanthanide element.

D. All A, B, C elements are metals


https://dl.doubtnut.com/l/_Bc4OCyOXrBom
https://dl.doubtnut.com/l/_7LCzVHa4SYTU

Answer: B::C::D

o Watch Video Solution

49. Which of the following statement(s) regarding periodic properties

is/are incorrect?

A. Alkali metals have highest LE. in respective period.

B. Noble gas have highest LE. in respective period

C. First electron affinity of nitrogen is less than oxygen

D. F atom has smallest radius in periodic table

Answer: A::D

o Watch Video Solution

50. Which of the following properties among halogens decreases from

fluorine to iodine ?


https://dl.doubtnut.com/l/_7LCzVHa4SYTU
https://dl.doubtnut.com/l/_GIJiNm98cSh3
https://dl.doubtnut.com/l/_c2OMlZeS5qTM

A. Electronegativity

B. Bond energy

C. lonisation energy

D. Electron affinity

Answer: A::C

o Watch Video Solution

51.In halogens, which of the following decreases from fluorine to iodine?

A.Bond length

B. Electronegativity

C.The ionization energy of the element

D. Oxidizing power

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_c2OMlZeS5qTM
https://dl.doubtnut.com/l/_Ur0Y2BaXXRKj

52. Mark the correct statements out of the following:

A. He and the highest I. E; in the periodic table

B. Cl has the highest E. A. out of all the elements in the periodic

table

C. Hg and Br are liquid at room temperature

D. In anyperiod, the atomic radius of the noble gas is lowest

Answer: A::B::C

o Watch Video Solution

53. S, T and U are the aqueous chlorides of the elements X, Y and Z
respectively. X, Y and Z are in the same period of the periodic table. U
gives a white precipitate with NaOH but this white precipitate dissolves
as more NaOH is added. When NaOH is added to T, a white precipitate

forms which does not dissolve when more base is added. S does not give


https://dl.doubtnut.com/l/_Ur0Y2BaXXRKj
https://dl.doubtnut.com/l/_Tqw1RwmVtjxt
https://dl.doubtnut.com/l/_HK9oHVYOQZfA

precipitate with NaOH.

Which of the following statements are correct?

A. The three elements are metals

B. The electronegativity decreases fro X to Y to Z.

C.X,Y and Z could be sodium, magnesium and aluminium respectively

D. The first ionization increases fro X to Y to Z.

Answer: A::C

o View Text Solution

54.The diagram below shows part of the skeleton of the periodic table ini
which elements are indicated by letters which are not their usual

symbols.


https://dl.doubtnut.com/l/_HK9oHVYOQZfA
https://dl.doubtnut.com/l/_dFlgxWDLnKff

Answer the following on the basis of modern periodic table:
(1) Alkali metal(s)

() an elements with the outer configuration of d8s?

(1) Lanthanoids

(IV) Elements with incomplete f-subshell

(V1) Halogen(s)

(VII) s-block element(s)

(VINI) transition element(s)

(IX) Noble gas (s)

(X) Non-transtion element(s)

° View Text Solution



https://dl.doubtnut.com/l/_dFlgxWDLnKff

55.The diagram below shows part of the skeleton of the periodic table in

which elements are indicated by letters which are not their usual

symbols.
il Q
HlL AT | R
J T
M

Answer the following on the basis of periodic table:

(1) element having greatest ionic character in its compound

(1) Metal cation which is coloured in its aqueous solution.

(1) Element(s) of which carbonate salt is/are water temperature.

(IV) which element is monoatomic gas at room temperature.

° View Text Solution



https://dl.doubtnut.com/l/_FkB4olTWd46d

56. Answer the following on the basis of modern periodic table.

LN

T

8

9

7 . 1; prall T‘;plv-‘—i ml’r

10 11 1

¥

(I) Group no. of elements with the valence shell ground state electron

configuration ns*np®

() Group no. of the elements with the valence shell ground state

electron configuratio ns’*np?

(111) Group no. of the elements that have only three unpaired p electron in

ground state

(V) ground 3A elements.

° View Text Solution



https://dl.doubtnut.com/l/_8Ct3oGUAvvSo

57. Which of the following statements concerning elements with atomic

number 10 is true?

A. it forms a covalent network solid

B. Element is monoatomic

C. It has a almost zero value of electron affinity

D. It has extremely high value of ionization energy

Answer: B::C::D

o Watch Video Solution

58. Which of the following pairs of elements have same number of

electrons in their outermost shell?

A. Mn, Fe

B. Na, Sr

C. As, Bi


https://dl.doubtnut.com/l/_HuoTsgyGfMAA
https://dl.doubtnut.com/l/_jF7bYIBKrH04

D. Se, Te

Answer: C::D

° View Text Solution

59. A change of Zn to Zn?" is a accompanied by a decrease in:

A. Number of valence electrons
B. atomic mass
C. Atomic number of element 'X' is 118

D. number of shells

Answer: A::D

o View Text Solution



https://dl.doubtnut.com/l/_jF7bYIBKrH04
https://dl.doubtnut.com/l/_JSJOuQbzOCe9

60. The elements which are radioactive and have been named after the

name of planet are

A.Hg

B. Np

C. Pu

D. Ra

Answer: B::C

o Watch Video Solution

61. The properties which are common to both groups 1and 17 elements in

the periodic table are:

A. electropositive character incrases down the groups

B. Reactivity decrases from top to bottom in these grous

C. atomic radii incrases as the atomic nhumber increases


https://dl.doubtnut.com/l/_AHNujyDP3Fy8
https://dl.doubtnut.com/l/_mZHUqTRGp0Q4

D. Electronegativity decreases on moving down a group

Answer: A::C::D

o Watch Video Solution

62. There are three elements A, B and C. their atomic number are Z;, Z;

7, + Zy

5 = Z3 — 2 and the

and Zj respectively. If Z; — Zy = 2 and
electronic configuration of element A is [A7]3d%4s?, then correct order of
magnetic momentum is/are:

A BT > A*" > C*F

B.A*t > B*" > C

C.B>A>C*

D.B = A%t > C¢3*

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_mZHUqTRGp0Q4
https://dl.doubtnut.com/l/_fAzSaF1kP7E4

63. Consider the following representation based on long form of periodic

table.

Here P, Q< R and S are up, right down the left elements with respect to

the central element 'X' respectively. According to above representation

the correct mathc is/are

A. X-Ge, P-Si, Q,As, R-Sn, S-Ga

B. X-Te, P-Se, Q-l, R-Po, S-Sb

C. X-Sb, P-As, Q-Te, R-Bi, S-Sn


https://dl.doubtnut.com/l/_CLrZsA8AriMH

D. X-IN, P-Ga, Q-Sn, R-Tl, S-Cd

Answer: A::B::C::D

° View Text Solution

64. Which of the following match is/are correct regarding B, Al, C and Si

elements?

A.The highest first ionisation ethalpy: C

B. The largest atomic size: Al

C. The most negative electron gain enthalpy: C

D. The most metallic character: Al

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_CLrZsA8AriMH
https://dl.doubtnut.com/l/_WPtdhx4QB91O

65. Consider the value of all four quantum number for last electron and
spin multiplicity (2s+1) for givenn two element 'X' and 'Y" in their ground

state:
(,n,,l,m,s,|2s +1|), (X:,2,0,0, +1/2,1),(Y:,2,1, — 1, —1/2,4)
The according to given information the correct statement is:
A.The bond angle (H — Y — H) of possible hydride of element Y is
less than 19028’
B. The possible halide of 'X' has two vacant p-orbitals on its central
atom.
C. Magnetic moment of Y is greater than X

D. X and Y element exhibits only single oxidation are

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_4nMVWk77Ceqi

66. An element 'X' present in its ground state, the value of principal annd

azimuthal quantum number for last electron of element 'X' is n=3 and |=1

and spin multiplicity for given element is 4. then according to given

information correct statement(s) regarding givenn element 'X' is/are:

A. Element 'X' is 3rd acid period and 15th group element

B.In valence shell of element 'X' electron density is symmetrically

distributed

C. Element 'X' has full filled valence shell.

D. none of these

Answer: A::B

o Watch Video Solution

67. Which of the following pairs have approximately the same atomic

radii?


https://dl.doubtnut.com/l/_InNXlwAzXrAj
https://dl.doubtnut.com/l/_VPPqEBnAcE0t

A. Zr and Hf

B. Al and Mg

C.Al and Ga

D. Na and Ne

Answer: A::C

o Watch Video Solution

68. The correct order of radiii is/are:

A.Pb> Pv’T > Pb*t
B.Int > Sn?t > SB®** > Te*™
C.Co> Ni>Cu>2Zn

D.KT > LiT > Mg*>™ > AB*

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_VPPqEBnAcE0t
https://dl.doubtnut.com/l/_ZSvICeAXnyOH

69. The first ionisation energy of first atom is greater than that of second
atom, whereas reverse order is true for their second ionisation energy.
Which set of elements is in accordance to above statement?

AC>B

B.P > S

C.Be > B

D. Mg > Na

Answer: A::B::C::D

° Watch Video Solution

70. lonization energy of an element is:

A.Equal in magnitude but opposite in sig to the electron gain

enthalpy of the cation of the element


https://dl.doubtnut.com/l/_ZSvICeAXnyOH
https://dl.doubtnut.com/l/_p1jtKhXQqhCn
https://dl.doubtnut.com/l/_boBl10TQhjtm

B. Same as electron affinity of the element

C.Enegy required to remove one valence electron from an isolated

gseous atom in its ground state

D. Equal in magnitude but opposite in sign to t no gain enthalpy of

the anion of the element

Answer: A::C

o Watch Video Solution

71. Consider the following ionization steps :

M(g) - M™(g9) + e, AH = 100eV

M(g) — M?*"(g) +2e~, AH = 250eV

Select correct statement(s) a)l.E.; of M(g) is 100eV b)
M™*(g) = M?*"(g) + e, AH = 150eV o)I. E., of M(g) is 250eV d)

1. E.5 of M(g) is 14=150eV

A. I. E; of M(g) is 100 eV


https://dl.doubtnut.com/l/_boBl10TQhjtm
https://dl.doubtnut.com/l/_OMEsXYoF6fY2

B.I. E; of Mg ™ (g) is 150 eV
C.I. E; of M(g) is 250 eV

D. I. E, of M(g) is 150 eV

Answer: A::B::D

° Watch Video Solution

72. Select the correct order of periodic properties of species :

A Fe?T < Fe3™:lonic radii

B. N < O: Second ionisation energy

C.Cu < Zn: Atomic radius

D.In < Tl : First ionisation energy

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_OMEsXYoF6fY2
https://dl.doubtnut.com/l/_pK6wXFjZlsjX
https://dl.doubtnut.com/l/_fvb5ytZN6PUh

73. Select the incorrect statement(s)/order (s):

A. d-orbital can accommodate 10 electrons

I.E,
1 1B oy 1By 3+ . .
B. Na Na™ —> Na*™ —3 Na°", order of successive LE. is

25%2p%3s! 2522p0 25%2p° 2522p*

I.LE,<I.E,< >1IE;

C.Number of unpiared electrons in Co?* cationgt Number of

unpaired electrons in Co®* cation

D. First ionisation energy of Pt is greater than that of Pd

Answer: A::B::C

o Watch Video Solution

74. Consider the following values of L.LE.(eV) for elements W and X:

Element I.Ey I.E, I.FEs5 1I.E4
w 10.5 15.5 24.9 79.8
X 8 14.8 78.9 105.8

Other two element Y and Z hav outer electronic configuration


https://dl.doubtnut.com/l/_fvb5ytZN6PUh
https://dl.doubtnut.com/l/_OhOByLk705R9

ns’np* and ns’np® respectively. then according to given information
which of the following compound(s) is/are not possible?

A WyY3

B. XoY3

C.WZ,

D. X Z,

Answer: B::C

o View Text Solution

75. The sum of IE; and IFE,, IE; and IFE, for element P and Q are

given below:

IE, + IE, IE;+ IE,
(P) 2.45 8.82
(Q) 2.85 6.11

Then according to the given information the correct statement (s) is/are

A. P27 is more stable than Q®


https://dl.doubtnut.com/l/_OhOByLk705R9
https://dl.doubtnut.com/l/_KVtd2bHrpfU4

B. P2 is less stable than O**
C. P** is more stable than Q**

D. P*" is less stable thann Q* "

Answer: A::D

o Watch Video Solution

76. Consider vlaue of all four quantum number of last electrons and
magnetic moment and valence electrons of elements W, X, Y and Z in their

ground state:

Element n [} m ] wm(}l) Valence electrons

w 3 0 o ) 0 2
2

X 301 41 % A 3

Y 3 1 -1 o 15 5
3 V15
1 |

z I J8 6

Then according to given information the correct statement (s) is/are:

A.I. E; of element W is greater than I. E; of element X

B. I. E; of element Y is greater than I. E; of element Z


https://dl.doubtnut.com/l/_KVtd2bHrpfU4
https://dl.doubtnut.com/l/_QMIs17p34Jcs

C.I. E, of element X is greater than I. E5 of element W

D. I. E, of element Z is greater than I. E5 of element Y

Answer: A::B::C::D

o View Text Solution

77. Consider the successive ionisation energy for an element 'A
IE,, IEy, I1E;, IE,, IE5 are 100 eV , 150 eV, 181eV , 2000 eV , 2200 eV .
Select correct statement (s) for element ‘A’ : a)Element 'A' may be metal
b)Element 'A' may from trivalent cation c)Oxide of element 'A' may be
amphoteric d)Element 'A' may be non-metal

A. Element 'A' may be metal

B. Element 'a’ may form trivalent cation

C. Oxide of element ‘A’ may be amphoteric

D. Element 'A' may be non-metal

Answer: A::B::C::D


https://dl.doubtnut.com/l/_QMIs17p34Jcs
https://dl.doubtnut.com/l/_Ro98K4G3ThCS

° Watch Video Solution

78. According to Slater's rule , correct order of Z, on valence shell
electron is :

A.Fe > Fe?t > Fe3*

B.N*" <O < F~

C.Na®™ < Mg*t < AB*

D.TI2H < V3T < Mnb™

Answer: B::C::D

o Watch Video Solution

79. Which of the following order is/are correct?

A. Mg** (size) > Li™" (size)

B.S(E. A) > O(E. A)


https://dl.doubtnut.com/l/_Ro98K4G3ThCS
https://dl.doubtnut.com/l/_c28MmIU38vUq
https://dl.doubtnut.com/l/_RYTGDiAvL7Js

C.Hy(I.E.) > Cd(I. E)

D.P(I. E) > S(I. E)

Answer: B::C::D

o Watch Video Solution

80. Correct order of electron affinity is/are:

AS >0

B.Al > B

C.Mg > Na

D.P>N

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_RYTGDiAvL7Js
https://dl.doubtnut.com/l/_hGZN44p1Prfj

81. Which of the following statement(s) is/are correct?

A. van der waals' radius of iodine is more than its covalent radius

B. All isoelectronic ions of corresponding elements belong to the

same period of the periodic table.

C. IE. Of N-atom is higher than that of O-atom, while I E, of O-atom is

higher than that of N-atom.

D. The electron affinity of fluorine is greater than that of chlorine.

Answer: A::C

o View Text Solution

82. Electron affinity of the elements or ions shown correctly?

AS>0"

B.P >N~


https://dl.doubtnut.com/l/_Mg1xRxGehBX1
https://dl.doubtnut.com/l/_mz5iB4fu9FSu

CO >8

DN~ >P

Answer: A::B

o View Text Solution

83. Which of the following statement regarding halogens is/are correct?

A. lonization energy decreases with increase in atomic number

B. electronegativity decreases with increase in atomic number

C. Electron affinity decreases with increase in atomic number

D. Enthalpy of fusion increses with increase in atomic number

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_mz5iB4fu9FSu
https://dl.doubtnut.com/l/_2MBgThhDII5C

84. Which of the following statements are correct?

A.F is the most electronegative and Cs is the most electropositive

element

B. The ionization energy of halogens decreses from F to |

C.The electron affinity of Cl is higher than that of F thorugh their

electronegativities are in the reverse order

D. The electron affinity of noble gases in almost zero

Answer: A::B::C::D

o View Text Solution

85. Consider the order O~ < F' < Na™ < Mg*". Then correct

statement(s) is/are :

A.Increasing order of Z,;.

B. Increasaing order of size


https://dl.doubtnut.com/l/_n8JEoM4w7RrG
https://dl.doubtnut.com/l/_Iruro8BHmHrW

C.Increasing order of L.E

D. Increasing order of EA

Answer: A::C::D

° Watch Video Solution

86. Consider the following reaction:

() O(g) +e~ = O,y, AH,
(i) Fg) + e~ — F( ), AH,
(iii) Cl(g) +e~ — Cl ), AH;
(VO ., +e = 0%;),AH4

then according to given information the correct statement is/are:

A. AHj; is more negative than AH; and AH,
B. AH, is less negative than AH,
C.AH;, AH, and AHj are negative whereas AHj, is positive

D. AH; and AHj; are negative whereas AH, and AH, positive


https://dl.doubtnut.com/l/_Iruro8BHmHrW
https://dl.doubtnut.com/l/_1X5fa83O1asM

Answer: A::B::C

° Watch Video Solution

87. Which of the following is incorrect order of property as indicated ?

A Nat < F~ < 0% < Ne < Ar: Atomic size

B. Br < Se < As < Ge :Metallic character

C. Na < Al < 8i < Mg :lonisation energy

D.I < Br < Cl < F :Electron affinity

Answer: B::C::D

° Watch Video Solution

88. Which of the following is/are correct order?

A Atomicrdius F < O < F~ < 0%~


https://dl.doubtnut.com/l/_1X5fa83O1asM
https://dl.doubtnut.com/l/_2UuKOgHcNj8u
https://dl.doubtnut.com/l/_Q1XOQqhFSldU

B. 2nd ionisation energyC < N < F < O
C. Electron affinity: I < Br < F < Cl

D. Z, ¢+ (effective nuclear change): Al < AlT < AP < AP

Answer: A::B::C

o Watch Video Solution

89. Consider the following sequence of reaction:

X—— < AH , X AH, )Xr-%- AH, )AXYZ+ AH )X3+

)

AH,

If electronic configuration of element X is [Ne]3s', then which of the
following order is incorrect regarding given enthalpies?

A |AHy| = [AHs|

B. |AH2| > |AH1|

C. |AH2| > |AH3|


https://dl.doubtnut.com/l/_Q1XOQqhFSldU
https://dl.doubtnut.com/l/_EI44SRwpjDk1

. |AH, | = | AH|

Answer: A::B::D

° Watch Video Solution

90. The correct statement is/are:

A. Zirconium (Zr) and hafnium (Hf) have almost same size

B. Correct order of ionisation energy of coinage metals is CugtAg

< Au

C. Carbon atom in C'Cly is more electronegative than carbon atom in

CFy

D. Pb>* is more stable than Pb*+

Answer: A::B::D

° View Text Solution



https://dl.doubtnut.com/l/_EI44SRwpjDk1
https://dl.doubtnut.com/l/_9TMhDZTse3Ls
https://dl.doubtnut.com/l/_IQXMR7Vyacto

91. Which of the following statements is true about electronegativity?

A. Electronegativity of an element depends upon its effective nuclear

charge
B. Electronegativity of a cation is proportional to charge on the cation

C. Electronegativity increases as the s-character in hybrid orbital

increases

D. Electronegativity of a anion is proportiona to charge on the anion

Answer: A::B::C

o Watch Video Solution

92. Which of the following element have the similar value of

electronegativity?

A H

B.S


https://dl.doubtnut.com/l/_IQXMR7Vyacto
https://dl.doubtnut.com/l/_m9NmUlxLAsyJ

C.Te

D.P

Answer: A::C::D

° Watch Video Solution

93. Which of the following parameters cannot be estimated by using

Born-Haber cycle?

A. Hydration energy of ion

B. Electron gain enthalpy

C. lattice enegy

D. Electronegativity

Answer: A::D

° View Text Solution



https://dl.doubtnut.com/l/_m9NmUlxLAsyJ
https://dl.doubtnut.com/l/_nO87Qkgv1KKE
https://dl.doubtnut.com/l/_rIIL7s1dcBI8

94. Select correct order(s) of electronegativity of element is/are:

A. Paulling scale (E.N. of F-atom)gtMulliken scale (E.N. of F-atom)
B. Cl,07 (EN. of Cl-atom) > Cl505 (E.N. of C-atom)
C.CH, (EN. of C-atom) > CO, (E.N. of C-atom)

D.Cu?" (EN) > Cu™ (EN)

Answer: A::D

o Watch Video Solution

95. Choose the correct statement(s):

A. H " is the smalest size cation in the periodic table.

B. van der waals' radius of chlorine is more than covalent radius

C.ionic mobility of hydrated Li™ is greater than that of hydrated
Na™.

D. He atom is having highest LE. in the periodic state


https://dl.doubtnut.com/l/_rIIL7s1dcBI8
https://dl.doubtnut.com/l/_0EGKz3FZwwrO

Answer: A::B::D

° Watch Video Solution

96. Select equation having endothermic step:

AS7(9) = S (9)
B.Na™ (g) + Cl™ (g) — NaCl(s)
C.N(g) = N~ (9)

D. A2 (9) — AP (g9)

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_0EGKz3FZwwrO
https://dl.doubtnut.com/l/_sdAgix0hFJhu

97. Consider the following Born-Haber's cycle:

3
2B+ 5 X2 AH, B2X3¢9)
AH21 ldHa
2By X
wi .
3+ 2-
2B, - 3Xg
.

(Where AH,, AHy, AH3s, AHy, AH5s and AHg are in kJ/mol)

Then according to given information the correct statement is/are:

A.AH; and AHj are always positive

3
B.AH; = 2AH> + 5AH3 + 2AH4 + 3AH; + AHg
C. Second electron gain enthalpy of X is negative

D. AH; must be negative for formationn of By X5(s)

Answer: A::B::D

o View Text Solution



https://dl.doubtnut.com/l/_bYxgVNYj3Jfu

98. Which of the following oxides is/are amphoteric ?

A. NGQO

B.CaO

C. Al,Oy

D. S’I’LOQ

Answer: C::D

o Watch Video Solution

99. Which of the following show amphoteric behaviour?

A. Zn(OH),
B. Be(OH),
C.Al(OH),

D. Pb(OH),


https://dl.doubtnut.com/l/_z8FpCgHgzcav
https://dl.doubtnut.com/l/_H1YQGXfO4wAB

Answer: A::B::C::D

o Watch Video Solution

MATCHTHE COLUMN

ents with at no.) .

(A) X (at. no. = 52)
[®) Y (at. no. = 57)
(C) Z (at. no. = 48)

1.

- .

(types of elements)
(P) Inner-transition element
(Q) Representative element
(R) Non-transition element
(8) d-block element

—

B 2

o Watch Video Solution

(P) s-block
(Q) p-block
(R) d-block
(S) fblock

o View Text Solution



https://dl.doubtnut.com/l/_H1YQGXfO4wAB
https://dl.doubtnut.com/l/_zCmI762pydae
https://dl.doubtnut.com/l/_cZNJBpgcQRHK

(A) Fullerene

(P) Actinoids
(B) Promethium (Q) Lewis base
(C) Water (R) Allotrope
(D) Lawrencium (8) Lanthanoids
3.
o Watch Video Solution

[ TSR

(A) [Xeldf'5d" "6y
(B) [Rn15f " 6d' 747
(C) Mel4f'*5d'%6s 6p" 75
(D) [Xg}l-f“_‘.d]ﬁjz

4.

(P) sblock element

{Q) Transition element

(R) d-block element

(5) Representative element

(T) Inner-transiton element

G

4

° Watch Video Solution

Colwmn-1

_Besnents (RElectrons in K, L, M, N...

(A) W(2.8.7}
(B) X(28.1838)
(C) ¥(28.14.2)

(D) Z(28,182582)

Column-I
_ Statements
(P} Paramagneric
{Q) 3rd group element

(R} Lasi electron does not enter to valence

shell
(8} Reactive non-metal
(T) Diamagnetic

° View Text Solution



https://dl.doubtnut.com/l/_MjTh5Ppw2eB4
https://dl.doubtnut.com/l/_cCqumPoqCOWT
https://dl.doubtnut.com/l/_FyajDnvITrSr

ASSERTION-REASON TYPE QUESTIONS

1. Assertion: In CsF, salt, size of Cs ™ is slightly higher than size of F ~.
Reason: C's ™ is largest monoatomic cation and F ~ is smallest anion.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C.If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: D

° Watch Video Solution

2. Assertion :- First electrons affinity fo all element is positive.

Reason :- Successive electron affinity of all elements is negative


https://dl.doubtnut.com/l/_Mcd0R1r7jN42
https://dl.doubtnut.com/l/_297r9XWhSbBS

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: D

° Watch Video Solution

3. Assertion: Helium has the highest value of ionisation energy among all
known elements.
Reason: Helium has the highest value of elelctron affinity among all

known elements.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_297r9XWhSbBS
https://dl.doubtnut.com/l/_rxusyDsVfCSP

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

o Watch Video Solution

4. Assertion: I~ ion has highest hydrated radius among the other halide

ions.

Reason: lonic radius of F'~ is smallest in the periodic table.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false


https://dl.doubtnut.com/l/_rxusyDsVfCSP
https://dl.doubtnut.com/l/_SFKbEe65oYXb

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution

5. Assertion: magnitude of electron gain enthalpy of oxygen is less than
that of fluorine but greater than that of nitrogen.
Reason: lonisation enthalpy order is as follows: N > O < E.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: B

[ - |


https://dl.doubtnut.com/l/_SFKbEe65oYXb
https://dl.doubtnut.com/l/_caNtX8D5ZQfQ

| @ Watch Video Solution J

6. Assertion: Formation of CI~ ion is exothermic wheres O?~ ion
formation is endothermic.
Reason: E A, of oxygen is endothermic and greater than its exothermic
E A, value of oxygen.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_caNtX8D5ZQfQ
https://dl.doubtnut.com/l/_yz9r3ahdBS1n

7. Assertion: The electron gain enthalpy of N is +ve while that of P is -ve.

Reason: Smaller atomic size of N is which there is a considerable electron-

electron repulsion and hence the additional electron is not accepted

easily.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Dn4Q5i3inC4a

8. Assertion: The formation of F(;) from F(g) is exothermic, whereas
that of 02( ;) omO ((g)) is endotherrmic.
Reason: The addition of second electron to a monovalent anion is difficult
because both have the same charge and experience more repulsion.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1CNBvFQEQjdt

9. Statement-1: Na™ and AI®" are isoelectronic but the magnitude of
ionic radius or AI® " is less than that of Na .
Statement-2: The magnitude of effective nuclear charge of the outer most
shell electrons in AI®" is greater than that of Na .
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gdAhwPCHp9S6

10. Assertion: The third period contains only 8 electrons and not 18 like
4th period.
Reason: In Il perriod filling starts from 3s' and complete at 3p® whereas
in IV period it starts from 4s' annd complete after 3d'® and 4s°.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bpDNQMjuocOB

11. Statement-l : C's and F combines violently to form C'sF.

Statement-Il : Cs is most electropositive and F is most electronegative.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

o Watch Video Solution

12. Statement-1: Second electron gain enthalpy of halogens is always
positive.

Statement-2: Fluorine has most negative electron gain enthalpy.


https://dl.doubtnut.com/l/_S3wJtbFwf9S5
https://dl.doubtnut.com/l/_fnZcrBNVqEmj

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

° Watch Video Solution

13. Assertion: F atom has less electron afffinity than Cl atom.
Reason: Additional electrons are repelled more strongly by 3p electrons
in Cl atom than by 2p electrons in F atom.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_fnZcrBNVqEmj
https://dl.doubtnut.com/l/_FtJ3sc9WZWvW

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

o Watch Video Solution

14. Assertion: Among the halogens bond energy of F; is minimum.

Reason: Among halogens F atom is small in size.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false


https://dl.doubtnut.com/l/_FtJ3sc9WZWvW
https://dl.doubtnut.com/l/_7Ej6szZO4ju9

D. if assertion is false but the reason is true

Answer: D

o Watch Video Solution

15. Assertion: The first ionization energy of Be is greater than that of B.

Reason: 2p-orbital is lower in energy than 2s-orbital.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7Ej6szZO4ju9
https://dl.doubtnut.com/l/_Qu0WzDjF2OQo

16. Assertion : Noble gases have highest ionisation enthalpies in their
respective periods.
Reason : Noble gases have stable closed shell electronic configuration.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution

17. Assertion: Helium and beryllium have similar outer electronic

configuration of the type ns.


https://dl.doubtnut.com/l/_Qu0WzDjF2OQo
https://dl.doubtnut.com/l/_vwZ4zpb6Irmq
https://dl.doubtnut.com/l/_RD1WomCMGsn4

Reason: Both are chemically inert.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

° Watch Video Solution

18. Assertion: The first ionisation enthalpy of aluminium is lower than that
of magnesium.

Reason : lonic radius of aluminium is smaller than that of magnesium.


https://dl.doubtnut.com/l/_RD1WomCMGsn4
https://dl.doubtnut.com/l/_AjGLxJn0EznE

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: B

° Watch Video Solution

19. Assertion: In CsF, salt, size of C's ™ is slight higher than size of F'~.

Reason: C's " is largest monoatomic cation and F ~ is smallest anion.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_AjGLxJn0EznE
https://dl.doubtnut.com/l/_LTbbomP6hmvw

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o View Text Solution

20. Assertion: First electron affinity of all elements is positive.

Reason: Successive electron affinity of all elements is negative.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false


https://dl.doubtnut.com/l/_LTbbomP6hmvw
https://dl.doubtnut.com/l/_gG4Y2uBdEPwk

D. if assertion is false but the reason is true

Answer: D

o View Text Solution

21. Assertion: helium atom has highest ionisation energy among all the
element.
Reason: helium is smallest atom among all the elements.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C.If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

[ - 1


https://dl.doubtnut.com/l/_gG4Y2uBdEPwk
https://dl.doubtnut.com/l/_ijqQpJabqrIh

| J View Text Solution J

22. Assertion: F'~ ion has highest hydrated radius among the other

halide ions.

Reason: lonic radius of F' ~ is smallest in the periodic table.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ijqQpJabqrIh
https://dl.doubtnut.com/l/_R1m0IDsJ6TjZ

23. Assertion: magnitude of electron gain enthalpy of oxygen is less than
that of fluorine but greater than that of nitrogen.
Reason: lonisation enthalpy order is as follows: 'N gt O It F.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: B

o Watch Video Solution

24. Assertion: Formation of Cl~ ion is exothermic wheres O?>~ ion

formation is endothermic.


https://dl.doubtnut.com/l/_KTrr3DcsJ4rz
https://dl.doubtnut.com/l/_aZq1dgZxAnQD

Reason: E A, of oxygen is endothermic and greater than its exothermic

E A, value of oxygen.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

° Watch Video Solution

25. Assertion: The electron gain enthalpy of N is +ve while that of P is -ve.
Reason: Smaller atomic size of N is which there is a considerable electron-
electron repulsion and hence the additional electron is not accepted

easily.


https://dl.doubtnut.com/l/_aZq1dgZxAnQD
https://dl.doubtnut.com/l/_cOyooeT763BZ

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

° Watch Video Solution

26. Assertion: The formation of F(_g) from F(g) is exothermic, whereas
that of 02( ;) omO ((g)) is endotherrmic.

Reason: The addition of second electron to a monovalent anion is difficult

because both have the same charge and experience more repulsion.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_cOyooeT763BZ
https://dl.doubtnut.com/l/_r8my1UhY3AKO

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution

27. Assertion: Na ™ and AT are isoelectronic but ionic radius AI® + is
less than that of Na6( + )
Reason: The magnitude of effective nuclear charge on the outershell
electrons in AI3™ is greater than that of Na .
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion


https://dl.doubtnut.com/l/_r8my1UhY3AKO
https://dl.doubtnut.com/l/_kEjcobttPD4P

C.If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

o View Text Solution

28. Assertion: The third period contains only 8 electrons and not 18 like
4th period.
Reason: In Il perriod filling starts from 3s' and complete at 3p® whereas
in IV period it starts from 4s' annd complete after 3d'° and 4s°.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true


https://dl.doubtnut.com/l/_kEjcobttPD4P
https://dl.doubtnut.com/l/_hFtVuUt30ltw

Answer: A

o View Text Solution

29. Assertion: Second E.A. for halogens is almost zero.

Reason: Fluorine has maximum value of electron affinity.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_hFtVuUt30ltw
https://dl.doubtnut.com/l/_VA9AqP7GL6ji
https://dl.doubtnut.com/l/_zRoNCDmko7eA

30. Assertion: F atom has less electron afffinity than Cl atom.
Reason: Additional electrons are repelled more strongly by 3p electrons
in Cl atom than by 2p electrons in F atom.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

° Watch Video Solution

31. Assertion: Among the halogens bond energy of F5 is minimum.

Reason: Among halogens F atom is small in size.


https://dl.doubtnut.com/l/_zRoNCDmko7eA
https://dl.doubtnut.com/l/_9SHO5rzW00C1

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: D

° Watch Video Solution

32. Assertion: The first ionisation energy of Be is greater than that of B.

Reason: 2p-orbital is lower in energy than 2s-orbital.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_9SHO5rzW00C1
https://dl.doubtnut.com/l/_jtg5I7FxOxpN

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

o Watch Video Solution

33. Assertion : Noble gases have highest ionisation enthalpies in their

respective periods.

Reason : Noble gases have stable closed shell electronic configuration.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false


https://dl.doubtnut.com/l/_jtg5I7FxOxpN
https://dl.doubtnut.com/l/_6hRvAxA6IPym

D. if assertion is false but the reason is true

Answer: A

o Watch Video Solution

34. Assertion: Helium and beryllium have similar outer electronic

configuration of the type ns>.

Reason: Both are chemically inert.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C.If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

[ - 1


https://dl.doubtnut.com/l/_6hRvAxA6IPym
https://dl.doubtnut.com/l/_Zf2lNYEsAcbJ

| @J Watch Video Solution J

35. Assertion: The first ionisation enthalpy of aluminium is lower than
that of magnesium.
Reason : lonic radius of aluminium is smaller than that of magnesium.
A. If both assertion and reason are true annd the reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: B

° Watch Video Solution

SUBJECTIVE PROBLEMS


https://dl.doubtnut.com/l/_Zf2lNYEsAcbJ
https://dl.doubtnut.com/l/_K1Za6N44OGsV

1. The number of electrons for Zn?" cation that have the value of

azimuthal quantum number = O is:

° Watch Video Solution

2. Calculate the electronegativity of silicon atom using Allred-rochow's
method. If covalent radius of silicon is 1.0 A. (rounded in nearest integer

value).

° Watch Video Solution

3. If heat of solution for AB(s) is —0.95 x 10% kcal/mol and lattice energy
for AB(s) is 700 kcal/mol and hydration energy for A" (g) is -1000

kcal/mol and B~ (g) is -650 kcal/mol then calculate value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_yVlPqDMSj6y4
https://dl.doubtnut.com/l/_WxCFNhhrmzLy
https://dl.doubtnut.com/l/_DHA4Olgb2Uyg

4. Consider the following Borh-Habber's cycle for formation of M X3(s).

(s + § 1y T8 o

+hﬂ(3(;}

150 200 4
kJ/mol |kJ/mol

Y y 1000
M(g) 3X(g) -

& kJ/mol

kJ/mol

v, v
M; 33X,

() (g)

%

Then calculate value %, here q; is electron affinity of X(g) in kJ/mol.

o View Text Solution

5. Calculate value of -U/100, for AB(s), from following data of Born-Haber's

cycle. [where U is lattice energy in kj/mol]


https://dl.doubtnut.com/l/_fMlUqwZPWeQB
https://dl.doubtnut.com/l/_C46gQsfkVkUw

s AT (g) + B(g) e A*(g) + B(E)

AMJ242 kJ/mol

A*(®) +4B,(3)
1LE{495 kJ/mol
A*(g) + %B,(p)

108 kJ/mol

A (S) + .&.32(33 ..............

AH, | -424 i1/'mal

'“"'“"u[i} SR

A.H‘{a 3484J/ mol

A*(g) + B (g)

° View Text Solution

6. Consider the following orders:

(i) HF > HCl > HBr > HI: Lewis basic character.

(i) CH, < CCly < CFy: Electornegativityy of central 'C'-atom.

(iliy Mg’ "™ < KT < 82~ < Se? :ionic radius

2 .
then calculate vlaue of | — y|°, where x and y are correct and incorrect

order respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_C46gQsfkVkUw
https://dl.doubtnut.com/l/_OHAUhMtwyiGn

7.Find out total number of representative elements in the given element:

Cd, Nb, Ta, Te, Ra, Mo, Po, Pd, Tc

° Watch Video Solution

8. An element 'X' has its electronic configuration of 'K' shell is (n — 5)s?
and it has total number of electrons in its outermost, penultimate and
antipenultimate shell are 2,8 and 25 respectively then find out total

number of unpaired electrons in element X' in their ground state.

° Watch Video Solution

9. if value of spin quantum number(s) = —1/2,0, +1/2 then
calculate number of groups in the new form of periodic table if all other

rules of electronic configurations are remain same.

° Watch Video Solution



https://dl.doubtnut.com/l/_OHAUhMtwyiGn
https://dl.doubtnut.com/l/_clPBxkMQ2qRF
https://dl.doubtnut.com/l/_1X9g1j0uLd4s
https://dl.doubtnut.com/l/_zwSlvO41Rsrp

10. How many pairs are, in which first species has lower ionisation enegy
than second species:

(i) Nand O

(ii) Brand K

(iii) Be and B

(iv)land I~

(V) Liand Li "

(vijand O and S

(vii) Ba and Sr.

° Watch Video Solution

11. Total number of element(s) which have only single oxidation state
(other than zero) in their corresponding stable compounds: Cs, Ba, F,

Zn,Be,Al, Sr,Ga, Pb.

° Watch Video Solution



https://dl.doubtnut.com/l/_lPoURubEF1fY
https://dl.doubtnut.com/l/_sP5dVmWPh8EV

12. The number of electrons for Zn?T cation that have the value of

azimuthal quantum number = O is:

° Watch Video Solution

13. Calculate the electronegativity of silicon atom using Allred-rochow's
method. If covalent radius of silicon is 1.0 A. (rounded in nearest integer

value).

° Watch Video Solution

14. If heat of solution for AB(s) is —0.95 x 10% kcal/mol and lattice energy
for AB(s) is 700 kcal/mol and hydration energy for A" (g) is -1000

kcal/mol and B~ (g) is -650 kcal/mol then calculate value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_l2N4krWXte83
https://dl.doubtnut.com/l/_ynV6BsCjNkKv
https://dl.doubtnut.com/l/_6kTuehhzDYqE

15. Consider the following Borh-Habber's cycle for formation of M X3(s).

(s + § 1y T8 o

+hﬂ(3(;}

150 200 4
kJ/mol |kJ/mol

Y y 1000
M(g) 3X(g) -

& kJ/mol

kJ/mol

v, v
M; 33X,

() (g)

%

Then calculate value %, here q; is electron affinity of X(g) in kJ/mol.

o View Text Solution

16. Calculate value of -U/100, for AB(s), from following data of Born-

Haber's cycle. [where U is lattice energy in kj/mol]


https://dl.doubtnut.com/l/_hkhDm4C9MAck
https://dl.doubtnut.com/l/_ecdtPBsrPOq9

s AT (g) + B(g) e A*(g) + B(E)

i t242 10/mel m_l.mwm
A*lgH-}B;(s) At(g) + B (g)

1LE{495 kJ/mol

A*(g) + %B,(p)

108 kJ/mol

A (S) + .&.32(33 ............................

AH, | 424 /mol

wenrenne AB(S) — - AB(s)

° View Text Solution

17. Consider the following orders:

(i) HF > HCl > HBr > HI: Lewis basic character.

(i) CH, < CCly < CFy: Electornegativityy of central 'C'-atom.

(iliy Mg’ "™ < KT < 82~ < Se? :ionic radius

then calculate vlaue of |z — y[z, where x and y are correct and incorrect

order respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_ecdtPBsrPOq9
https://dl.doubtnut.com/l/_EFR00mDxuaJE

18. Find out total number of representative elements in the given
element:

Cd, Nb, Ta, Te, Ra, Mo, Po, Pd, Tc

° Watch Video Solution

19. An element 'X' has its electronic configuration of 'K’ shell is (n — 5)s?
and it has total number of electrons in its outermost, penultimate and
antipenultimate shell are 2,8 and 25 respectively then find out total

number of unpaired electrons in element X' in their ground state.

° Watch Video Solution

20. if value of spin quantum number(s) = —1/2,0, +1/2 then
calculate number of groups in the new form of periodic table if all other

rules of electronic configurations are remain same.

° Watch Video Solution



https://dl.doubtnut.com/l/_EFR00mDxuaJE
https://dl.doubtnut.com/l/_ZrrO597yCfX4
https://dl.doubtnut.com/l/_rMfvWfP2XKFh
https://dl.doubtnut.com/l/_RBf0PXQWWXqF

21. How many pairs are, in which first species has lower ionisation enegy
than second species:

() Nand O

(ii) Br and K

(iii) Be and B

(iviland I~

(V) Liand Li "

(vi)and O and S

(vii) Ba and Sr.

° Watch Video Solution

22. Total number of element(s) which have only single oxidation state
(other than zero) in their corresponding stable compounds: Cs, Ba, F,

Zn,BeAl, Sr,Ga, Pb.

° Watch Video Solution



https://dl.doubtnut.com/l/_RBf0PXQWWXqF
https://dl.doubtnut.com/l/_UhUlbUryNomO
https://dl.doubtnut.com/l/_4toH5C2tvVtl

MATCH THE COLUMN

m F Sy SR
ents with at no.) - (types of elements)

(A) X (at. no. = 52) (P) Inner-transition element

[(®) Y (at. no. = 57) (Q) Representative element

(C) Z (at. no. = 48) (R) Non-transition element
1 J (S) d-block element

o View Text Solution

gMMdI.E. (P) F<O<S§ < Se

B) Increasing order of electron affinity Q) O=N<F=<Ne
{C) Increasing order of atomic size (R) Na < Mg < Al< Si
2 () 0*< 0 <0<0"

° View Text Solution

L columas T Cotumn-tt * 7T
(A)F>Cl>Br>1 (P) lonisation energy

(B) Fe¥ >Fe® >Fe (Q) Size

wr=m,r (R) Magnitude of AH

Do>C>B>N (5) Effective nuclear charge

3.

° View Text Solution



https://dl.doubtnut.com/l/_pFUBdrTEivNY
https://dl.doubtnut.com/l/_2pG5iw5rZQdK
https://dl.doubtnut.com/l/_4waubonNN711

MENORSGESI DR conamiil

(IE), (1E),

(A) 2372 5251 (P) More reactive metal

® 520 7300 (Q} Reactive non-metal

© 900 1760 (R) Noble gas

h 1680 3380 (8) Metal forms a stable binary halide of the

formula AX 2

(T) Exhibit+2 electrovalency
4.

° View Text Solution

(A} 105 (P) Uun

(B) 107 {Q) Uns
c) 109 (R) Unp
5. D) 110 (S) Une

y p ! e

(P) s-block
(Q) p-block
(R) d-block
(8) f-block

o View Text Solution



https://dl.doubtnut.com/l/_4waubonNN711
https://dl.doubtnut.com/l/_jClT5VJLzWvu
https://dl.doubtnut.com/l/_6k5Xs3EjcmCu
https://dl.doubtnut.com/l/_ljy5pGdrxwJJ

- T ColiRe 1 I p
(type of ' electronic configuration)
(A) Inert gas elemenis P ns' Fronsinp”
(B) Representative elements Q) 15* and ns*np®
(C) Transinon elements Ry (n-2) " "in-1pad" ™ st
7 (D) Inner transition elements (8) (n=1pd" "Wopgle?

o View Text Solution

e

(P> Maximum ionization energy

(B) €l (Q) Maximum electronegativiry
.‘l Fe {R) Maximum electron affinity
8 (D) He (8) Variable oxidation state
° View Text Solution

o oo colamet i R BINE  coumanm

=

(A) Fullerene (P) Actinoids
(B) Promethium (Q) Lewis base
(C) Water (R) Allotrope
(D) Lawrencium (8) Lanthanoids

9.

° View Text Solution



https://dl.doubtnut.com/l/_ljy5pGdrxwJJ
https://dl.doubtnut.com/l/_5u7R3u6oJRiD
https://dl.doubtnut.com/l/_SBY0dXflBEZ8
https://dl.doubtnut.com/l/_SYH7IdqDem7A

(A) 1s% 25%2p® 3:%3p! (P) Largest (L.E.},
B) 1:° 2s72p" 3573p" (Q) Largest(LE.),
(C) 15 25%2p° 3s%3p* 4s' (R) Largest{LE.),
D) 1s* 2572p° 35 3p" ($) Lowest (LE.),
10. (T) Largest(L.E.);

o View Text Solution

' m e Mdjﬂ* E

(A} [Xela 7" 5d" 65" (PJ +block element

(B) [Rnl5f'"6d' 737 tQ) Transition element

(C) [Xel4f ' 5d " 65 6p° 75* (R) d-block element

(D) [Xel4 f'*5d 65" (S) Representative element
1. (T) Inner-transiton element

o View Text Solution

Column-1 Column-1
_Besnents (Electrons in K, [ M, N...; ) Statements
(A) W(2B.7) (P} Paramagneric
(B) X(28.1838) (Q) 3rd group element
(C) Y(2B142) (R} Lasi electron does not enter to valence
shell
(D) 2(28,182582) (8} Reactive non-metal
12 (T) Diamagnetic

° View Text Solution



https://dl.doubtnut.com/l/_rncZE1rR0foF
https://dl.doubtnut.com/l/_5dkbkdHanq8n
https://dl.doubtnut.com/l/_eQFYub7KFSua

Column-1
{Outer electronic configuratisn of
element in ground stavs)

(A) (n - 1 ns’
(B) (n - Dd'ns’
(C) nsnp’

M (n-22f'in - Dd'ns’

13.

Column-0
' @h wructeristics/period and group

o+ mber in long from of periodic
tabile)

{P) Highest spin magnen: moment
Q) 6th period clemem

P} Perwod number and group number are
sAme

8} Perind number is double than group
number

) Symmetrical distribunion of electron

o View Text Solution



https://dl.doubtnut.com/l/_eQFYub7KFSua
https://dl.doubtnut.com/l/_1dhju1IfpM4i

